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ResoNET  
Resonance National Entrance Test  

How to prepare for ResoNET 
 

 

Class Appearing students  How to prepare : 

XI 
Class-X to Class-XI 

Moving 
Study thoroughly the books of Science (Physics , Chemistry, Biology) and 
Biology of Classes IX & X. (NCERT & Respective Board) 

XII 
Class-XI to Class-XII 

Moving 

Study thoroughly the books of Physics, Chemistry and Biology of Class XI 
(Respective Board). 
Refer to the following books (only Class-XI syllabus) to increase the level of 
competence: 

• For Physics :  
Concepts of Physics by H.C. Verma Vol. I & II, NCERT Books 

• For Chemistry :  
NCERT Books  

• For Biology :  
NCERT Books 

XII / XIII 
Class-XII to Class-

XIII Moving 

Study thoroughly the books of Physics, Chemistry and Biology of Classes XI & 
XII (Respective Board). 
Refer to the following books (Class-XI & Class-XII syllabus) to increase the 
level of competence: 

• For Physics:  
Concepts of Physics by H.C. Verma Vol-I & II 

• For Chemistry:  
Physical Chemistry By R.K. Gupta, Organic Chemistry By Morrison & Boyd, 
Organic Chemistry By I. L. Finar, Inorganic Chemistry By J.D. Lee, Objective 
Chemistry By Dr. P. Bahadur 

 

• For Biology:  
NCERT Books, Trumen’s Elementary Biology, USS Biology  
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GUIDELINES AND INSTRUCTIONS FOR ENTRANCE TEST 

FOR ONLINE EXAMINATION 

In Online Examination system; Test will be conducted in fully computerized, user friendly mode with advanced 

security features making it fair, transparent and standardized. 

Information & Instructions: 

1. The examination does not require using any paper, pen, pencil and calculator. 

2. Every student will take the examination on a Laptop/Desktop/Smart Phone. 

3. If you are using your personal laptop/Desktop, please make sure that you have installed the necessary 

software and programs & having proper internet connection before the examination day.  It is important that 

your laptop/desktop/Smartphone-Mobile fulfils the system requirements of the programme. 

4. You must bring your own power supply for use during the examination. 

5. If failure to comply with these recommendations results in technical problems that cause a delay in your 

examination, you cannot expect to be granted extended time. 

6. Kindly remember your Resonance Application Form No. as a Roll No. 

7. You are not permitted to leave the Venue/any movement from Laptop/Desktop/Mobile screen during 

examination. 

8. The students just need to click on the Right Choice / Correct option from the multiple choices /options given 

with each question. For Multiple Choice Questions, each question has four options, and the candidate has to click 

the appropriate option. 

FOR OFFLINE EXAMINATION 

1. This booklet is your Question Paper. ¼;g iqfLrdk vkidk iz'u&i=k gS½ 

2. The Question Paper Code is printed on the top right corner of this sheet. ¼iz'u&i=k dksM bl i`"B ds Åij 

nk;sa dksus esa Nik gqvk gS½  

3. Blank papers, clip boards, log tables, slide rule, calculators, mobile or any other electronic gadgets in any 

form are not allowed to be used. ¼[kkyh dkxt] fDyi cksMZ] y?kqx.kd lkj.kh] LykbM :y] dSYdqysVj] eksckby ;k 

vU; fdlh bySDVªWkfud midj.k ds fdlh Hkh :i esa mi;ksx dh vkKk ugha gS½  

4. Write your Name & Application Form Number in the space provided in the bottom of this booklet. (bl 

i`"B ds uhps fn;s x;s fjDr LFkku esa viuk uke o vkosnu QkWeZ la[;k vo'; Hkjsa½ 

5. Before answering the paper, fill up the required details in the blank space provided in the Objective 

Response Sheet. (iz'u-i=k gy djus ls igys]ORS-'khV esa fn;s x;s fjDr LFkkuksa esa iwNs x;s fooj.kksa dks Hkjsa½ 

6. Do not forget to mention your paper code and Application Form Number neatly and clearly in the blank 

space provided in the Objective Response Sheet (ORS) / Answer Sheet. ¼mÙkj&iqfLrdk esa fn;s x;s fjDr 

LFkku esa vius iz'u&i=k dk dksM o viuk vkosnu QkWeZ la[;k Li"V :i ls Hkjuk uk Hkwysa½ 

7. No rough sheets will be provided by the invigilators. All the rough work is to be done in the blank space provided 

in the question paper.  ¼fujh{kd ds }kjk dksbZ jQ 'khV ugha nh tk;sxhA jQ dk;Z iz'u&i=k esa fn;s x;s [kkyh LFkku esa gh 

djuk gS½  

8. No query related to question paper of any type is to be put to the invigilator.  

 ¼fujh{kd ls iz'u&i=k ls lEcfU/kr fdlh izdkj dk dksbZ iz'u uk djsas½   
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RESONET QUESTION PAPER STRUCTURE (ç’'u&i=k dk izk:i) 
 

For Class X to XI Moving Student 
 

S.No. Part Subject Type of Question 
No. of  

Questions 

Marking Scheme 

Full Marks 
per Qs. 

Negative 
Marking 

Total 

1 to 30 I Biology 
Single Choice Questions (Only One Correct 
Option)   (dsoy ,d fodYi lgh) 

30 4 0 120 

31 to 45 II Maths 
Single Choice Questions (Only One Correct 
Option)   (dsoy ,d fodYi lgh) 

15 4 
0 

60 

46 to 60 III Physics 
Single Choice Questions (Only One Correct 
Option)   (dsoy ,d fodYi lgh) 

15 4 
0 

60 

61 to 75 IV Chemistry 
Single Choice Questions (Only One Correct 
Option)   (dsoy ,d fodYi lgh) 

15 4 
0 

60 

Total 75  300 

 
 

For Class XI to XII Moving Student 
 

S.No. Part Subject Type of Question 
No. of  

Questions 

Marking Scheme 

Full Marks 
per Qs. 

Negative 
Marking 

Total 

1 to 25 I Chemistry 
Single Choice Questions (Only One Correct 
Option)   (dsoy ,d fodYi lgh) 

25 4 
0 

100 

26 to 50 III Physics 
Single Choice Questions (Only One Correct 
Option)   (dsoy ,d fodYi lgh) 

25 4 
0 

100 

51 to 85 IV Botany 
Single Choice Questions (Only One Correct 
Option)   (dsoy ,d fodYi lgh) 

25 4 
0 

100 

86 to 100 V Zoology 
Single Choice Questions (Only One Correct 
Option)   (dsoy ,d fodYi lgh) 

25 4 
0 

100 

Total 100  400 

 

 

For Class XII Appeared/Passed 
 
 

S.No. Part Subject Type of Question 
No. of  

Questions 

Marking Scheme 

Full Marks 
per Qs. 

Negative 
Marking 

Total 

1 to 25 I Chemistry 
Single Choice Questions (Only One Correct 
Option)   (dsoy ,d fodYi lgh) 

25 4 
0 

100 

26 to 50 II Physics 
Single Choice Questions (Only One Correct 
Option)   (dsoy ,d fodYi lgh) 

25 4 
0 

100 

51 to 85 III Botany 
Single Choice Questions (Only One Correct 
Option)   (dsoy ,d fodYi lgh) 

25 4 
0 

100 

86 to 100 IV Zoology 
Single Choice Questions (Only One Correct 
Option)   (dsoy ,d fodYi lgh) 

25 4 
0 

100 

Total 100  400 
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RESONET SYLLABUS  
 

FOR CLASS X TO XI MOVING STUDENT 

SUBJECT 
SYLLABUS 

FROM CLASS 
TOPIC 

BIOLOGY IX 
The fundamental unit of life (cell), Tissue, Improvement in food 
resources,, Diseases(why do we fall ill). 

MATHEMATICS IX 

Number System, Polynomials, Coordinate Geometry, Linear Equation 
in two variables Introduction to euclid’s geometry,  Lines and Angles, 
Triangles, Quadrilaterals, Circles, Heron’s Formula, Surface Area and 
Volume,  Statistics. 

PHYSICS IX 
Motion, Force and Newton’s Laws, Gravitation, Fluid, Work, Energy 
and Power, Wave Motion and Sound. 

CHEMISTRY IX 
Matter in our Surroundings, Is Matter Around us Pure, Atoms and 
Molecules, Structure of Atom. 

MENTAL ABILITY IX 
Number-Series, Alphabet-Series, Missing Term in Figures, Coding-
Decoding, Direction, Sense Test, Seating Arrangement, Puzzle Test, 
Syllogism, Calendar Test, Dice Test. 

FOR CLASS XI TO XII MOVING STUDENT 

SUBJECT 
SYLLABUS 

FROM CLASS TOPIC 

CHEMISTRY X 
Chemical reactions and equations, Acids, bases and salts, Metals and 
non-metals, Carbon and its compounds. 

PHYSICS X Light, Electricity, Magnetic effect of current and EMI. 

BIOLOGY 
(Botany & Zoology) 

X 
Nutrition in plants , Respiration in plants & animals, excretion in plants 
& animals, animals, Genetics (heredity & variation), Ecology, 
Reproduction in plants & animals. 
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ResoNET SYLLABUS  
 

FOR CLASS XII APPEARED/PASSED 

SUBJECT: CHEMISTRY 
Syllabus 
From Class 

Topic Sub-topic 

X Basic 
Cooling by evaporation. Absorption of heat. All things accupy space, 
possess mass. Definition of matter; Elementary idea about bonding. 

X 
Solid, liquid and 
gas 

Characteristics-shape, volume, density; change of state - melting, 
freezing, evaporation, condensation, sublimation. 

X 
Elements, 
compounds and 
mixtures 

Heterogeneous and homogeneous mixtures; Colloids and suspension. 

X Mole concept 

Equivalence - that x grams of A is chemically not equal to x grams of B; 
Partical nature, basic units: atoms and molecules; Law of constant 
proportions; Atomic and molecular masses; Relationship of mole to mass 
of the particles and numbers; Valency; Chemical formulae of common 
compounds. 

X Atomic structure 
Atoms are made up of smaller particles: electrons, protons, and neutrons. 
These smaller particles are present in all the atoms but their numbers vary 
in different atoms. Isotopes and isobars. 

X 
Gradations in 
properties  

Mendeleev periodic table 

X 
Acids, bases and 
salts 

General properties, examples and uses. 

X 
Types of chemical 
reactions 

Combination, decomposition, displacement, double displacement, 
precipitation, neutralisation, oxidation and reduction in terms of gain and 
loss of oxygen and hydrogen. 

X 
Extractive 
metallurgy 

Properties of common metals ; Brief discussion of basic metallurgical 
processes 

X 
Compounds of 
Carbon 

Carbon compounds; Elementary idea about bonding; Saturated 
hydrocarbons, alcohols, carboxylic acids (no preparation, only 
properties). Soap - cleansing action of soap. 

XI 
Some Basic 
Concepts of 
Chemistry 

Particulate nature of matter, laws of chemical combination, Dalton’s 
atomic theory: concept of elements, atoms and molecules. Atomic and 
molecular masses. Mole concept and molar mass; percentage 
composition and empirical and molecular formula; chemical reactions, 
stoichiometry and calculations based on stoichiometry. 

XI Structure of Atom 

Discovery of electron, proton and neutron; atomic number, isotopes and 
isobars. Thompson’s model and its limitations, Rutherford’s model and 
its limitations, concept of shells and sub-shells, dual nature of matter 
and light, de Broglie’s relationship, Heisenberg uncertainty principle, 
concept of orbitals, quantum numbers, shapes of s, p, and d orbitals, 
rules for filling electrons in orbitals - Aufbau principle, Pauli exclusion 
principle and Hund’s rule, electronic configuration of atoms, stability of 
half filled and completely filleld orbitals. 

mailto:contact@resonance.ac.in
http://www.resonance.ac.in/reso/results/jee-main-2014.aspx


 SAMPLE TEST PAPER (STP)  
 

 

 

Reg. & Corp. Office :  CG Tower, A-46 & 52, IPIA, Near City Mall, Jhalawar Road, Kota (Raj.)-324005 
 

Website : www.resonance.ac.in | E-mail : contact@resonance.ac.in 
STPPH125 |  PAGE # 7 

Toll Free : 1800 258 5555 | CIN: U80302RJ2007PLC024029 
 

 

Syllabus 
From Class 

Topic Sub-topic 

XI 

Classification of 
Elements and 
Periodicity in 
Properties 

Significance of classification, brief history of the development of periodic 
table, trends in properties of elements - atomic radii, ionic radii, inert gas 
radii, ionization enthalpy, electron gain enthalpy, electronegativity, 
valence. 

XI 
Chemical Bonding 
and Molecular 
Structure  

Valence electrons, ionic bond, covalent bond, bond parameters, Lewis 
structure, polar character of covalent bond, covalent character of ionic 
bond, valence bond theory, resonance, geometry of covalent molecules, 
VSEPR theory, concept of hybridization involving s, p and d orbitals and 
shapes of some simple molecules, molecular orbital theory of 
homonuclear diatomic molecules (qualitative idea only), hydrogen bond. 

XI Thermodynamics 

Concepts of system, types of systems, surroundings, work, heat, energy, 
extensive and intensive properties, state functions. First law of 
thermodynamics - internal energy and enthalpy, heat capacity and 
specific heat, measurement of DU and DH, Hess’s law of constant heat 
summation, enthalpy of bond dissociation, combustion, formation, 
atomization sublimation, phase transition, ionization, and dilution. 
Introduction of entropy as a state function, free energy change for 
spontaneous and non-spontaneous process, equilibrium. 

XI Equilibrium 

Equilibrium in physical and chemical processes,  dynamic nature of 
equilibrium, law of mass action, equilibrium constant, factors affecting 
equilibrium Le-Chatelier’s principle; ionic equilibrium - ionization of acids 
and bases, strong and weak electrolytes, degree of ionization concept of 
pH. Hydrolysis of Salts (elementary idea), buffer solutions, solubility 
product, common ion effect (with illustrative examples). 

XI Redox Reactions 
Concept of oxidation and reduction, redox reactions, oxidation number, 
balancing redox reactions, applications of redox reaction. 

XI 
General 
Introduction to p-
Block Elements  

Group 13 elements: General introduction, electronic configuration, 
occurrence, variation of properties, oxidation states, trends in chemical 
reactivity, anomalous properties of first element of the group;  
Boron - physical and chemical properties,. Group 14 elements: General 
introduction, electronic configuration, occurrence, variation of 
properties, oxidation states, trends in chemical reactivity, anomalous 
behaviour of first element. Carbon- catenation, allotropic forms, physical 
and chemical propeties; uses of some important compounds: oxides.  

XI 
Principles of 
qualitative 
analysis  

Determinantion of one anion and one cation in a given salt 
Cations - Pb2 + , Cu2+, As3+, Al3+, Fe3+, Mn2+, Ni2+, Zn2+, Co2+, Ca2+, Sr2+, Ba2+, 
Mg2+,  Anions - (Note : Insoluble salts excluded) 
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Syllabus 
From Class 

Topic Sub-topic 

XI 

Organic chemistry - 
Some Basic 
Principles and 
Techniques  

General introduction, methods of purification, qualitative and 

quantitative analysis, classification and IUPAC nomenclature of organic 

compounds. Electronic displacements in a covalent bond : free radicals, 

carbocations, carbanions; electrophiles and nucleophiles, types of 

organic reactions 

XI 
Classification of 
Hydrocarbons 

Alkanes : Nomenclature, isomerism, conformations (ethane only), 

physical propeties,  chemical reactions including free radical mechanism 

of halogenation, combustion and pyrolysis 

XI Alkenes 

Nomenclature, structure of triple bond (ethyne), physical properties, 

methods of preparation, chemical reactions: acidic character of alkynes, 

addition reaction of - hydrogen, halogens, hydrogen halides and water 

XI 
Aromatic 
hydrocarbons 

Introduction, IUPAC nomenclature; Benzene: resonance, aromaticity; 

chemical properties: mechanism of electrophilic substitution - nitration 

sulphonation, halogenation, Friedel Craft’s alkylation and acylation; 

directive influence of functional group in mono-substituted benzene; 

carcinogenicity and toxicity. 

XII 
Physical Chemistry: 
General topics 

Concept of atoms and molecules; Dalton’s atomic theory; Mole concept; 

Chemical formulae; Balanced chemical equations; Calculations (based 

on mole concept) involving common oxidation-reduction, 

neutralisation, and displacement reactions; Concentration in terms of 

mole fraction, molarity, molality and normality. 
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Syllabus 
From Class 

Topic Sub-topic 

XII 
Atomic structure and 
chemical bonding  

Bohr model, spectrum of hydrogen atom, quantum numbers; Wave-

particle duality, de Broglie hypothesis; Uncertainty principle; 

Qualitative quantum mechanical picture of hydrogen atom, shapes 

of s, p and d orbitals; Electronic configurations of elements (up to 

atomic number 36); Aufbau principle; Pauli’s exclusion principle and 

Hund’s rule; Orbital overlap and covalent bond; Hybridisation 

involving s, p and d orbitals only; Orbital energy diagrams for 

homonuclear diatomic species;  Hydrogen bond; Polarity in 

molecules, dipole moment (qualitative aspects only); VSEPR model 

and shapes of molecules (linear, angular, triangular, square planar, 

pyramidal, square pyramidal, trigonal bipyramidal, tetrahedral and 

octahedral). 

XII Energetics 

First law of thermodynamics; Internal energy, work and heat, 

pressure-volume work; Enthalpy, Hess’s law; Heat of reaction, fusion 

and vapourization; Second law of thermodynamics; Entropy; Free 

energy; Criterion of spontaneity. 

XII Chemical equilibrium  

Law of mass action; Equilibrium constant, Le Chatelier’s principle  

(effect of concentration, temperature and pressure); Significance of 

DG and DGo in chemical equilibrium; Solubility product, common ion 

effect, pH and buffer solutions;  Acids and bases (Bronsted and Lewis 

concepts); Hydrolysis of salts. 

XII Electrochemistry 

Electrochemical cells and cell reactions; Standard electrode 

potentials; Nernst equation and its relation to DG; Electrochemical 

series, emf of galvanic cells; Faraday’s laws of electrolysis; 

Electrolytic conductance, specific, equivalent and molar 

conductivity, Kohlrausch’s law; Concentration cells. 
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Syllabus 
From Class 

Topic Sub-topic 

XII Chemical kinetics 

Rates of chemical reactions; Order of reactions; Rate constant; First 

order reactions; Temperature dependence of rate constant 

(Arrhenius equation).  

XII Solutions 

Raoult’s law; Molecular weight determination from lowering of 

vapour pressure, elevation of boiling point and depression of 

freezing point. 

XII Nuclear chemistry  

Radioactivity: isotopes and isobars; Properties of rays; Kinetics of 

radioactive decay (decay series excluded), carbon dating; Stability of 

nuclei with respect to proton-neutron ratio; Brief discussion on 

fission and fusion reactions. 

XII 

Inorganic Chemistry: 
Isolation/preparation 
and properties of the 
following non-metals 

Boron, silicon, nitrogen, phosphorus, oxygen, sulphur and halogens; 

Properties of allotropes of carbon (only diamond and graphite), 

phosphorus and sulphur. 

XII 
Preparation and 
properties of the 
following compounds  

Oxides, peroxides, hydroxides, carbonates, bicarbonates, chlorides 

and sulphates of sodium, potassium, magnesium and calcium; 

Boron: diborane, boric acid and borax; Aluminium: alumina, 

aluminium chloride and alums; Carbon: oxides and oxyacid (carbonic 

acid); Silicon: silicones, silicates and silicon carbide;  Nitrogen: oxides, 

oxyacids and ammonia; Phosphorus: oxides, oxyacids (phosphorus 

acid, phosphoric acid) and phosphine; Oxygen: ozone and hydrogen 

peroxide; Sulphur: hydrogen sulphide, oxides, sulphurous acid, 

sulphuric acid and sodium thiosulphate; Halogens: hydrohalic acids, 

oxides and oxyacids of chlorine, bleaching powder; Xenon fluorides. 

XII 
Transition elements 
(3d series)  

Definition, general characteristics, oxidation states and their 

stabilities, colour (excluding the details of electronic transitions) and 

calculation of spin (only magnetic moment), Coordination 

compounds: nomenclature of mononuclear coordination 

compounds, cis-trans and ionisation isomerisms, hybridization and 

geometries of mononuclear coordination compounds (linear, 

tetrahedral, square planar and octahedral). 
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Syllabus 
From Class 

Topic Sub-topic 

XII 
Preparation and 
properties of the 
following compounds 

Oxides and chlorides of tin and lead; Oxides, chlorides and sulphates 

of Fe2+, Cu2+ and Zn2+; Potassium permanganate, potassium 

dichromate, silver oxide, silver nitrate, silver thiosulphate.  

XII 
Organic Chemistry: 
Concepts 

Hybridisation of carbon; Sigma and pi-bonds; Shapes of simple organic 

molecules; Structural and geometrical isomerism;  Optical isomerism 

of compounds containing up to two asymmetric centres, (R, S and E, 

Z nomenclature excluded); IUPAC nomenclature of simple organic 

compounds (only hydrocarbons, mono-functional and bi-functional 

compounds); Conformations of ethane and butane (Newman 

projections); Resonance and hyperconjugation; Keto-enol 

tautomerism; Determination of empirical and molecular formulae of 

simple compounds (only combustion method); Hydrogen bonds: 

definition and their effects on physical properties of alcohols and 

carboxylic acids; Inductive and resonance effects on acidity and 

basicity of organic acids and bases; Polarity and inductive effects in 

alkyl halides; Reactive intermediates produced during homolytic and 

heterolytic bond cleavage;  Formation, structure and stability of 

carbocations, carbanions and free radicals.  

XII 
Preparation, 
properties and 
reactions of alkanes 

Homologous series, physical properties of alkanes (melting points, 

boiling points and density); Combustion and halogenation of alkanes; 

Preparation of alkanes by Wurtz reaction and decarboxylation 

reactions. 

XII 

Preparation, 
properties and 
reactions of alkenes 
and alkynes 

Physical properties of alkenes and alkynes (boiling points, density and 

dipole moments); Acidity of alkynes; Acid catalysed hydration of 

alkenes and alkynes (excluding the stereochemistry of addition and 

elimination); Reactions of alkenes with KMnO4 and ozone; Reduction 

of alkenes and alkynes; Preparation of alkenes and alkynes by 

elimination reactions; Electrophilic addition reactions of alkenes with 

X2, HX, HOX and H2O (X=halogen); addition reactions of alkynes; Metal 

acetylides. 

XII Reactions of Benzene 

Structure and aromaticity; Electrophilic substitution reactions: 

halogenation, nitration, sulphonation, Friedel-Crafts alkylation and 

acylation; Effect of ortho, meta and para directing groups in 

monosubstituted benzenes.  
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Syllabus 
From Class 

Topic Sub-topic 

XII Phenols 
Acidity, electrophilic substitution reactions (halogenation, nitration 

and sulphonation); Reimer-Tieman reaction, Kolbe reaction. 

XII 

Characteristic 
reactions of the 
following (including 
those mentioned 
above):  

Alkyl halides: rearrangement reactions of alkyl carbocation, Grignard 

reactions,  nucleophilic substitution reactions;  

 

 

 

 

XII Alcohols 

Esterification, dehydration and oxidation, reaction with sodium, 

phosphorus halides, ZnCl2/concentrated HCl, conversion of alcohols 

into aldehydes and ketones; Ethers: Preparation by Williamson’s  

Synthesis; Aldehydes and Ketones: oxidation, reduction, oxime and 

hydrazone formation; aldol condensation, Perkin reaction; Cannizzaro 

reaction; haloform reaction and nucleophilic addition reactions 

(Grignard addition);  Carboxylic acids: formation of esters, acid 

chlorides and amides, ester hydrolysis; Amines: basicity of substituted 

anilines and aliphatic amines, preparation from nitro compounds, 

reaction with nitrous acid, azo coupling reaction of diazonium salts of 

aromatic amines, Sandmeyer and related reactions of diazonium 

salts; carbylamine reaction; Haloarenes: nucleophilic aromatic 

substitution in haloarenes and substituted haloarenes (excluding 

Benzyne mechanism and Cine substitution). 

XII Carbohydrates 
Classification; mono- and di-saccharides (glucose and sucrose); 

Oxidation, reduction, glycoside formation and hydrolysis of sucrose. 

XII 
Amino acids and 
peptides 

General structure (only primary structure for peptides) and physical 
properties. 

XII 
Practical organic 
chemistry 

Detection of elements (N, S, halogens); Detection and identification 

of the following functional groups: hydroxyl (alcoholic and phenolic), 

carbonyl (aldehyde and ketone), carboxyl, amino and nitro; Chemical 

methods of separation of mono-functional organic compounds from 

binary mixtures. 
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FOR CLASS XII APPEARED/PASSED 

SUBJECT: PHYSICS 
Syllabus 
From Class 

Topic Sub-topic 

X Mechanics 

Uniform and non-uniform motion along a straight line; Concept of distance and 
displacement, Speed and velocity, accelaration and relation ship between 
these; Distance-time and velcocity-time graphs. Newton’s Law of motion; 
Relationship between mass, momentum, force and accelaration; work done by 
a force; Law of conservation of energy. Law of gravitation; acceleration due to 
gravity. 

X 
Electricity 
and 
magnetism 

Ohm’s law; Series and parallel combination of resistances; Heating effect of 
current. Magnetic field near a current carrying straight wire, along the axis of a 
circular coil and inside a solenoid ; Force on current carrying conductor; 
Fleming’s left hand rule; Working of electric motor; Induced potential difference 
and current 

X 
Electric 
generator  

Principle and working; Comparision of AC and DC; Domestic electric circuits.  

X Optics 
Rectilinear propagation of light; Basic idea of concave mirror and convex lens; 
Laws of refraction; Dispersion 

XI General  

Units and dimensions, dimensional analysis; least count, significant figures; 
Methods of measurement and error analysis for physical quantities pertaining 
to the following experiments: Experiments based on using Vernier calipers and 

screw gauge (micrometer), Determination of g using simple pendulum, Young’s 
modulus by Searle’s method.  

XI Mechanics 

Kinematics in one and two dimensions (Cartesian coordinates only), projectiles; 
Uniform Circular motion; Relative velocity.  Newton’s laws of motion; Inertial 

and uniformly accelerated frames of reference; Static and dynamic friction; 
Kinetic and potential energy; Work and power; Conservation of linear 
momentum and mechanical energy.  Systems of particles; Centre of mass and 
its motion; Impulse; Elastic and inelastic collisions.  Law of gravitation; 

Gravitational potential and field; Acceleration due to gravity; Motion of planets 
and satellites in circular orbits; Escape velocity.  Rigid body, moment of inertia, 
parallel and perpendicular axes theorems, moment of inertia of uniform bodies 
with simple geometrical shapes; Angular momentum; Torque; Conservation of 
angular momentum; Dynamics of rigid bodies with fixed axis of rotation; Rolling 
without slipping of rings, cylinders and spheres; Equilibrium of rigid bodies; 
Collision of point masses with rigid bodies.  Linear and angular simple harmonic 
motions. Hooke’s law, Young’s modulus.  Pressure in a fluid; Pascal’s law; 
Buoyancy; Surface energy and surface tension, capillary rise; Viscosity 

(Poiseuille’s equation excluded), Stoke’s law; Terminal velocity, Streamline flow, 
equation of continuity, Bernoulli’s theorem and its applications. 

XI Waves 

Wave motion (plane waves only), longitudinal and transverse waves, 
superposition of waves; Progressive and stationary waves; Vibration of strings 
and air columns;Resonance; Beats; Speed of sound in gases; Doppler effect (in 
sound). 

 

mailto:contact@resonance.ac.in
http://www.resonance.ac.in/reso/results/jee-main-2014.aspx


 SAMPLE TEST PAPER (STP)  
 

 

 

Reg. & Corp. Office :  CG Tower, A-46 & 52, IPIA, Near City Mall, Jhalawar Road, Kota (Raj.)-324005 
 

Website : www.resonance.ac.in | E-mail : contact@resonance.ac.in 
STPPH125 |  PAGE # 14 

Toll Free : 1800 258 5555 | CIN: U80302RJ2007PLC024029 
 

 

,Syllabus 
From Class 

Topic Sub-topic 

XI 
Thermal 
physics  

Thermal expansion of solids, liquids and gases; Calorimetry, latent heat; Heat 
conduction in one dimension; Elementary concepts of convection and radiation; 
Newton’s law of cooling; Ideal gas laws; Specific heats (Cv and Cp for 
monoatomic and diatomic gases); Isothermal and adiabatic processes, bulk 
modulus of gases; Equivalence of heat and work; First law of thermodynamics 
and its applications (only for ideal gases);  Blackbody radiation: absorptive and 
emissive powers; Kirchhoff’s law; Wien’s displacement law, Stefan’s law. 

XII General 

Units and dimensions, dimensional analysis; least count, significant figures; 
Methods of measurement and error analysis for physical quantities pertaining to 
the following experiments: Experiments based on using Vernier calipers and screw 
gauge (micrometer), Determination of g using simple pendulum, Young’s modulus 
by Searle’s method, Specific heat of a liquid using calorimeter, focal length of a 
concave mirror and a convex lens using u-v method, Speed of sound using 
resonance column, Verification of Ohm’s law using voltmeter and ammeter, and 
specific resistance of the material of a wire using meter bridge and post office box. 

XII Mechanics 

Kinematics in one and two dimensions (Cartesian coordinates only), Projectile 
Motion; Uniform Circular Motion; Relative Velocity.  Newton’s laws of motion; 
Inertial and uniformly accelerated frames of reference; Static and dynamic 
friction; Kinetic and potential energy; Work and power; Conservation of linear 
momentum and mechanical energy.  Systems of particles; Centre of mass and 
its motion; Impulse; Elastic and inelastic collisions.  Law of gravitation; 
Gravitational potential and field; Acceleration due to gravity; Motion of planets 
and satellites in circular orbits; Escape velocity.  Rigid body, moment of inertia, 
parallel and perpendicular axes  theorems, moment of inertia of uniform bodies 
with simple geometrical shapes; Angular momentum; Torque; Conservation of 
angular momentum; Dynamics of rigid bodies with fixed axis of rotation; Rolling 
without slipping of rings, cylinders and spheres; Equilibrium of rigid bodies; 
Collision of point masses with rigid bodies. Linear and angular simple harmonic 
motions.  Hooke’s law, Young’s modulus.  Pressure in a fluid; Pascal’s law; 
Buoyancy; Surface energy and surface tension, capillary rise; Viscosity 
(Poiseuille’s equation excluded), Stoke’s law; Terminal velocity, Streamline flow, 
equation of continuity, Bernoulli’s theorem and its applications. 

XII Waves 
Wave motion (plane waves only), longitudinal and transverse waves, superposition 
of waves; Progressive and stationary waves; Vibration of strings and air 
columns;Resonance; Beats; Speed of sound in gases; Doppler effect (in sound).  

XII 
Thermal 
physics 

Thermal expansion of solids, liquids and gases; Calorimetry, latent heat; Heat 
conduction in one dimension; Elementary concepts of convection and radiation; 
Newton’s law of cooling; Ideal gas laws; Specific heats (Cv and Cp for 
monoatomic and diatomic gases); Isothermal and adiabatic processes, bulk 
modulus of gases; Equivalence of heat and work; First law of thermodynamics 
and its applications (only for ideal gases);  Blackbody radiation: absorptive and 
emissive powers; Kirchhoff’s law; Wien’s displacement law, Stefan’s law. 
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Syllabus 
From Class 

Topic Sub-topic 

XII 
Electricity 
and 
magnetism 

Coulomb’s law; Electric field and potential; Electrical potential energy of a 

system of point charges and of electrical dipoles in a uniform electrostatic field; 

Electric field lines; Flux of electric field; Gauss’s law and its application in simple 

cases, such as, to find field due to infinitely long straight wire, uniformly charged 

infinite plane sheet and uniformly charged thin spherical shell. Capacitance; 

Parallel plate capacitor with and without dielectrics; Capacitors in series and 

parallel; Energy stored in a capacitor. Electric current; Ohm’s law; Series and 

parallel arrangements of resistances and cells; Kirchhoff’s laws and simple 

applications; Heating effect of current. Biot–Savart’s law and Ampere’s law; 

Magnetic field near a current-carrying straight wire, along the axis of a circular 

coil and inside a long straight solenoid; Force on a moving charge and on a 

current-carrying wire in a uniform magnetic field. Magnetic moment of a 

current loop; Effect of a uniform magnetic field on a current loop; Moving coil 

galvano- meter, voltmeter, ammeter and their conversions.  Electromagnetic 

induction: Faraday’s law, Lenz’s law; Self and mutual inductance; RC, LR and LC 

circuits with d.c. and a.c. sources. 

XII Optics 

Rectilinear propagation of light; Reflection and refraction at plane and spherical 

surfaces; Total internal reflection; Deviation and dispersion of light by a prism; 

Thin lenses; Combinations of mirrors and thin lenses; Magnification. Wave 

nature of light: Huygen’s principle, interference limited to Young’s double-slit 

experiment 

XII 
Modern 
physics 

Atomic nucleus; Alpha, beta and gamma radiations; Law of radioactive decay;  

Decay constant; Half-life and mean life; Binding energy and its calculation; 

Fission and fusion processes; Energy calculation in these processes. 

Photoelectric effect; Bohr’s theory of hydrogen-like atoms; Characteristic and 

continuous X-rays, Moseley’s law; de Broglie wavelength of matter waves. 
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FOR CLASS XII APPEARED/PASSED 

SUBJECT: BIOLOGY 

Syllabus 
From Class 

Topic Sub-topic 

X Biology 

Nutrition in plants & Animals, Respiration in plants & Animals, Excretion in plants & Animals, 

Transportation in plants & Animals, Genetics (Heredity & Variation), Evolution, Ecology (our 

environment), Natural resources, Reproduction in plants & Animals. 

XI Zoology 
Animal kingdom, Structural Organisation in Animals, Biomolecules, Breathing & Exchange of 

gases  

XI Botany 

Living world, Biological Classification– Kingdom – Monera, Protista, Fungi, Virus, Plant 

Kingdom– Algae, Bryophytes, Pteridophytes, Gymnosperms, Angiosperms, Plant 

Morphology - Root , Stem , leaves, Inflorescence , Flower , Fruit,  Seed. Families - 

Solanaceae, Liliaceae , Fabaceae, Plant Anatomy - Anatomy of Tissues, Tissue system , 

Anatomy of Root , Stem , Leaves, Cell Biology — Cell Structure & Functions , Cell Division, 

Plant Physiology —, Respiration , Photosynthesis , Plant growth & development. 

XII Zoology 

Animal Reproduction – Human Reproduction, Reproductive Health , Evolution, Biology in 

Human Welfare–Human health and disease,  Drug & Alcohol abuse, Medical Diagnostic 

technique, Biology in Human Welfare– Microbes in human welfare, Living world, Animal 

kingdom, Structural Organisation in Animals, Biomolecules, Breathing & Exchange of gases, 

Body Fluids and Circulation, Excretory products and their Elimination, Locomotion and 

Movement, Neural control and coordination, Chemical coordination and Integration. 

XII Botany 

Reproduction in Flowering plants. Genetics – Heredity and variations. Genetics – Molecular 

basis of inheritance, Application Biology– Plant Breeding, Biotechnology Principles, 

Processes, applications, Ecology– Organism & Population, Ecosystem, Ecology–Biodiversity 

& Conservation, Biological Classification–Kingdom – Monera, Protista, Fungi, Virus, Plant 

Kingdom– Algae, Bryophytes, Pteridophytes, Gymnosperms, Angiosperms, Plant 

Morphology - Root , Stem , leaves, Inflorescence , Flower , Fruit,  Seed. Families - 

Solanaceae, Liliaceae , Fabaceae,  Plant Anatomy - Anatomy of Tissues, Tissue system , 

Anatomy of Root , Stem , Leaves, Cell Biology — Cell Structure & Functions , Cell Division, 

Plant Physiology — Respiration , Photosynthesis , Plant growth & development. 
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SAMPLE TEST PAPER (STP) 

(For Class-X Appearing / Passed Students) 

CLASS-XI (FOR CLASS X TO XI MOVING STUDENT) 
 

TARGET: NEET (UG) 

01 

S.No. 
Par

t 
Subject Type of Question 

No. of  
Questions 

Marking Scheme 

Full Marks 
per Qs. 

Negative 
Marking 

Total 

1 to 30 I Biology 
Single Choice Questions (Only One 
Correct Option)   (dsoy ,d fodYi lgh) 

30 4 0 120 

31 to 45 II Maths 
Single Choice Questions (Only One 
Correct Option)   (dsoy ,d fodYi lgh) 

15 4 
0 

60 

46 to 60 III Physics 
Single Choice Questions (Only One 
Correct Option)   (dsoy ,d fodYi lgh) 

15 4 
0 

60 

61 to 75 IV Chemistry 
Single Choice Questions (Only One 
Correct Option)   (dsoy ,d fodYi lgh) 

15 4 
0 

60 

Total 75 
 

300 

 

PART-I (Hkkx-I): 

BIOLOGY (tho foKku) 

SECTION  : (Maximum Marks : 120) 

[kaM  : (vf/kdre vad : 120)

 This section contains THIRTY (30) questions. 
 Each question has FOUR options (1), (2), (3) 
 and (4). ONLY ONE  of these four option is 
 correct  

Marking scheme : 
  Full Marks : +4 If only the bubble 

 corresponding to the correct option is  
 darkened 

  Zero Marks :  0 If none of the bubble is  
 darkened 

 bl [kaM esa rhl (30)  iz'u gSaA  

 izR;sd iz'u esa pkj fodYi (1), (2), (3) rFkk (4) gSaA 

bu pkj fodYiksa esa ls dsoy ,d fodYi lgh gSaA 

vadu ;kstuk : 

  iw.kZ vad % +4 ;fn flQZ lgh fodYi gh pquk x;k  

gSA 

  'kwU; vad %   0  ;fn dksbZ Hkh fodYi ugha pquk x;k 

  gS ¼vFkkZr~ iz'u vuqÙkfjr gS½A 
 

 

1. Example of fossil energy is :   

 (1) Alcohol  (2) Hydrogen  

 (3) Petrol  (4) Gobar gas 

 thok'eh; ÅtkZ dk mnkgj.k gS %  

 (1) ,sYdksgkWy  (2) gkbMªkstu  

 (3) isVªksy  (4) xkscj xSl 

 

2. Hormone which stimulate initiation of 

flowering process is: 

 (1) Gibberellin  (2) Ethylene  

 (3) Vernalin  (4) Florigen 

 iq"iu dh fØ;k dks izkjEHk djus ds fy, izsfjr 

djus okyk gkeksZu gS : 

 (1) ftcjsfyu  (2) ,fFkyhu  

 (3) ousZfyu  (4) ¶yksjhtu 
 

3. What happens when a cell placed in 

hypertonic solutioon ?  

 (1) Endosmosis  (2) Exosmosis  

 (3) Deplasmolysis  (4) Imbibition 

 dksf'kdk dks vfrifjlkjh foy;u esa j[kus ij 

gksrk gSa? 

 (1) vUr% ijklj.k (2) cfg%ijklj.k  

 (3) thonzO; fodqapu  (4) vUr%'kks"k.k 
 

4. Ribosomes are the centre for :  

 (1) Respiration   

 (2) Ptotein synthesis 

 (3) Photosynthesis   

 (4) Fat synthesis 

 jkbckslkse fdlds dsUnz gksrs gS \ 

 (1) 'olu   

 (2) izksVhu la'ys"k.k 

 (3) izdk'k la'ys    

 (4) olk la'ys"k.k 
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5. Binomial nomenclature was introduced by : 
 (1) John Ray   
 (2) Aristotle  
 (3) A.P. Decandolle    
 (4) Carolus Linnaeus 

 f}-uke ukekdj.k dk izfriknu fdluss fd;k 

FkkA 

 (1) tkWu js  (2) vjLrq  

 (3) ,-ih-Mh- dSUMkWys  (4) dSjksyl yhfu;l 
 

6. Typhoid is caused by :  
 (1) Streptococcus (2) Salmonella  
 (3) Giardia   (4) Mycobacterium 

 VkbQkbM fdlds dkj.k gksrk gS \  

 (1) LVsªIVksdksdl  (2) lkYeksusyk 

 (3) ftvkfMZ;k   (4) ekbdkscSDVhfj;e 
 

7. Which of the following is the high milk 
yielding variety of cow ? 

 (1) Holstein  (2) Sahiwal  
 (3) Red Singhi   (4) Mehsana 

 fuEu esa ls xk; dh dkSulh iztkfr ls vf/kd 

nw/k izkIr fd;k tkrk gS ? 

 (1) gkWYlVhu  (2) lkghoky  

 (3) yky fla/kh   (4) esglkuk 
 

8. Which of the following belongs to 
pteridophyta?  

 (1) Riccia   (2) Fern   
 (3) Cycas  (4) Pinus 

 fuEu esa ls dkSulk VsfjMksQkbV gS \  

 (1) fjfDl;k   (2) QuZ    

 (3) lk;dl  (4) ikbul 
 

9. It is very difficult to stop cell division when 
the cell has entered in 

 (1) G
1 
– phase  (2) G

2 
– phase   

 (3) S – phase   (4) prophase 

 dksf'kdk foHkktu dks jksduk eqf'dy gksrk gS 

tc dksf'kdk izos'k dj pqdh gksrh gS % 

 (1) G
1 
–izkoLFkk esa (2) G

2 
–izkoLFkk esa 

 (3) S–izkoLFkk esa  (4) izksQst esa 
 

10. Match the disease with causative agent and 
mark the correct statement.  

  

(i)  Rabies  1.  Bacteria   

(ii)  Malaria  2.  Fungus  

(iii) Ring worm  3.  Virus 

(iv) Tuberculosis 4.  Plasmodium 
 

 (1) i - 1, ii - 2, iii - 3, iv - 4   

 (2) i - 3, ii - 4, iii - 2, iv - 1  

 (3) i - 2, ii - 3, iii - 4, iv - 1   

 (4) i - 4, ii - 2, iii - 1, iv - 3 

 jksx o jksxdkjd dk feyku dhft, ,oa lgh 

fodYi dks fpfUg~r djsa %  
  

(i)  jscht  1.  thok.kq 

(ii)  eysfj;k  2.  dod 

(iii) fjax okWeZ  3.  okbjl 

(iv) Vh- ch- 4.  IykTeksfM;e 
 

 (1) i - 1, ii - 2, iii - 3, iv - 4   

 (2) i - 3, ii - 4, iii - 2, iv – 1 

 (3) i - 2, ii - 3, iii - 4, iv - 1   

 (4) i - 4, ii - 2, iii - 1, iv – 3 
 

11. The functional unit of testis of man is –  

 (1) uriniferous tubule    

 (2) malpighian tubule    

 (3) seminiferous tubule     

 (4) acini or lobules 

 ekuo o`"k.k dh fØ;kRed bdkbZ gS& 

 (1) o`Dd ufydk,as    

 (2) eSYihxh ufydk,sa   

 (3) 'kqØ tuu ufydk,sa     

 (4) ,lhuh ;k yksC;wYk 
 

12. A nonliving structure of cell is – 

 (1) cell wall   

 (2) plasma membrane  

 (3) cytoplasm    

 (4) nucleus 

 dksf'kdk dh futhZo lajpuk gS& 

 (1) dksf'kdk fHkfÙk  (2) dksf'kdk f>Yyh  

 (3) dksf'kdk nzO;  (4) dsUnzd 
 

13. When the right ventricle of heart of man 

contracts, then blood is pumped into 

 (1) superior vena cava  (2) Dorsal aorta  

 (3) Pulmonary artery (4) Pulmonary vein 

 tc ekuo ân; dk nk;ka fuy; ladqfpr gksrk 

gS] rks :f/kj izokfgr gksrk gS & 

 (1) vxz egkf'kjk esa  (2) i`"B egk/keuh esa  

 (3) Qq¶Qqlh; /keuh esa  (4) Qq¶Qqlh; f'kjk esa 
 

14. Sex chromosomes are also called as    

 (1) autosomes   (2) allosomes   

 (3) monosomes  (4) karyosome 

 fyax xq.klw=k dgykrs gSA  

 (1) vkWVkslkse   (2) ,ykslkse  

 (3) eksuksalkse  (4) dsfj;kslkse 
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15. When acidity in Stomach increases, the 

medicine generally used is : 

 (1) Sodium bicarbonate     

 (2) Sodium Carbonate   

 (3) Ammonium Carbonate    

 (4) Ammonium bicarbonate  

 vkek'k; esa tc vEyh;rk c<+rh gS] rc tks nok 

izk;% mi;ksx esa yh tkrh gS] og gS &  

 (1) [kkus dk lksM+k     

 (2) /kkou lksM+k  

 (3) veksfu;e dkcksZusV     

 (4) veksfu;e ckbdkcksZusV  
 

16. Dissimilarity found in Aves and Mamalia is : 

 (1) Warm Blooded Animal  

 (2) Lay eggs   

 (3) Breathe through Lungs    

 (4) Four chambered Heart  

 i{kh oxZ o Lru/kkjh oxZ esa tks vlekurk ikbZ tkrh 

gS] og gS &  

 (1) xeZ #f/kj/kkjh izk.kh   

 (2) vaMs nsrs gSa 

 (3) 'olZu Qq¶Qql }kjk     

 (4) pkj d{kh; ân;  

 

17. The plants in which vegetative propagation 

is found, are : 

 (1) Brayophyllum  

 (2) Sugarcane   

 (3) Rose   

 (4) All of the above  

 ftu ikS/kksa esa dkf;d izo/kZu ik;k tkrk gS] os gSa & 

 (1) czk;ksfQye    

 (2) xUuk   

 (3) xqykc    

 (4) mDr lHkh  
 

18. Virus contains :     

 (1) DNA only   

 (2) RNA only 

 (3) RNA and DNA both     

 (4) Either RNA or DNA but not both  

 ok;jl esa gksrk gS & 

 (1) dsoy DNA      

 (2) dsoy RNA   

 (3) RNA rFkk DNA nksuksa      

 (4) ;k rks RNA ;k DNA ysfdu nksuksa ugha 

 

19. In an ecosystem the function of the 
producers is to : 

 (1) Convert organic compounds into 
 inorganic compounds    

 (2) Trap solar energy and convert it into 
 chemical energy   

 (3) Utilize chemical energy   
 (4) Release energy  

 ikfjfLFkfrdh ra=k esa mRiknd dk dk;Z gksrk gS & 

 (1) dkcZfud ;kSfxdksa dks vdkcZfud ;kSfxdksa esa 

 cnyuk  

 (2) lkSj ÅtkZ dks lafpr dj mls jklk;fud ÅtkZ 

 esa ifjofrZr djuk  

 (3) jklk;fud ÅtkZ dks iz;ksx djuk  

 (4) ÅtkZ eqä djuk  
 

 

20. Green revolution means :  
 (1) use of green manure    
 (2) Growing of more crops 
 (3) Use of high yeild varieties    
 (4) Green vegetation  

 gfjr Økafr gS &  

 (1) gjh [kk| dk mi;ksx    

 (2) vf/kd Qly mxkuk  

 (3) mPp mRikndrk okyh fdLeksa dk mi;ksx  

 (4) gjh ouLifr 
 

21. If all mitochondria are removed from the cell : 
 (1) nothing happens    
 (2) energy metabolism of cell gets reduced 
  (3) the cell cannot reproduce   
 (4) leaves become white  

 ;fn lHkh ekbVksdkWfUMª;k dks dksf'kdkvksa ls fudky 

fn;k tk, rks &  

 (1) dqN ugh gksxkA 

 (2) dksf'kdk dh mikip;h ÅtkZ esa deh gksxhA  

 (3) dksf'kdk tuu ugh dj ik,xhA  

 (4) ifÙk;k¡ lQsn gks tk,xhA 
 

22. Which of the following is not the correct 
pairing of structure with function ? 

 (1) Golgi complex : breakdown of complex 
 molecules  

 (2) Mitochondrion : Production of ATP 
 (3) Endoplasmic reticulum : synthesis of 

 proteins 
 (4) Chloroplast : photosynthesis 

 fuEu esa ls dk;Z ,oa lajpuk dk lgh ;qXe ugh gS \ 

 (1) xkWYthdk; % tfVy v.kqvksa ds VwVus ls 

 lEcfU/kr gSA  

 (2) ekbVksdkWfUMª;k : ATP mRiknu ls lEcfU/kr gSA 

 (3) vUr% iznzO;h tkfydk & izksVhu la'ys"k.k ls 

 lEcfU/kr gSA   

 (4) gfjryod : izdk'k la'ys"k.k ls lEcfU/kr gSA 
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23. Which of the following enzyme is used for 
digestion of milk ? 

 (1) Rennin  (2) Ptyalin  
 (3) Trypsin  (4) Pancreatin 

 fuEu esa ls dkSulk ,atkbe nw/k ds ikpu ds fy, 

mi;ksx fd;k tkrk gS \ 

 (1) jsfuu   (2) Vk;fyu   

 (3) fVªfIlu   (4) isfUØ,fVu 
 

24. Which statement about lichens is true ? 
 (1) A network of algal filaments protects the 

 fungus  
 (2) Algal cells supply food to the fungal 

 component  
 (3) The algal component is parasitic on 

 fungus   
 (4) Lichens always need organic 

 substratum 

 ykbdsu ds lUnHkZ esa lR; dFku gS %  

 (1) 'kSokyh; rUrqvksa dk tky dod dks lqjf{kr 

 djrk gSA  

 (2) 'kSoky dod dks Hkkstu iznku djrk gSA  

 (3) 'kSoky dod ij ijthoh gksrk gSA  

 (4) ykbdsu dks ges'kk dkcZfud lCLVsªVe dh 

 vko';drk gksrh gSA 
 

25. Which one of the following plant can fix 
nitrogen from air ? 

 (1) Pea   (2) Wheat    
 (3) Rice  (4) Maize 

 fuEufyf[kr esa ls dkSulk ikni okrkoj.k ls 

ukbVªkstu dks fLFkj dj ldrk gS ? 

 (1) eVj    (2) xsgq¡   

 (3) pkoy  (4) eDdk 
 

26.  The folds of plasma membrane in bacterial 
cells are known as  

 (1) episomes   (2) mesosomes  
 (3) spherosomes (4) acrosomes 

 thok.kq dksf'kdk esa mifLFkr dksf'kdk f>Yyh dh 

ijrsa dgykrh gSa &  

 (1) ,ihlkse   (2) ehlkslkse  

 (3) LQhjkslkse   (4) ,Økslkse 
 

27.  The pH of the blood is maintained by 

 (1) Lactic acid and pyruvic acid   

 (2) HCO3
– and Haemoglobin  

 (3) CO2 and H2O    

 (4) Pyruvic acid and H2CO3 

 :f/kj dh pH dks cuk;s j[kk tkrk gSa  

 (1) ySfDVd vEy o ik;:fod vEy    

 (2) HCO3
– rFkk gheksXyksfcu 

 (3) CO2 o H2O     

 (4) ik;:fod vEy o H2CO3 

28.  If a particular animal has shelled egg, hair 
and teats on the body and has cloaca, then 
it may be a connecting link between - 

 (1) Reptile and aves    
 (2) Aves and mammal 
 (3) Reptile and mammal    
 (4) Mammal and aves 

 ;fn fdlh tUrq ds 'kjhj esa dop ;qä v.Mk] cky 

Lrukxz rFkk voLdj fNnz gksa] rks ;g fduds chp 

dh la;kstd dM+h gS \ 

 (1) ljhl`i rFkk i{kh    

 (2) i{kh rFkk Lru/kkjh 

 (3) ljhl`i rFkk Lru/kkjh    

 (4) Lru/kkjh rFkk i{kh 
 

29.  For whichenzyme is acidic medium 
necessary? 

 (1) Trypsin  (2) Pepsin 
 (3) Lipase   (4) Amylase 

 fdl ,Utkbe ds fy, vEyh; ek/;e vko';d gS ? 

 (1) fVªIlhu   (2) isaIlhu  

 (3) ykbisl   (4) ,ekbysl 
 

30.  Which of the following is a example of 
Bryophyte . 

 (1) Moss   (2) Fern   
 (3) Pinus   (4) Algae 

 fuEu esa ls tks czk;ksQkbVk dk mnkgj.k gS . 

 (1) ekWl    (2) QuZ   

 (3) ikbul   (4) 'kSoky 
 

PART-II (Hkkx-II):  

MATHEMATICS (xf.kr) 

SECTION  : (Maximum Marks : 60) 

[kaM  : (vf/kdre vad : 60)

 This section contains FIFTEEN (15 questions. 

 Each question has FOUR options (1), (2), (3) 

 and (D). ONLY ONE  of these four option is 

 correct  

Marking scheme : 

  Full Marks : +4 If only the bubble 

 corresponding to the correct option is 

 darkened 

  Zero Marks :  0 If none of the bubble is  

 darkened 

 bl [kaM esa iUnzg (15)  iz'u gSaA  

 izR;sd iz'u esa pkj fodYi (1), (2), (3) rFkk (4) gSaA 

bu pkj fodYiksa esa ls dsoy ,d fodYi lgh gSaA 

vadu ;kstuk : 

  iw.kZ vad % +4 ;fn flQZ lgh fodYi gh pquk x;k gSA 

  'kwU; vad % 0  ;fn dksbZ Hkh fodYi ugha pquk x;k 

  gS ¼vFkkZr~ iz'u vuqÙkfjr gS½A 
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31. The difference of two positive number is 2, 

and the product of these numbers is 17. 

Then their sum is : 

 nks /kukRed la[;kvksa dk vUrj 2 gS] vkSj mldk 

xq.kuQy 17 gS] rks mu la[;kvks dk ;ksx D;k gksxk \ 

 (1) 26    (2) 2–23   

 (3) 2–26   (4) 23  
 

32. One year ago, a man was 7 times as old as 

his son. The equation of this situation: (Take 

: present age of father and son x and y year 

respectively) 

 ,d o"kZ iwoZ ,d vkneh dh mez mlds iq=k dh 7 

xquk FkhA rks bl ifjfLFkfr esa lehdj.k gksxh & 

¼firk rFkk iq=k dh orZeku vk;q Øe'k% x rFkk y o"kZ 

yhft,A½ 

(1) 6x – 7y + 6 = 0  

 (2) x + 7y + 6 = 0 

 (3) 7x – y + 6 = 0 

 (4) x – 7y + 6 = 0 
 

33. The circumference of a circle and perimeter 

of a square are equal. The ratio of their 

areas is : 

 ,d o`Ùk dh ifjf/k rFkk oxZ dk ifjeki cjkcj gSaA 

buds {ks=kQyksa dk vuqikr gS & 

 (1)  : 4   (2) 2 :    

 (3)  : 2   (4) 4 :   
 

34.   Raj wanted to type the first 200 natural 

numbers, how many times does he have to 

press the keys . 

 jkt izFke 200 izkd`r la[;kvks dks vafdr djuk 

pkgrk gS] rks mls fdruh ckj d¡qth;k nckuh iM+sxhA 

   (1)  489    (2)  492    

 (3)  400    (4)  365  
 

35. A rational number between 2  & 3  is : 

 2  rFkk 3  ds e/; ifjes; la[;k fuEu esa ls 

D;k gksxh & 

 (1) 
2 3

2


  

 (2) 
2 3

2


  

 (3) 1.5   

 (4) 1.4  
 

 

36.  The value of p for which x + p is a factor of 

x2  + px + 3 – p is : 

 p dk eku Kkr dhft, ;fn x + p cgqin x2  + px 

+ 3 – p dk ,d xq.k[k.M gks : 

 (1) 1   (2) – 1  

 (3) 3   (4) – 3  
 

37. In a coordinate plane, a point A (–6, –5) 

shifts 5 units towards the right in a horizontal 

direction and reaches at point B. The 

coordinates of point B are : 

 funsZ'kkad ry esa fdlh fcUnq A (–6, –5) dks nka;h 

vkSj 5 bdkbZ dh nwjh ij f{kfrt fn'kk esa foLFkkfir 

fd;k tkrk gS] vkSj og fcUnq B ij igqaprk gSA rks 

fcUnq B ds funsZ'kkad gksaxs & 

 (1) (–6, 0)  

 (2) (–1, –5)  

 (3) (–5, –5)  

 (4) (–1, 0)  
 

 

38. The sides of a triangular field are 165 cm, 

143 cm and 154 cm. Find the cost of 

ploughing it at Rs 2 per sq.cm. 

 fdlh f=kHkqtkdkj [ksr ds Hkqtkvksa dh yEckbZ 165 

cm, 143 cm rFkk 154 cm gSA ;fn 1 cm2 [ksr 

dks tkSrus dk O;; Rs 2 gS] rks ml [ksr dks tkSrus 

es dqy O;; gksxk & 

 (1) Rs. 20328.00 

 (2) Rs. 21328.00 

 (3) Rs. 22328.00 

 (4) Rs. 23328.00  
 

39. If 2x - 5y + 5 = 0 is written in the form  

 y = mx + c, then 

 ;fn lehdj.k 2x - 5y + 5 = 0 dks lehdj.k y = 

mx + c, ds :i esa fy[kk tk,] rc fuEu esa ls lgh 

gSa 

 (1) m = 5, c = 5   

 (2)  m = 
5

2
, c =1    

 (3)  m = 
2

5
, c = 

2

5
  

 (4) None of these (buesa ls dksbZ ugha) 
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40. In the given figure, O is the centre of the 

circle. If AOC = 90º, then ABC is : 

 fn;s x;s fp=k esa fcUnq O o`r dk dsUnz gSA ;fn 

AOC = 90º gS rks ABC dk eku gksxk & 

 

 (1) 45º   (2) 75º  

 (3) 90º   (4) 135º  
 

41. If 4y3 – 3y2 + 2y – 4 is divided by (y + 2), then 

the remainder is : 

 ;fn 4y3 – 3y2 + 2y – 4 dks (y + 2) ls foHkkftr 

fd;k tk, rks 'ks"kQy gksxk & 

 (1) –52    (2) –50  

 (3) –48   (4) –44  
 

42. A card is drawn from a packet of 100  

cards numbered 1 to 100. The probability  

of drawing a number which is a perfect 

square is : 

 ;fn 1 ls 100 la[;k okys 100 iRrs okyh xM~Mh 

esa ls 1 iRrk pquk tk, rks mlds iw.kZ oxZ okyh 

la[;k vkus dh izkf;drk D;k gksxh & 

 (1) 1/100  (2) 2/100  

 (3) 1/10   (4)2/10   
 

43. The coefficient of x2 in the product of  

(x – 5)(x + 3)(x + 7) is : 

 (x – 5)(x + 3)(x + 7) ds xq.kuQy esa x2 dk xq.kkad 

gksxk &  

 (1) 105   (2) 100   

 (3) 5    (4) –29  
      

 

44. A regular polygon is inscribed in a circle. If a 

side subtends an angle of 72º at the centre. 

Then the number of sides of the polygon is 

 ,d le&cgqHkqt o`r ds vUnj fughr gSA ;fn 

bldh ,d Hkqtk dsUnz ls 72º dk dks.k cukrh gS 

rc cgqHkqt esa Hkqtkvksa dh la[;k gksxh & 

 (1) 4   (2) 5  

 (3) 6   (4) 7  
     

45. A cone, a hemisphere and a cylinder stand 

on equal bases and have the same height. 

The ratio of their volumes is : 

 ,d 'kadq] v/kZxksyk vkSj csyu leku vk/kkj 

vkSj leku ÅpkbZ ds gSaA buds vk;ruksa dk  

vuqikr gS & 

 (1) 3 : 2 : 1  (2) 1 : 2 : 3  

 (3) 2 : 1 : 3  (4) 3 : 1 : 2  
 

PART-III (Hkkx-III): 

PHYSICS (HkkSfrd foKku) 

SECTION  : (Maximum Marks : 60) 

[kaM  : (vf/kdre vad : 60)

 This section contains FIFTEEN (15 questions. 

 Each question has FOUR options (1), (2), (3) 

 and (D). ONLY ONE  of these four option is 

 correct  

Marking scheme : 

  Full Marks : +4 If only the bubble 

 corresponding to the correct option is 

 darkened 

  Zero Marks :  0 If none of the bubble is  

 darkened 

 bl [kaM esa iUnzg (15)  iz'u gSaA  

 izR;sd iz'u esa pkj fodYi (1), (2), (3) rFkk (4) gSaA 

bu pkj fodYiksa esa ls dsoy ,d fodYi lgh gSaA 

vadu ;kstuk : 

  iw.kZ vad % +4 ;fn flQZ lgh fodYi gh pquk x;k gSA 

  'kwU; vad % 0  ;fn dksbZ Hkh fodYi ugha pquk x;k 

  gS ¼vFkkZr~ iz'u vuqÙkfjr gS½A 
 

 

 

 
 

46. A body A moves with a uniform acceleration 

a  and zero initial velocity. Another body B, 

starts from the same point moves in the 

same direction with a constant velocity v . 

The two bodies meet after a time t . The 

value of t  is  

 ,d fi.M A fojkekoLFkk ls fu;r Roj.k a  ls xfr 

çkjaHk djrk gSA ,d vU; fi.M B mlh fcUnq ls 

mlh fn’'kk esa fu;r osx v  ls xfr çkjaHk djrk gSA 

nksuksa fi.M xfr vkjaHk djus ds t  lSd.M i'pkr~ 

fey tkrs gSaA t  dk eku gksxk 

 (1) 
a

v2
   (2) 

a

v
  

 (3) 
a2

v
   (4) 

a2

v
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47. A mass 1 kg is suspended by a thread. It is  

 (i) lifted up with an acceleration 2s/m9.4   

 (ii) lowered with an acceleration 2s/m9.4 .  

 The ratio of the tensions in two cases is 

 ,d fdxzk ds nzO;eku dks ,d /kkxs ls yVdk;k 

x;k gSA bls  

 (i) 4.9 eh@lSd.M 
2 ds Roj.k ls mBk;k tkrk gSA  

 (ii) 4.9 eh@lSd.M2 ds Roj.k ls fxjk;k tkrk gSA 

nksuksa voLFkkvksa esa rukoksa dk vuqikr gksxk 

 (1) 3 : 1   (2) 1 : 3  

 (3) 1 : 2   (4) 2 : 1  
 

48. A spherical planet far out in space has a 

mass 0M  and diameter 0D . A particle of 

mass m falling freely near the surface of this 

planet will experience an acceleration due to 

gravity which is equal to 

 nwj vUrfj{k esa 0M  nzO;eku rFkk 0D  O;kl dk ,d 

xksyh; xzg gSA m nzO;eku dk ,d d.k bl xzg dh 

lrg ds ikl Lora=k :i ls fxjrk gS] rks d.k dk 

xq#Ro ds dkj.k Roj.k gksxk 

 (1) 2
00 D/GM   (2) 2

00 D/mGM4  

 (3) 2
00 D/GM4   (4)  2

00 D/GmM   
 

49. A barometer kept in a stationary elevator 

reads 76 cm. If the elevator starts 

accelerating up the reading will be 

 (1) Zero  

 (2) Equal to 76 cm  

 (3) More than 76 cm  

 (4) Less than 76 cm 

 fLFkj fy¶V esa j[kk nkcekih 76 cm ikB nsrk gSA 

;fn fy¶V Åij dh vksj Rofjr xfr djs rks 

nkcekih dk ikB gksxk 

 (1) 'kwU;    

 (2) 76 cm ds rqY; 

 (3) 76 cm ls vf/kd  

 (4) 76 cm ls de  
 

50. The kinetic energy acquired by a mass m in 

travelling a certain distance d starting from 

rest under the action of a constant force is 

directly proportional to 

 m æO;eku dk fi.M fojke ls çkjaHk gksdj fu;r 

cy ds v/khu d nwjh r; djrk gSA bl fi.M }kjk 

çkIr dh xbZ xfrt ÅtkZ lekuqikrh gS 

 (1) m     

 (2) Independent of m , m ls Lora=k  

 (3) m/1    

 (4) m    

51. If the density of oxygen is 16 times that of 

hydrogen, what will be the ratio of their 

corresponding velocities of sound waves 

 ;fn vkWDlhtu dk ?kuRo gkbMªkstu ls 16 xquk gks 

rks buesa /ofu rjaxksa ds osxksa dk vuqikr gS 

 (1) 1 : 4   (2) 4 : 1  

 (3) 16 : 1  (4) 1 : 16  
 

52. A particle travels 10m in first 5 sec and 10m 

in next 3 sec. Assuming constant 

acceleration what is the distance travelled in 

next 2 sec 

 ;fn dksbZ d.k çFke 5 lSd.M esa 10 ehVj rFkk 

vxys 3 lSd.M esa Hkh 10 ehVj dh nwjh r; djrk 

gSA ;fn Roj.k dks fu;r ekuk tk;s rks vxys 2 

lSd.M esa r; dh x;h nwjh gksxh 

 (1) 8.3 m   

 (2) 9.3 m  

 (3) 10.3 m   

 (4) None of above  

 mijksDr esa ls dksbZ ugha   

 

53. An army vehicle of mass 1000 kg is moving 

with a velocity of 10 m/s and is acted upon 

by a forward force of 1000 N due to the 

engine and a retarding force of 500 N due to 

friction. What will be its velocity after 10 s   

 1000 kg æO;eku dk ,d lSfud okgu 10 m/s ds 

osx ls xfreku gS vkSj bl ij baftu }kjk vkxs dh 

fn’'kk esa 1000 N dk cy ,oa ?k"kZ.k ds dkj.k 500 

N dk voeand cy dk;Zjr~ gSA 10 sec i'pkr~~ 

bldk osx gksxk 

 (1) 5 m/s  (2) 10 m/s  

 (3) 15 m/s  (4) 20 m/s 
 

54. Two particles of equal mass go round a 

circle of radius R under the action of their 

mutual gravitational attraction. The speed of 

each particle is  

 ijLij xq#Roh; vkd"kZ.k ds çHkko esa nks leku 

nzO;eku d.k f=kT;k R ds o`Ùkh; iFk ij xfr dj 

jgs gSaA çR;sd d.k dh pky gksxh 

 (1) 
Gm

1

R2

1
v    

 (2) 
R2

Gm
v    

 (3) 
R

Gm

2

1
v     

 (4) 
R

Gm4
v   
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55. A vessel contains oil (density = 0.8 gm/cm3) 

over mercury (density = 13.6 gm/cm3). A 

homogeneous sphere floats with half of its 

volume immersed in mercury and the other 

half in oil. The density of the material of the 

sphere in gm/cm3 is 

 fdlh ik=k esa ikjs (?kuRo = 13.6 gm/cm3) ds Åij 

rsy (?kuRo = 0.8 gm/cm3) Hkjk gSA ,d lekaxh 

xksyk blesa bl çdkj rSj jgk gS fd mldk vk/kk 

vk;ru ikjs o vk/kk rsy esa Mwck gSA xksys ds inkFkZ 

dk ?kuRo gm/cm3 esa gksxk 

 (1) 3.3   (2) 6.4  

 (3) 7.2   (4) 12.8  
 

56. A ball is released from the top of a tower. 

The ratio of work done by force of gravity in 

first, second and third second of the motion 

of the ball is  

 ,d xsan dks ehukj ds ’'kh"kZ ls NksM+k tkrk gSA xfr 

ds nkSjku xq#Ro cy ds }kjk çFke, f}rh; ,oa 

r`rh; lSd.M esa fd;s x;s dk;Z dk vuqikr gS 

 (1) 1 : 2 : 3  (2) 1 : 4 : 9  

 (3) 1 : 3 : 5  (4) 1 : 5 : 3  
 

57. A stone is dropped into a lake from a tower 

500 metre high. The sound of the splash will 

be heard by the man approximately 

after(Assume g = 10ms–2 and velocity of 

sound = 340m/sec)  

 500 ehVj Å¡ph ehukj ls fdlh >hy esa NksM+s x, 

iRFkj dh ikuh ls Vdjkus dh /ofu] iRFkj NksM+s 

tkus ds le; ls dqN nsj  ckn lqukbZ nsrh gSA ;g 

le;karjky gksxk (ekuk g = 10ms–2 vkSj /ofu dks 

osx = 340m/sec) 

 (1) 11.5 seconds  

 (2) 21 seconds  

 (3) 10 seconds   

 (4) 14 seconds 
 

58. A body moves from rest with a constant 

acceleration of 2/5 sm . Its instantaneous 

speed (in )/ sm  at the end of 10 sec  is  

 ,d oLrq fu;r Roj.k 5 eh@lSd.M 
2 ls fojke ls 

pyuk çkjEHk djrh gSA 10osa lSd.M ds vUr esa 

rkR{kf.kd pky (eh@lSd.M esa) gksxh 

 (1) 50   (2) 5  

 (3) 2   (4) 0.5  
 

59. A 5000 kg rocket is set for vertical firing. The 

exhaust speed is 1ms800  . To give an 

initial upward acceleration of 2ms20  , the 

amount of gas ejected per second to supply 

the needed thrust will be )ms10g( 2  

 5000 fdxzk ds ,d jkWdsV dks Å/oZ mM+ku ds fy, 

rS;kj fd;k x;k gSA jspu pky (exhaust speed) 

800 eh@lSd.M gSA 20 eh@lSd.M 
2 dk izkjfEHkd 

Å/oZ Roj.k iznku djus ds fy, vko’';d iz.kksn 

gsrq izfr lSd.M fu"dkflr xSl dh ek=k gksxh 

10g(  eh@lS 2) 

 (1) 1skg5.127    (2) 1skg5.187 
 

 (3) 1skg5.185    (4) 1skg5.137   
 

60. Suppose the gravitational force varies 

inversely as the thn  power of distance. Then 
the time period of a planet in circular orbit of 
radius R around the sun will be proportional 
to  

 ekuk fd xq#Rokd"kZ.k cy nwjh dh n oha ?kkr ds 

O;qRØekuqlkj ifjofrZr gksrk gSA lw;Z ds pkjksa vksj 

R f=kT;k dh o`Ùkh; d{kk esa ifjØe.k dj jgs fdlh 

xzg dk vkorZdky lekuqikrh gksxk  

 (1) 







 

2

1n

R   (2) 







 

2

1n

R  

 (3) nR    (4) 







 

2

2n

R  
 

PART-IV (Hkkx-IV) : 

CHEMISTRY (jlk;u foKku) 

SECTION  : (Maximum Marks : 60) 

[kaM  : (vf/kdre vad : 60)

 This section contains FIFTEEN (15 questions. 
 Each question has FOUR options (1), (2), (3) 
 and (4). ONLY ONE  of these four option is 
 correct  

Marking scheme : 
  Full Marks : +4 If only the bubble 

 corresponding to the correct option is  
 darkened 

  Zero Marks : 0 If none of the bubble is  
 darkened 

 bl [kaM esa iUnzg (15)  iz'u gSaA  

 izR;sd iz'u esa pkj fodYi (1), (2), (3) rFkk (4) gSaA 

bu pkj fodYiksa esa ls dsoy ,d fodYi lgh gSaA 

vadu ;kstuk : 

  iw.kZ vad % +4 ;fn flQZ lgh fodYi gh pquk x;k  

gSA 

  'kwU; vad %   0  ;fn dksbZ Hkh fodYi ugha pquk x;k 

  gS ¼vFkkZr~ iz'u vuqÙkfjr gS½A 
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61. Which of the following weighs the most ? 

 (1) 1023 molecules of H2   

 (2) 1 mole of H2O 

 (3) 1022 atoms of oxygen   

 (4) 1 mole of N2    

  fuEufyf[kr esa ls fdldk nzO;eku lcls vf/kd 

gksxk \ 

 (1) 1023 gkbMªkstu ds v.kq     

 (2) 1 eksy H2O 

 (3) 1022 ijek.kq vkWDlhtu   

 (4) 1 ,d eksy N2  

 

62. When an ice cube melts, changes in ____ 

occurs. 

 I. State   II. Volume 

 III. Substance  IV. Mass 

 (1) I and II only  (2) I and III only 

 (3) II and III only (4) III and IV only 

 tc ,d cQZ dk VqdM+k fi?kyrk gS rks____ esa 

ifjorZu gksrk gS. 

 I. voLFkk   II. vk;ru 

 III. inkFkZ   IV. nzO;eku 

 (1) dsoy I o II  (2) dsoy I o III  

 (3) dsoy II o III  (4) dsoy III o IV        

 

63. In which of the following, dispersed phase is 

a liquid and dispersion medium is a gas? 

 (1) Cloud    

 (2) Smoke   

 (3) Gel    

 (4) Soap bubble 

 fuEu esa ls fdles ifjf{kIr izkoLFkk es nzo vkSj 

ifj{ksi.k ek/;e xSl gS \ 

 (1) ckny   

 (2) /kqvk¡   

 (3) tSy    

 (4) lkcqu dk cqycqyk    

 

64. The formula unit mass of Na2SO3is : 

 Na2SO3 dk lw=k bdkbZ nzO;eku gS & 

 (1) 172 u  (2) 126 u  

 (3) 142 u  (4) 102 u 

 

65. Mass of 10 electrons are -   

 10 ijek.kq bysDVªkWu dk Hkkj gS % 

 (1) 1.66 × 10–24 g   

 (2) 6.023 × 10–31 g  

 (3) 9.1 × 10–27 g  

 (4) 9.1 × 10–28 g 

 

66. Which of the following is an example of 

homogeneous mixture ? 

 (1) Brass   (2) Muddy water   

 (3) Soil   (4) All    

 fuEu esa ls dkSulk lekWxh feJ.k dk gS \ 

 (1) ihry  (2) xanyk ty  

 (3) feV~Vh  (4) lHkh   

 

67. The hydrogen phosphate of a metal has the 

formula MHPO4. The formula of its chloride 

would be- 

 ,d /kkrq ds gkbMªkstu QkWLQsV dk lw=k MHPO4 

gSA blds DyksjkbM dk lw=k gksxk & 

 (1) MCl   (2) MCl2  

 (3) MCl3  (4) M2Cl3  

 

68. An atom which has a mass number of 14 & 

8 neutrons is -     

 (1) isotope of oxygen   

 (2) isobar of oxygen  

 (3) isotope of carbon  

 (4) isobar of carbon   

 ijek.kq ftlesa nzO;eku la[;k 14 gS vkSj ftlesa 

U;wVªkWu 8 gS -     

 (1) vkWDlhtu dk leLFkkfud   

 (2) vkWDlhtu dk leHkkfjd 

 (3) dkcZu dk leLFkkfud    

 (4) dkcZu dk leHkkfjd   
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69. During evaporation of liquid - 

 (1) the temperature of the liquid rises.  

 (2) the temperature of the liquid falls. 

 (3) the temperature of the liquid remains 

 unaffected.  

 (4)  None of the above is correct 

 nzo ds ok"ihdj.k ds nkSjku & 

 (1) nzo dk rki c<+rk gSA   

 (2) nzo dk rki ?kVrk gSA  

 (3) nzo dk rki vizHkkfor jgrk gSA  

 (4) buesa ls dksbZ ugha   

  

70. The substance which does not sublime on 

heating is - 

 (1) potassium chloride   

 (2) ammonium chloride   

 (3) iodine     

 (4) solid CO2 

 fdl inkFkZ dk m/oZikru xeZ djus ij ugha gksrk gS - 

 (1) ikSVsf'k;e DyksjkbM   

 (2) veksfu;e DyksjkbM  

 (3) vk;ksMhu    

 (4) Bksl CO2    

 

71. When 5 g of calcium is burnt in 2 g of 

Oxygen then 7 g of calcium oxide is 

produced. What mass of calcium oxide will 

be produced when 5 g of calcium reacts with 

20 g of oxygen ? 

 tc 5 xzke dSfY'k;e dks 2 xzke vkWDlhtu dh 

mifLFkfr esa tykrs gSa rks 7 xzke CaO curk gS] 

;fn 5 xzke dSfY'k;e dks 20 xzke vkWDlhtu ds 

lkFk tykrs gS rks fdruk CaO izkIr gksxk \ 

 (1) 7 g   (2) 2 g  

 (3) 25 g   (4) 4 g   

72. The maximum number of electrons in N 

shell is : 

 N dks'k esa bysDVªkWu dh la[;k vf/kdre gksrh gS& 

 (1) 2    (2) 8  

 (3) 18   (4) 32    

 

73. Which of the following is not a state of matter ? 

 (1) Soild   (2) Liquid  

 (3) Gas   (4) Boiling point  

 fuEu esa ls dkSulh inkFkZ dh voLFkk ugha gS \ 

 (1) Bksl   (2) nzo  

 (3) xSl   (4) DoFkukad  

 

74. Which of the following is an example of 

colloidal solution ?          

 (1) Milk     

 (2) Writing ink   

 (3) Tooth paste    

 (4) All 

 buesa ls dkSulk dksykbMy ?kksy dk mnkgj.k gS?  

 (1) nw/k    

 (2) fy[ku okyh L;kgh   

 (3) nUr eatu    

 (4) lHkh    

 

75. If the molecular mass of a compound is 74.5 

then the compound is : 

 fdlh ;kSfxd dk vkf.od nzO;eku 74.5 gS rks 

;kSfxd gS % 

 (1) KCl    (2) HCl    

 (3) NaCl  (4) LiCl  
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SAMPLE TEST PAPER (STP) 

(For Class-XI Appearing / Passed Students) 

CLASS-XII (FOR CLASS XI TO XII MOVING STUDENT) 
 

TARGET: NEET (UG) 

 

02 

 

S.No. Part Subject Type of Question 
No. of  

Questions 

Marking Scheme 

Full Marks 
per Qs. 

Negative 
Marking 

Tota
l 

1 to 25 I Chemistry 
Single Choice Questions (Only One 
Correct Option)   (dsoy ,d fodYi lgh) 

25 4 0 100 

26 to 50 II Physics 
Single Choice Questions (Only One 
Correct Option)   (dsoy ,d fodYi lgh) 

25 4 0 100 

51 to 85 III Botany 
Single Choice Questions (Only One 
Correct Option)   (dsoy ,d fodYi lgh) 

25 4 0 100 

86 to 100 IV Zoology 
Single Choice Questions (Only One 
Correct Option)   (dsoy ,d fodYi lgh) 

25 4 0 100 

Total 100 
 

400 

  

PART-I (Hkkx-I) : 

CHEMISTRY (jlk;u foKku) 
 

SECTION  : (Maximum Marks : 100) 

[kaM  : (vf/kdre vad : 100) 

 This section contains TWENTY FIVE (25) 

 questions. 

 Each question has FOUR options (1), (2), 

 (3) and (4). ONLY ONE  of these four option 

 is correct  

 Marking scheme : 

 Full Marks : +4  If only the bubble 

 corresponding to the correct option is 

 darkened 

 Zero Marks :   0  If none of the bubble is 

 darkened 

 bl [kaM esa iPphl (25) iz'u gSaA  

 izR;sd iz'u esa pkj fodYi (1), (2), (3) rFkk (4) gSaA 

bu pkj fodYiksa esa ls dsoy ,d fodYi lgh gSaA 

 vadu ;kstuk : 

  iw.kZ vad % +4 ;fn flQZ lgh fodYi gh pquk 

 x;k gSA 

  'kwU; vad %   0  ;fn dksbZ Hkh fodYi ugha pquk 

 x;k gS ¼vFkkZr~ iz'u vuqÙkfjr gS½A 
 

 
 

1.  In the equation   

 NaOH + HNO
3
  NaNO

3
 + H

2
O nitric acid 

is acting as -  

 (1) an oxidising agent   

 (2) an acid    

 (3) a nitrating agent   

 (4) a dehydrating agent 

 NaOH + HNO
3
 NaNO

3
 + H

2
O  

 mijksDr vfHkfØ;k esa ukbfVªd vEy gS] ,d & 

 (1) vkWDlhdkjd    (2) vEy  

 (3) ukbVªhdkjd  (4) futZyhdkjd 

 

2. Which of the following acid can combine 

with its own salt again ? 

 fuEu esa ls dkSulk vEy vius gh yo.k ls nksckjk 

la;ksx dj ldrk gS \ 

 (1) HF    (2) HBr    

 (3) HCl   (4) H2SO4 

 

3. Which of the following pair is/are correct : 

 (i) Malachite  - Copper   

 (ii) Cinnabar  - Mercury 

 (iii) Fluorspar  - Silver    

 (iv) Galena  - Lead  

 (1) (i), (ii), & (iii)   (2) (ii), (iii) &(iv)  

 (3) (i), (iii) & (iv)  (4) (i), (ii) & (iv) 
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 fuEu esa ls dkSulk/dkSuls ;qXe lgh gSa \ 

 (i) eSysdkbV  - dkWij    

 (ii) flusckj  - edZjh  

 (iii) ¶yksjLikj  - flYoj 

 (iv) xsysuk  - ysM  

 (1) (i), (ii) o (iii)   (2) (ii), (iii) o (iv)  

 (3) (i), (iii) o (iv)  (4) (i), (ii) o (iv) 
 

4. Which of the following carbon chains is 
different from the others ? 

 fuEu esa ls dkSulh dkcZu J̀a[kyk vU; ls fHkUu gS \ 

 (1)  (2)  

 (3)   (4)   

 

5. The electronic configuration of the element 
which is just above the element with atomic 
number 43 in the same periodic group is -  

 (1) 1s2, 2s2 2p6, 3s2 3p6 3d5, 4s2    
 (2) 1s2, 2s2 2p6, 3s2 3p6 3d10, 4s2 4p5 

 (3) 1s2, 2s2 2p6, 3s2 3p6 3d6, 4s1    
 (4) 1s2, 2s2 2p6, 3s2 3p6 3d10, 4s2 4p6 

 leku vkorhZ lewg ¼oxZ½ esa] ijek….kq Øekad 43 

okys rRo ds Bhd Åij vkus okys rRo dk 

bysDVªkWfud foU;kl gS & 

 (1) 1s2, 2s2 2p6, 3s2 3p6 3d5, 4s2   

 (2) 1s2, 2s2 2p6, 3s2 3p6 3d10, 4s2 4p5 

 (3) 1s2, 2s2 2p6, 3s2 3p6 3d6, 4s1                                              

 (4) 1s2, 2s2 2p6, 3s2 3p6 3d10, 4s2 4p6 

 

6. In the equation,  

 a Al + bH
2
SO

4
   c Al

2
(SO

4
)

3
  + dH

2
  

 a, b, c, d are respectively - 

 bl lehdj.k esa,  

 a Al + bH
2
SO

4
   c Al

2
(SO

4
)

3
  + dH

2
  

 bl lehdj.k esa a, b, c, d Øe'k% gSa - 

 (1) 2, 3, 1, 1  (2) 2, 3, 1, 3  
 (3) 2, 3, 2, 3  (4) 2, 2, 3, 3 
 

7. pH of Blood is :- 

 jDr dh pH gS % 

 (1) 6.4 (2) 7.4   (3) 4.7 (4) 8.4 
 

8.  To obtain chromium from chromic oxide 
(Cr2O3), the method used is - 

 (1) carbon reduction  
 (2) carbon monoxide reduction 
  (3) alumino-thermic       
 (4) electrolytic reduction 

 dkSulh fof/k Øksfed vkWDlkbM ls Øksfe;e izkIr 

djus ds fy;s mi;ksx esa vkrh gS (Cr2O3),- 

 (1) dkcZu vip;u       

 (2) dkcZu eksuksDlkbM vip;u 

  (3) ,yqfeuk- FkfeZd   

 (4) oS|qr vi?kVuh vip;u 

9. Which of the following properties is not true 

regarding organic compounds: 

 (1) They are generally covalent compounds 

 (2) They have high melting and boiling point 

 (3) They are generally insoluble in water  

 (4) They generally show isomerism 

 fuEu esa ls dkSuls xq.k dkcZfud ¼tSfod½ feJ.k 

;kSfxd ds fy, lR; ugha gS : 

 (1) og lkekU;r% lgla;kstd ;kSfxd gS   

 (2) muds xyukd o DoFkukad fcUnq vf/kd gksrs gSa 

 (3) og lkekU;r% ty esa v?kqyu'khy gS  

 (4) os lkekU;r% leko;ork iznf'kZr djrs gSa  

 

10. Which of the following sequence contain 

atomic number of only Representative 

element ? 

 fuEu esa ls dkSulk Øe dsoy izfrfu/kh rRoksa ds 

ijek.kq  Øekad dks j[krk gS \ 

 (1) 3,33,53,87              (2) 2,10,22,36      

 (3) 7,17,25,37               (4) 9,35,31,86 
 

11. Which of the following reactions is/are also 

called partner exchange reactions ? 

 (1) Neutralisation reactions   

 (2) Precipitation reactionsd 

 (3) Both (1) & (2)    

 (4) Chemical decomposition 

 fuEu esa ls fdl vfHkfØ;k dks lkFkh fofue; 

vfHkfØ;k dgrs gSa \ 

 (1) mnklhuhdj.k vfHkfØ;k    

 (2) vo{ksi.k vfHkfØ;k 

 (3) (1) o (2) nksuksa    

 (4) jklk;fud vi?kVu 

 

12.  Metal carbonates and hydrogen carbonates 

react with acid to give :- 

 (1) Carbon dioxide  

 (2) Hydrogen   

 (3) Sulphur dioxide  

 (4) Carbon monoxide 

 /kkrq dkcksZusV o gkbMªkstu dkcksZusV vEy ds lkFk 

fØ;k djds nsrs gSa :- 

 (1) dkcZuMkbvkWDlkM  

 (2) gkbMªkstu   

 (3) lYQj MkbZvkWDlkbM  

 (4) dkcZu eksuksDlkbM 

 

13.  Malchite is an ore of :  

 esysdkbV ,d v;Ld gS : 

 (1) Fe      (2) Cu     

 (3) Hg     (4) Zn 

C –– C –– C –– C 

C      C –– C  

C – C – C

 C – C 
| |

 C – C 

C – C    C

C – C – C – C  
| | C – C – C – C  

|
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14. Graphite is used as a lubricant in machines 
because it has a very high melting point and 
also it: 

 (1) Is crystalline     
 (2) Has layer structure 
 (3) Is a giant molecule    
 (4) Is a liquid at room temperature 

 xzsQkbV e'khu esa Lusgd ds :i esa mi;ksx gksrk gS 

D;ksafd bldk xyukad fcUnq vf/kd gksrk gS vkSj 

blds vykok ;g  

 (1) fØLVyh; gS   

 (2) ijrnkj lajpuk j[krk gS 

 (3) ,d cM+k v.kq gS    

 (4) dejs ds rki ij nzo gS 

 
15. The no. of electrons in the outermost shell 

of a non metal is  : 

 fdlh vèkkrq ds ckáre dks'k esa bysDVª‚uksa dh la[;k gS 

 (1) 1,2,3 or 4    (2) 2,3,4 or 5   
 (3) 4,5,6,7or 8     (4) 4,5,0 or 2 
 
16. The basis of black and white photography is - 
 (1) decomposition of lead salts   
 (2) combination of lead salts 
 (3) decomposition of silver salts   
 (4) combination of silver salts 

 dkyh vkSj lQsn QksVksxzkQh dk vk/kkj gS : 

 (1) ysM ¼lhlk½ ds yo.k dk vi?kVu  

 (2) ysM ¼lhlk½ yo.k dk tqM+uk 

 (3) pk¡nh ¼flYoj½ ds yo.k dk vi?kVu  

 (4) pk¡nh ¼flYoj½ yo.k dk tqM+uk  

 
17. Which of the following is combination 

reaction ? 

 fuEu esa ls dkSulh la;kstu vfHkfØ;k gS \  

 (1) Fe + S  FeS   

 (2) 2HgO  2Hg + O2  

 (3) Zn + dil. H2SO4  ZnSO4(aq.) + H2  

 (4) None of these  buesa ls dksbZ ugha 

 
18. Which of the alkali hydroxide is most basic ? 

 fuEu esa ls dkSulk {kkjh; ¼,Ydyh½ gkbMªksDlkbM 

izcy {kkj gS \ 

 (1) KOH  (2) NaOH 
 (3) LiOH  (4) CsOH 
 
19. In bio lab chemical used to preserve 

specimens is : 
 (1) formaldehyde  (2) ether  
 (3) formic acid   (4) none 

 tho iz;ksx'kkyk esa uequs dks lqjf{kr j[kus ds fy, 

dkSuls jlk;u dk mi;ksx fd;k tkrk gS \ 

 (1) QksesZfYMgkbM  (2) bZFkj   

 (3) QksfeZd vEy  (4) dksbZ ugha 
 

20. The oxides of non metal which is neutral is  

 v/kkrq dk vkWDlkbM tks fd mnklhu gS % 

 (1) SO2                   (2) CO2   

 (3) CO    (4) NO2 

 

21. Which element among these is f-block 

element ? 

 buesa ls dkSulk rRo f-CykWd rRo gS \ 

 (1) Hf    (2) Ra   

 (3) Cf   (4) Ru  
 

22. The structure of 4-Methyl hex-2-yne is - 

 4- esfFky gsDl -2- vkbu dh lajpuk gS % 

 (1)  

  

 (2)  

 (3)   

 (4) None of these buesa ls dksbZ ugha  

 

23. Which of the following is a sulphide ore ? 

 (1) Bauxite  (2) Haematite   

 (3) Cuprite   (4) Iron pyrites 

 fuEu esa ls dkSulk lYQkbM v;Ld gS \ 

 (1) ckWDlkbM  (2) gSesVkbV  

 (3) D;qijkbV  (4) vk;ju ik;jkbV 

 

24. According to Newlands’ law of octaves 3rd 

element will resemble in its properties to - 

 (1) ninth element   

 (2) eighth element  

 (3) tenth element   

 (4) eleventh element 

 U;wyS.M ds v"Vd fu;e ds vuqlkj rhljk rRo 

xq.k/keZ lekurk n'kkZ;sxk - 

 (1) ukSaok rRo  (2) vkBok¡ rRo  

 (3) nlok¡ rRo  (4) X;kgjok¡ rRo 

 

25. Which of the following gases is evolved in 

the given reaction ? 

 nh xbZ vfHkfØ;k esa ls fuEu esa ls dkSulh xSl 

fudysxh \ 

 Zn(s) + dil. H2SO4  ZnSO4(aq) + ? 

 (1) N2   (2) He 

 (3) H2   (4) NH3 

3

323

CH
|

CH–CH–CH–CHCH–CH 

3

323

CH
|

CH–CC–CH–CH–CH 

3

323

CH
|

CH–CH–CH–CC–CH 
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PART-II (Hkkx-II): 

PHYSICS (HkkSfrd foKku) 
 

SECTION  : (Maximum Marks : 100) 

[kaM  : (vf/kdre vad : 100) 

 This section contains TWENTY FIVE (25)
 questions. 
 Each question has FOUR options (1), (2), 
 (3) and (4). ONLY ONE  of these four option 
 is correct  
 Marking scheme : 

 Full Marks : +4  If only the bubble 
 corresponding to the correct option is 
 darkened 
  Zero Marks :   0  If none of the bubble is 
 darkened 

 bl [kaM esa iPphl (25) iz'u gSaA  

 izR;sd iz'u esa pkj fodYi (1), (2), (3) rFkk (4) gSaA 

bu pkj fodYiksa esa ls dsoy ,d fodYi lgh gSaA 

 vadu ;kstuk : 

  iw.kZ vad % +4 ;fn flQZ lgh fodYi gh pquk 

 x;k gSA 

  'kwU; vad %   0  ;fn dksbZ Hkh fodYi ugha pquk 

 x;k gS ¼vFkkZr~ iz'u vuqÙkfjr gS½A 
 

 

26. In the figure shown, the total resistance 

between A and B is 

 fn;s x;sa fp=k esa A vkSj B ds chp dqy izfrjks/k 

gksxk 

 

A 

B 

2 1 1 1 1 1 

2 1 1 1 1 1 

8 8 4 

D 

C 

 
 (1)  12  (2) 4 

 (3) 6   (4) 8 

 

27. A straight wire of length (2) metre is carrying 

a current of 2A and the magnetic field due to it 

is measured at a point distant 1 cm from it. If 

the wire is to be bent into a circle and is to carry 

the same current as before, the ratio of the 

magnetic field at its centre to that obtained in 

the first case would be  

 ,d lh/ks rkj dh yEckbZ (2) ehVj rFkk blds 

}kjk çokfgr /kkjk 2A gSA blls 1 cm dh nwjh ij 

pqEcdh; {ks=k ekik x;kA;fn rkj dks eksM+dj 

o`Ùkkdkj dq.Myh cuk nh tk;s ,oa blds o`Ùk ds 

dsUnz ij pqEcdh; {ks=k dh eki dh xbZ rc bu 

nksuksa dk vuqikr gksxk 

 (1) 50 : 1  (2) 1 : 50 (2)  

 (3) 100 : 1  (4) 1 : 100 

28. A ray of light propagates from glass 

(refractive index =
3

2
) to water (refractive 

index = 
4

3
).  The value of the critical angle 

 izdk'k dh ,d fdj.k dk¡p ¼viorZukad =
3

2
½ ls ikuh 

¼viorZukad =
4

3
½ esa tkrh gSA Økafrd dks.k dk eku gksxk% 

 (1) sin–1(1/2)   (2) 















9

8
sin 1   

 (3) )9/8(sin 1
  (4) )7/5(sin 1

 

 
29. A wire of length 5 m and radius 1 mm has a 

resistance of 1 ohm. What length of the wire 
of the same material at the same 
temperature and of radius 2 mm will also 
have a resistance of 1 ohm  

 5 ehVj yEckbZ ,oa 1 feeh f=kT;k ds rkj dk 

izfrjks/k 1 vksã gSA mlh inkFkZ dh rkj ftldh 

f=kT;k 2 feeh gS] mlh rki ij ;fn izfrjks/k 1 
vksã gS] rks mldh yEckbZ gksxh  

 (1) 1.25 m  (2) 2.5 m 
 (3) 10 m  (4) 20 m 
 
30. A vertical wire kept in Z-X plane carries a 

current from Q to P (see figure). The 
magnetic field due to current will have the 
direction at the origin O along 

 

Y 
Z ' 

Q 

i 
X X 

Y 

Z P 

O 

 
 (1) OX   (2) OX'   
 (3) OY   (4) OY'  

 ,d Å/okZ/kj rkj Z-X ry eas gS] ftlesa fo|qr /kkjk 
Q ls P dh vksj cg jgh gS (fp=k nsf[k;s)A /kkjk ds 

dkj.k mRiUu pqEcdh; {ks=k dh fn'kk ewy fcUnq O 

ij gksxh  
 

Y 
Z ' 

Q 

i 
X X 

Y 

Z P 

O 

 
 (1) OX ds vuqfn'k (2) 'OX  ds vuqfn'k 

 (3) OY  ds vuqfn'k (4) 'OY  ds vuqfn'k 
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31. An object is placed at a distance of 20 cm 
from a convex lens of focal length 10 cm. 
The image is formed on the other side of the 
lens at a distance 

 ,d oLrq dks 10 lseh- Qksdl nwjh okys mÙky ySal 

ls 20 lseh- nwjh ij j[kk x;k gSA izfrfcEc ySal ds 

nwljh rjQ fdruh nwjh ij cusxkA 

 (1) 20 cm  (2) 10 cm 
 (3) 40 cm  (4) 30 cm 
 

32. Equivalent resistance between the points A 

and B is (in ) 

 fuEu ifjiFk esa fcUnqvksa A rFkk B ds chp izHkkoh 

izfrjks/k vksã () esa gksxk 
 

B 1 A 1 1 1 1 

 

 (1) 
5

1
    (2) 

4

1
1    

 (3) 
3

1
2   (4) 

2

1
3  

 

33. An electric potential difference will be 
induced between the ends of the conductor 
shown in the diagram, when the conductor 
moves in the direction 

 

N S 

L 

M 

Q 

P 
 

 (1)  P   (2) Q   
 (3)  L   (4) M 

 layXu fp=k esa fn[kk;s vuqlkj] pkyd esa izsfjr 

foHkokUrj mRié gksrk gS] tc mls pyk;k tkrk gS 

 (1) P ds vuqfn’'k   (2) Q dh fn’'kk esa  
 (3) L dh fn’'kk esa   (4) M dh fn’'kk esa 
 

34. If the critical angle for total internal reflection 
from a medium to vacuum is 30°, the 
velocity of light in the medium is 

 fdlh ek/;e ls fuokZr~ esa iw.kZ vkUrfjd ijkorZu ds fy, 

ØkfUrd dks.k 30° gS rks ek/;e esa çdk’k dk osx gS 

 (1) 8103  m/s   (2) 8105.1   m/s 

 (3) 8106  m/s   (4) 
8103  m/s  

 

35. Masses of three wires of copper are in the 
ratio of 1 : 3 : 5 and their lengths are in the 
ratio of .1:3:5  The ratio of their electrical 

resistances are 

 rhu rkjksa ds nzO;eku 1 : 3 : 5 ds vuqikr esa gS ,oa 

mudh yEckb;k¡ Øe’'k% 5 : 3 : 1 ds vuqikr esa gSA 

muds çfrjks/kksa dk vuqikr gS 

 (1) 1 : 3 : 5   (2) 5 : 3 : 1  
 (3) 1 : 15 : 125  (4) 125 : 15 : 1 

36. The north pole of a bar magnet is moved 

swiftly downward towards a closed coil and 

then second time it is raised upwards slowly. 

The magnitude and direction of the induced 

currents in the two cases will be of 
  

 First case Second case 

(1) Low value 
clockwise 

Higher value 
anticlockwise 

(2) Low value 

clockwise 

Equal value 

anticlockwise 

(3) Higher value 

clockwise 

Low value 

clockwise 

(4) Higher value 

anticlockwise 

Low value 

clockwise 

 ,d cUn dq.Myh ds Åij ls uhps dh vksj ,d 

NM+ pqEcd dk mÙkjh /kqzo rsth ls ys tkrs gSa vkSj 

nwljh ckj mlh pqEcd dks /khjs ls Åij mBkrs gSaa 

nksuksa fLFkfr;ksa esa mRié izsfjr /kkjkvksa ds eku vkSj 

fn’'kk,¡ gksaxh 
  

 igyh fLFkfr nwljh fLFkfr 

(1) de eku dh 

nf{k.kkorZ /kkjk 

T;knk eku dh okekorZ 

/kkjk 

(2) de eku dh 

nf{k.kkorZ /kkjk 

cjkcj eku dh okekorZ 

/kkjk 

(3) T;knk eku dh 

nf{k.kkorZ /kkjk 

de eku dh nf{k.kkorZ 

/kkjk 

(4) T;knk eku dh 

okekorZ /kkjk 

de eku dh nf{k.kkorZ 

/kkjk 
 

37. A symmetric double convex lens is cut in two 

equal parts by a plane perpendicular to the 

principal axis. If the power of the original 
lens was 4 D, the power of a cut lens will be 

 ,d lefer mHk;ksÙky ySal dks eq[; v{k ds yEcor~ 

nks leku Hkkxksa esa dkVk tkrk gSA ;fn ewy ySal dh 

{kerk 4 D gS rks dkVsa x;s ySal dh {kerk gksxhA 

 (1) 2 D   (2) 3 D  

 (3) 4 D   (4) 5 D 
 

38. Two electric bulbs rated 1P  watt V volts and 

2P  watt V volts are connected in parallel and 

V volts are applied to it. The total power will be 

 1P  okWV] V oksYV rFkk 2P  okWV] V oksYV ds nks 

fcTkyh ds cYcksa dks lekUrj Øe esa tksM+dj V 

oksYVrk ij yxk;k tk;s rks dqy 'kfä gksxh 

 (1) wattPP 21   okWV  

 (2) 21PP watt okWV  

 (3) watt
PP

PP

21

21


 okWV  

 (4) watt
PP

PP

21

21   okWV 
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39. In the figure, what is the magnetic field at the 

point O 

 fn;s x;s fp= esa fcUnq O ij pqEcdh; {ks=k dh rhozrk 

gksxh   

 
I 

O r 

 

 (1) 
r4

I0




  (2) 

r2

I

r4

I 00









   

 (3) 
r4

I

r4

I 00







  (4) 

r4

I

r4

I 00







  

 

40. Immiscible transparent liquids A, B, C, D 

and E are placed in a rectangular container 

of glass with the liquids making layers 

according to their densities. The refractive 

index of the liquids are shown in the 

adjoining diagram. The container is 

illuminated from the side and a small piece 

of glass having refractive index 1.61 is 

gently dropped into the liquid layer. The 

glass piece as it descends downwards will 

not be visible in 

 A 

B 

C 

D 

E 

1.51 

1.53 

1.61 

1.52 

1.65 
 

 (1) Liquid A and B only   

 (2) Liquid C only   

 (3) Liquid D and E only     

 (4) Liquid A, B, D and E 

 dk¡p ds ,d çdkf’kr crZu esa u fefJr gksus okys 

ikjn’khZ nzo A, B, C, D rFkk E gSa, tks vius ?kuRoksa 

ds vuqlkj irsZa cukrs gSaA nzoksa ds viorZukad fp=kksa 

esa fy[ks gSaA dk¡p dk ,d VqdM+k ftldk viorZukad 

1.61 gS ,oa nzo esa NksM+ fn;k tkrk gSA uhps fxjrk 

dk¡p dk VqdM+k 

 (1) nzo  A o B esa fn[kkbZ ugha nsxk    

 (2) dsoy nzo C esa fn[kkbZ ugha nsxk 

 (3) D rFkk E esa fn[kkbZ ugha nsxk    

 (4) A, B, D rFkk E esa fn[kkbZ ugha nsxk 

41. Two uniform wires A and B are of the same 
metal and have equal masses. The radius of 
wire A is twice that of wire B. The total 
resistance of A and B when connected in 
parallel is 

 (1) 4  when the resistance of wire A is 

 4.25    

 (2) 5  when the resistance of wire A is 

 4.25  

 (3) 4  when the resistance of wire B is 

 4.25   

 (4) 4  when the resistance of wire B is 

 4.25  

 nks ,dleku rkj A o B ,d gh /kkrq o cjkcj 

æO;ekuksa ds gSaA rkj A dh f=kT;k B ls nqxuh gSA A 
,oa B dks lekUrj Øe esa tksM+us ij dqy çfrjks/k gksxk 

 (1) 4  tc rkj A dk çfrjks/k 4.25  gS  

 (2) 5  tc rkj A dk çfrjks/k 4  gS 
 (3) 4  tc rkj B dk çfrjks/k 4.25  gS  

 (4) 5   tc rkj B dk çfrjks/k 4  gS 
 

42. Two long straight wires are set parallel to 
each other. Each carries a current i in the 
same direction and the separation between 
them is 2r. The intensity of the magnetic field 
midway between them is  

 nks yEcs ,oa lh/ks rkjksa dks ,d&nwljs ds lekUrj 

j[kk x;k gSA çR;sd rkj esa I ,sfEi;j dh /kkjk 

leku fn’'kk esa cg jgh gS] ,oa muds chp vUrjky 

2 r gSA buds chp e/; fcUnq ij pqEcdh; {ks=k dh 

rhozrk gS 

 

P 

 
 (1) r/io    (2) r/i4 o  

 (3) Zero ¼’'kwU;½  (4) r4/io  
 

43. A convex mirror of focal length f forms an 

image which is 
n

1
 times the object. The 

distance of the object from the mirror is 

 f Qksdl nwjh okys mÙky niZ.k }kjk cus çfrfcEc 

dk vkdkj oLrq ds vkdkj ls 
n

1
 xquk gSA oLrq dh 

niZ.k ls nwjh gksxh 

 (1) f)1n(    (2) f
n

1n







 
  

 (3) f
n

1n







 
  (4) f)1n(   
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44. An electron (charge = 1.6 × 10–19 coulomb) 

is moving in a circle of radius 5.1 × 10–11 m 

at a frequency of 6.8 × 1015 revolutions/sec.  

The equivalent current is approximately 

 ,d bysDVªkWu ¼vkos’'k = 1.6 × 10–19 dwykWe½ 
11101.5   ehVj f=kT;k dh d{kk esa 6.8 × 1015 

pDdj@lSd.M dh vkof̀Ùk ls ifjHkze.k dj jgk gSA 

rqY; /kkjk dk eku gS yxHkx  

 (1) 3101.5   amp (2) 3108.6   amp 

 (3) 3101.1   amp (4) 3102.2   amp 
 

45. A cell is connected between the points A 

and C of a circular conductor ABCD of 

centre O with angle AOC = 60°. If B1 and B2 

are the magnitudes of the magnetic fields at 

O due to the currents in ABC and ADC  

respectively, the ratio 
2

1

B

B
 is   

 ,d o`Ùkkdkj pkyd ABCD, ftldk dsUnz O ,oa 

 AOC = 60° gS] ds fcUnqvksa A o C ds chp ,d 

cSVjh dks tksM+k x;k gSA  ;fn ABC ,oa ADC esa 

çokfgr /kkjkvksa ds dkj.k dsUnz O ij mRiUu 

pqEcdh; {ks=kksa ds ifjek.k Øe’'k% B1 o B2 gSa] rks 

vuqikr 
2

1

B

B
 gS 

 

300
o
 

B 

C A 

D 

60
o
 

O 

 
 (1) 0.2   (2) 6  

 (3) 1    (4) 5 
 

46. The minimum distance between the object 

and its real image for concave mirror is 

 vory niZ.k ds lkeus fLFkr fdlh oLrq o blds 

okLrfod çfrfcEc ds chp U;wure~ nwjh gksxh 

 (1) f    (2) 2f 

 (3) 4f   (4) Zero ¼'kwU;½ 
 

47. The current is flowing in south direction 

along a power line. The direction of 

magnetic field above the power line 

(neglecting earth's field) is 

 (1) South   (2) East   

 (3) North  (4) West 

 ,d 'kfDr ykbu esa nf{k.k fn'kk esa /kkjk cg jgh 

gSA 'kfDr ykbu ds Åij dh vksj pqEcdh; {ks=k dh 

fn'kk gksxh 

 (1) nf{k.k dh vksj  (2) iwoZ dh vksj   

 (3) mÙkj dh vksj  (4) if'pe dh vksj  

 

48. A current of 2 A flows in a system of 
conductors as shown. The potential 

difference )VV( BA   will be 

 fp=k esa n’'kkZ;s ifjiFk esa 2 ,sfEi;j dh /kkjk izokfgr 

gksrh gS] rks foHkokUrj )VV( BA   dk eku gksxk 

 

2A 

3 2 

3 2 

B 

A 

D C 

 
 (1) +2V   (2) +1V  
 (3) –1V   (4) –2V  
 

49. A beam of light is converging towards a 
point I  on a screen. A plane glass plate 
whose thickness in the direction of the beam 
= t , refractive index =  , is introduced in 

the path of the beam. The convergence 
point is shifted by 

 (1) 











1
1t  away  (2) 












1
1t  away 

 (3) 












1
1t  nearer (4) 













1
1t  nearer 

 ,d çdk’k fdj.k iq¡t insZ ij fdlh fcUnq I ij 

vfHklfjr gks jgh gSA ,d lery dk¡p dh lekUrj 

IysV ftldh eksVkbZ t rFkk viorZukad   gS, dks 

fdj.k iq¡t ds iFk esa j[kk tkrk gS rks vfHklkjh 

fcUnq foLFkkfir gks tk;sxk 

 (1) 











1
1t  nwj   (2) 












1
1t  nwj  

 (3) 











1
1t  ikl  (4) 












1
1t  ikl 

 
50. A torch bulb rated as 4.5 W, 1.5 V is 

connected as shown in the figure. The e.m.f. 
of the cell needed to make the bulb glow at 
full intensity is 

 fp=k ds vuqlkj ,d VkWpZ ds cYc dks ftl ij 4.5 

W rFkk 1.5 V fy[kk gS] cSVjh ls lEcfU/kr dj fn;k 

tkrk gSA bl cYc dks iwjh rhozrk ls pedkus ds fy;s 

lsy dk fo- ok- cy vko’';d gksxk 

 

E(r=2.67) 

1 

4.5 W 

1.5 V 

 
 (1) 4.5 V   (2) 1.5 V  
 (3) 2.67 V   (4) 13.5 V 
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PART-III (Hkkx-III): 

BOTANY (ouLifr foKku) 
 

SECTION  : (Maximum Marks : 100) 

[kaM  : (vf/kdre vad : 100) 

 This section contains TWENTY FIVE (25)
 questions. 
 Each question has FOUR options (1), (2), 
 (3) and (4). ONLY ONE  of these four option 
 is correct  
 Marking scheme : 

 Full Marks : +4  If only the bubble 
 corresponding to the correct option is 
 darkened 
  Zero Marks :   0  If none of the bubble is 
 darkened 

 bl [kaM esa iPphl (25) iz'u gSaA  

 izR;sd iz'u esa pkj fodYi (1), (2), (3) rFkk (4) gSaA 

bu pkj fodYiksa esa ls dsoy ,d fodYi lgh gSaA 

 vadu ;kstuk : 

  iw.kZ vad % +4 ;fn flQZ lgh fodYi gh pquk 

 x;k gSA 

  'kwU; vad %   0  ;fn dksbZ Hkh fodYi ugha pquk 

 x;k gS ¼vFkkZr~ iz'u vuqÙkfjr gS½A 
 

 

51. How many molecules of oxygen (O2) are 

used during the glycolysis of one glucose 

molecule? 

 ,d Xywdkst v.kq ds Xykbdksfyfll ds nkSjku 

vkWDlhtu ds fdrus v.kq mi;ksx fd;s tkrs gSa & 

 (1) 0    (2) 1   

 (3) 36    (4) 8 

  

52. What is common between glycolysis & lactic 

acid fermentation?  

 (1) Both generate NADH + H+   

 (2) Both occur in only anaerobic condition 

 (3) Both do not release CO2   

 (4) Both proceed in RBCs. 

 Xykbdksykbfll rFkk ysfDVd vEy fd.ou ds chp 

D;k mHk;fu"B gS 

 (1) nksuksa NADH + H+ mRiUu djrs gSa 

 (2) nksuksa dsoy vok;oh; 'olu esa gksrs gSa  

 (3) nksuksa esa CO2 eqDr ugha gksrh gSa   

 (4) nksuksa RBCs esa gksrs gSa 

53. Which is not true for glycolysis ?  

 (1) End products are CO2 and H2O  

 (2) Substrate level phosphorylation 

  (3) Production of ATP    

 (4) Expenditure of ATP  

 Xykbdksfyfll ds fy;s D;k vlR; gS  

 (1) CO2 ,oa H2O vafre mRikn gSa   

 (2) ;g lCkLVsªV ysoy QkWLQksjkbys'ku gS  

  (3) blesa ATP dk fuekZ.k gksrk gS  

 (4) blesa ATP dk O;; (Expenditure) gksrk gSa 

 

54. Anaerobic products of fermenation are   

 (1) Alcohol and lipoprotein    

 (2) Ether and nucleic acid  

 (3) Protein and nucleic acid 

 (4) Alcohol & lactic acid 

 fd.ou ds vok;oh; mRikn gS & 

 (1) ,YdksgkWy o ykbiksçksVhu   

 (2) bZFkj o U;wfDyd vEy 

 (3) çksVhu o U;wfDyd vEy    

 (4) ,YdksgkWy rFkk ySfDVd vEy  

 

55. Trace element in plants is  

 ikniksa esa __________lw{e rRo gS % 

 (1) K   (2) P 

 (3) Zn   (4) N 

 

56. Hydroponics is    

 (1) nutrient less culture  

 (2) water less culture  

 (3) soilless culture  

 (4) none of these 

 gkbMªksiksfuDl gSA   

 (1) iks"kd rRo jfgr lao/kZu   

 (2) ty jfgr lao/kZu   

 (3) e`nk jfgr lao/kZu   

 (4) buesa ls dksbZ ugha 

 

57. The mineral element in chlorophyll and 

haemoglobin is respectively        

 (1) Ca and Mg  (2) Co and Fe  

 (3) Mg and Fe  (4) Cd and Fe 

 i.kZgfjr ,oa gheksXyksfcu es mifLFkr [kfut rRo 

Øe'k% gSA         

 (1) Ca rFkk Mg  (2) Co rFkk Fe  

 (3) Mg rFkk Fe  (4) Cd rFkk Fe 
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58. The element which is required in largest 

quantites by plants   

 (1) Phosphorus  (2) Nitrogen  

 (3) Sulphur  (4) Calcium 

 rÙo tks ikniksa dks lokZf/kd ek=kk esa vko';d gksrk gSA 

 (1) QkLQksjl   (2) ukbVªkstu  

 (3) lYQj   (4) dSfYl;e 

 

59. Plants require sulphur for  

 (1) ATP synthesis  

 (2) Protein synthesis  

 (3) Glucose synthesis  

 (4) DNA replication. 

 ikniksa dks lYQj dh vko';drk fdlfy,  

gksrh gS&     

 (1) ATP la'ys"k.k  (2) izksVhu la'ys"k.k  

 (3) Xywdkst la'ys"k.k  (4) DNA iqujko`fÙk 

 

60. The ion controlling stomatal movement is 

 ja/kzh; xfr dks fu;af=kr djus okyk vk;u gSA  

 (1) Na+   (2) Ca2+  

 (3) Mg2+  (4) K+ 

 

61. The most abundant element found in plants is 

 (1) Carbon  (2) Nitrogen  

 (3) Iron   (4) Manganese. 

 ikniksa esa lcls izpqj ek=kk esa ik;s tkus okyk  

rÙo gSaA               

 (1) dkWcZu  (2) ukbVªkstu   

 (3) vk;ju   (4) eSaxuht  

 

62. Deficiency of iron first appears in the form of 

interveinal chlorosis on     

 (1) young leaves (2) old leaves.  

 (3)  young fruits.  (4) young flowers 

 vk;ju dh vi;kZIrrk vUrjkf'kjh; ¼bUVjfouy½ 

gfjekghurk ds :i esa lcls igys fn[kyk;h iM+rh gS % 

 (1) r:.k ifÙk;ksa ij (2) th.kZ ifÙk;ksa ij 

 (3) r:.k Qyksa ij (4) r:.k iq"iksa ij 

 

63. New phenotype is observed in F1 generation 

in – 

 (1) Complete dominance  

 (2) Incomplete dominance 

 (3) Co- dominance 

 (4) Epistasis 

 fdlesa F1 ih<+h esa u;k QhuksVkbi ns[kk tkrk gS 

 (1) iw.kZ çHkkfork 

 (2) viw.kZ çHkkfork 

 (3) lg& çHkkfork 

 (4)  izcyrk 

64. A cross between two tall plants resulted in 

offspring having few dwarf plants. 

 What would be the genotypes of both the 

parents?   

 (1) TT and Tt   (2) Tt and Tt 

 (3) TT and TT   (4) Tt and tt 

 nks yEcs ikS/kksa ds chp ladj.k ds ifj.kkeLo:i dqN 

ckSus ikS/kksa dh larfr izkIr gqbZA  

 nksuksa iS=k`dksa ds thuksVkbi D;k gksaxs\ 

 (1) TT vkSj Tt   (2) Tt vkSj Tt 

 (3) TT vkSj TT   (4) Tt vkSj tt 

 

65.  Which of the following phenomena leads to 

variation in DNA? 

 (1) Linkage, mutation 

 (2) Recombination, linkage 

 (3) Mutation, Recombination 

 (4) Aneuploidy, linkage 

 fuEufyf[kr esa ls dkSu lh ?kVuk DNA esa fofo/krk 

ykrh gS\ 

 (1) lgyXurk] mRifjorZu 

 (2) iqu;ksZtu] lgyXurk 

 (3½ mRifjorZu] iqulaZ;kstu 

 (4) vU;wIyksbMh] lgyXurk 

 

66. Which of the following will not result in 

variations among siblings? 

 (1) Independent assortment of genes 

 (2) Crossing over 

 (3) Linkage 

 (4) Mutation 

 fuEufyf[kr esa ls fdldk ifj.kke lgksnjksa ds chp 

fHkUurk ugha gksxh\ 

 (1) thuksa dk Lora=k oxhZdj.k 

 (2) thufofue;  

 (3½ lgyXurk 

 (4) mRifjorZu 

 

67.  In a flower female reproductive part is 

 (1) ovary  

 (2) stigma  

 (3) ovary, style and sigma  

 (4) thalamus 

 ,d iq"i esa eknk tuaukx gS 

 (1) v.Mk'k;   

 (2) o`frdkxz   

 (3) v.Mk'k;] o`frdk] o`frdkxz  

 (4) iq"iklu 
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68. Syngamy refers to 

 (1) fusion of one of the sperms with 

 secondary nucleus 

 (2) fusion of one sperm with the egg 

 (3) fusion of one of the sperm with an egg 

 and the other with secondary nucleus 

 (4) fusion of one of the sperm with synergids 

 fluxseh gS & 

 (1) ,d 'kqØk.kq dk f}rh;d dsUnzd ls lay;u 

 (2) ,d 'kqØk.kq dk v.Mk.kq ls lay;u 

 (3) ,d 'kqØk.kq dk v.Mk.kq ls rFkk vU; dk 

 f}rh;d dsUnzd ls lay;u 

 (4) ,d 'kqØk.kq dk fluftZM ls lay;u 

 

69. Development and formation of pollen grains 

in anther of the stamen is known as [R - X] 

 (1) microsporogenesis    

 (2)  fertilization 

 (3)  megasporogenesis    

 (4)  spermiogenesis 

 iaqdslj ds ijkxdks"k esa ijkxd.kksa ds fuekZ.k dks 

D;k dgrs gSa \ 

 (1)  y?kqchtk.kq tuu   

 (2)  fu"kspu  

 (3)  o`gn~chtk.kq tuu    

 (4)  'kqØtuu 

 

70. In case of spore formation the presence of 

cytoplasm is 

 (1) little   

 (2) more  

 (3) equal to the concentration of nucleus  

 (4) uncertain 

 chtk.kq fuekZ.k ds le; dksf'kdk nzO; dh ek=kk 

jgrh gS& 

 (1) de  

 (2) vf/kd  

 (3) dsUnzd dh lkanzrk ds leku  

 (4) vfuf'pr 

 

71. Parthenocarpy takes place in – 

 (1) Mango   (2) Brinjal  

 (3) Orange   (4) Tomato 

 vfu"ksdtuu gksrk gS & 

 (1) vke esa   (2) cSaxu esa  

 (3) larjs esa   (4) VekVj esa 

 

72.  In a flower, petals function to 

 (1) Protect the flower bud  

 (2) Produce pollen grain 

 (3) Attract pollinators   

 (4) None of these 

 ,d iq"i esa ny dk dk;Z gksrk gSA 

 (1) iq"i dfydk dh j{kk djuk  

 (2) ijkxd.k mRiUu djuk 

 (3) ijkxd.k dh fØ;k djus okyks dks vkdf"kZr 

 djuk  

 (4) buesa ls dksbZ ugha 

 

73. The female reproductive part of a plant is 

 (1) Ovary   

 (2) Stamen  

 (3) Anther lobe   

 (4) None of these 

 ,d ikni esa eknk tuukax gSA 

 (1) v.Mk'k;   

 (2) iaqdslj  

 (3) ijkxdks"k   

 (4) buesa ls dksbZ ugh 

 

74. Number of Barr bodies in human female 

suffering from Down’s syndrome would be 

 (1) 3    (2) 1    

 (3) 2     (4) zero 

 MkmUl flUMªkse ls xzflr efgykvksa esa ckj ckWMh dh la[;k 

gksxh                            

 (1) 3    (2) 1    

 (3) 2     (4) 'kwU; 

 

75.  Decomposers are  

 (1) Animalia and Monera  

 (2) Protista and Animalia  

 (3) Fungi and Plantae    

 (4) Bacteria and Fungi 

 vi?kVd gSA      

 (1) ,fuesfy;k rFkk eksusjk     

 (2) izksfVLVk rFkk ,uhesfy;k  

 (3) QatkbZ rFkk IykW.Vh   

 (4) thok.kq rFkk QatkbZ 
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PART-IV (Hkkx-IV): 

ZOOLOGY (tarq foKku) 
 

SECTION  : (Maximum Marks : 100) 

[kaM  : (vf/kdre vad : 100) 

 This section contains TWENTY FIVE (25)

 questions. 

 Each question has FOUR options (1), (2), 

 (3) and (4). ONLY ONE  of these four option 

 is correct  

 Marking scheme : 

 Full Marks : +4  If only the bubble 

 corresponding to the correct option is 

 darkened 

  Zero Marks :   0  If none of the bubble is 

 darkened 

 bl [kaM esa iPphl (25) iz'u gSaA  

 izR;sd iz'u esa pkj fodYi (1), (2), (3) rFkk (4) gSaA 

bu pkj fodYiksa esa ls dsoy ,d fodYi lgh gSaA 

 vadu ;kstuk : 

  iw.kZ vad % +4 ;fn flQZ lgh fodYi gh pquk 

 x;k gSA 

  'kwU; vad %   0  ;fn dksbZ Hkh fodYi ugha pquk 

 x;k gS ¼vFkkZr~ iz'u vuqÙkfjr gS½A 
 

 

76. Passage of air through the respiratory tract 

during inspiration is : 

 (1) Nostril - Nasal cavity - Larynx - 

 Pharynx- Bronchi - Trachea - 

 Bronchioles - Alveoli 

 (2) Nostril - Nasal cavity - Pharynx - 

 Larynx - Trachea - Bronchi - 

 Bronchioles -  Alveoli 

 (3) Nostril - Nasal cavity- Laryx - Pharynx -

 Trachea - Bronchi - Bronchioles - 

 Alveoli 

 (4) Nostril - Nasal cavity - Bronchioles – 

 Bronchi - Larynx - Pharynx - Trachea – 

 Alveol 

 vr%'olu ds le; ok;q dk lgh iFk gksxk & 

 (1) uklkfNnz uklk xqgk Loj ;a=k  

 'olfudk,s a ok;qdks"k 

 (2) uklkfNnz uklk xqgk Loj ;a=k xzluh 

  'okl uyh  'olfudk,a s  ok;qdks"k 

 (3) uklkfNnz uklk xqgk  Loj ;a=k  xzluh 

 'okluyh  'olfudk,s a  ok; q dks"k 

 (4) uklkfNn z  uklk xqgk 'olfudk,s a 

 'oluh  Loj ;a=k  xzluh  'okl 

 uyh  ok;qdks"k 

77.  If the surface area for gaseous exchange in 

lungs is reduced due to excessive smoking, 

the condition is called as  

 (1) emphysema  (2) tuberculosis  

 (3) asthma   (4) pneumonia 

 vR;f/kd /kweziku ds dkj.k ok;q dks"kksa dh nhokjksa 

dk {k; rFkk QsQM+ksa dh xSlh; vknku&iznku dh 

{kerk dk ?kVuk D;k 

 dgykrk gS \ 

 (1) ,EQkblhek   (2) {k; jksx  

 (3) nek    (4) fueksfu;k 

 

78. Bowman’s capsule occurs in - 

 (1) pancreas   (2) kidney  

 (3) pituitary gland  (4) adrenal gland. 

 cksmeu lEiqfVdk fdlesa gksrh gS 

 (1) vXuk'k;   (2) o`Dd  

 (3) ih;w"k xzfUFk   (4) vf/ko`Dd xzfUFk 

 

79.  Hormone which controls amount of urine is –  

 (1) TSH   (2) ADH  

 (3) Adrenalin   (4) Thyroxin 

 gkeksZu tks ew=k fuekZ.k dks fu;af=kr djrk gSA 

 (1) TSH   (2) ADH  

 (3) ,Mªusyhu   (4) FkkbjkWfDlu 

 

80. Respiratory organ of terrrestrial vertebrates 

are 

 (1) Gills   (2) Lungs   

 (3) Skin   (4) Body surface  

 LFkyh; d'ks:dh;ksa esas 'olu vax gS&   

 (1) Dykse   (2) Qq¶Qql  

 (3) Ropk   (4) 'kjhj lrg 

 

81.  The alveoli and their ducts 

constitute.................. of the respiratory 

system– 

 (1) Conducting part    

 (2) respiratory or exchange part  

 (3) Both conducting as well as respiratory 

parts  

 (4) Dead space 

 dwfidk,¡ o mudh ufydk,¡ 'olu rU=k dk-------------

--------Hkkx cukrh gS&   

 (1) logu Hkkx       

 (2) 'olu ;k fofu;e Hkkx  

 (3) 1 o 2 nksuksa      

 (4) e`r LFkku 
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82.  Tidal volume in human beings is – 

 (1) 1000 ml    

 (2) 1500 ml 

 (3) 500 ml   

 (4) 4.5 litres 

 ekuo essa Tokjh; vk;ru gS &  

 (1) 1000 feyhñ    

 (2) 1500 feyhñ  

 (3) 500 feyhñ   

 (4) 4.5 yhñ 

 

83.  Residual air mostly present in – 

 (1) Alveoli    

 (2) Bronchus   

 (3) Nostrils    

 (4) Trachea 

 vo'ks"kh ok;q vf/kdka'kr% blesa mifLFkr jgrh gS&   

 (1) dwfIkdk,ass     

 (2) 'oluh   

 (3) uklkfNæ     

 (4) 'okluky  

 

84. Exchange of gases between blood and 

alveolar air takes place through –  

 (1) Active transport  

 (2) Simple diffusion  

 (3) Osmosis   

 (4) All of these  

 :f/kj rFkk dwfidh; ok;q ds e/; xSlh; fofu;e 

blds }kjk gksrk gS&   

 (1) lfØ; ifjogu   

 (2) lkekU; folj.k   

 (3) ijklj.k    

 (4) mijksDr lHkh  

 

85. Excretory waste of birds and reptiles are 

 (1) Urea   

 (2) Urea and uric acid 

 (3) Uric acid   

 (4) Ammonia and uric acid 

 if{k;ksa ,oa ljhl̀iksa dk mRlthZ oT;Z inkFkZ gksrk gS& 

 (1) ;wfj;k   

 (2) ;wfj;k ,oa ;wfjd vEy  

 (3) ;wfjd vEy   

 (4) veksfu;k ,oa ;wfjd vEy  

  

86.  The main nitrogenous waste of Hydra is  

 (1) Ammonia only   

 (2) Urea only  

 (3) Uric acid only  

 (4) Both (1) and (3) 

 gkbMªk dk eq[; ukbVªkstuh oT;Z inkFkZ D;k gksrk 

gS\   

 (1) dsoy veksfu;k    

 (2) dsoy ;wfj;k   

 (3) dsoy ;wfjd vEy    

 (4) (1) ,oa (3) nksuksa 

 

87. Which of the following nitrogenous 

substance is highly toxic   

 (1) Urea    

 (2) Uric acid   

 (3) Amino acid    

 (4) Ammonia 

 ukbVªkstu ;qDr dkSulk inkFkZ vR;Ur fo"kSyk gksrk gS\  

 (1) ;wfj;k    

 (2) ;wfjd vEy   

 (3) vehuks vEy    

 (4) veksfu;k 

 

88. Loop of Henle is meant for absorption of  

 (1) Potassium    

 (2) Glucose  

 (3) Water    

 (4) CO2 

 gsuys dk ywi fdlds vo'kks"k.k ls lEcfU/kr gS\   

 (1) iksVsf'k;e     

 (2) Xywdkst    

 (3) ty ds     

 (4) CO2 ds 
 

89. The basic functional and structural unit of 

human kidney is 

 (1) Nephron    

 (2) Pyramid  

 (3) Nephridia    

 (4) Henle's loop 

 ekuo o`Dd dh fØ;k'khy bdkbZ gS   

 (1) usÝkWu     

 (2) fijkfeM    

 (3) usÝhfM;k     

 (4) gsuys dk ywi 
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90.  Match the items given in Column I with those 

in Column II and select the correct option 

given below:     
  

Column I 

(Function): 

Column II 

(Part of Excretory 

System) 

a. Ultrafiltration i.  Henle's loop 

b. Concentration 

of urine 

ii.  Ureter 

c.  Transport of 

urine 

iii.  Urinary 

bladder 

d. Storage of 

urine 

iv. Malpighian 

corpuscle 

  v.  Proximal 

convoluted 

tubule 
     

   a  b  c  d 

 (1)   iv  v  ii  ii 

 (2)   v  iv  i  iii 

 (3)   v  iv  i  ii 

 (4)   iv  i  ii  iii 

 LRkEHk I esa nh xbZ enksa dk LrEHk II dh enkas ls feyku 

dhft, vkSj uhps fn, x; fodYiksa esa ls lgh 

fodYi dk p;u dhft,  
  

LRkEHk I 

(dk;Z) 

LRkEHk II 

(mRltZu ra=k dk Hkkx) 

a. vfrlw{e 

fuL;anu 

i.  gsuys ik'k 

b. ew=k dk lkaærk ii.  ew=kokfguh 

c.  ew=k dk 

vfHkxeu 

iii.  ew=kk'k; 

d. ew=k dk laxzg.k iv. eSyihxh df.kdk  

  v.   lehiLFk 

laofyr ufydk 
  

   a  b  c  d 

 (1)   iv  v  ii  ii 

 (2)   v  iv  i  iii 

 (3)   v  iv  i  ii 

 (4)   iv  i  ii  iii 
 

91. Asexual reproduction results in 

 (1) Rapid increase in number  

 (2) No genetic variability 

 (3) Production of clones   

 (4) All of the above  

 vySafxd tuu dh ifj.kfr gSA   

 (1) la[;k esa rhoz o`f)    

 (2) vkuqokaf'kd fofHkUurkvkas dk gksuk  

 (3) Dyksu dk mRiknu    

 (4) mijksDr lHkh  

92. Budding is found in 

 A. Yeast   B. Amoeba  

 C. Hydra   D. Sponge 

 E. Rose plant  

 (1) A, B and E  (2) A, B, C and D  

 (3) A, C, D and E  (4) A, C and D 

 eqdqyu ik;k tkrk gS  

 A. ;hLV esa  B. vehck esa  

 C. gkbMªk esa  D. Liat esaa 

 E. xqykc ds ikS/ksa esa 

 (1) A, B rFkk E  (2) A, B, C rFkk D  

 (3) A, C, D rFkk E  (4) A, C rFkk D 
  

 

93.  Grafting is not successful in monocots but is 

successful in dicots because they have 

 (1) Vascular bundles arranged in a ring 

 (2) Cambium for secondary growth 

 (3) Vessels with elements arranged end to 

 end 

 (4) Cork cambium  

 ,dchtif=k;ksa esa dye yxkuk lQy ugh gksrk gSa 

ijUrq f}chtif=k;ksa esa lQy gksrk gS] D;ksafd ;s 

j[krs gSa    

 (1) ,d oy; esa O;ofLFkr laogu iwy  

 (2) f}rh;d o`f) ds fy, ,/kk  

 (3) fljs ls fljs ij O;ofLFkr vo;oksa ;qä okfgdk,a 

 (4) dkWdZ ,/kk  

 

94.  Which one of the following is not the function 

of placenta? It 

 (1) Secretes Oestrogen  

 (2) Facilitates removal of carbon dioxide 

 and waste material from embryo.  

 (3) Secretes oxytocin during parturition  

 (4) Facilitates supply of oxygen and  

 nutrients to embryo 

 fuEufyf[kr esa ls dkSu-lk dk;Z vijk dk ugha gSa\ 

 (1) ,LVªkstu dk lzko djrk gSA  

 (2) Hkzw.k esa ls dkcZu-MkbZvkWDlkbM rFkk O;FkZ inkFkZ 

 dks ckgj fudkyus esa lgk;rk djrk gSA  

 (3) izlo ds le; vkWDlhVksflu dk lzko djrk gSA 

 (4) Hkzw.k dks vkWDlhtu vkSj iks"kd miyC/k djkus 

 esa enn djrk gSA  
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95. Match the items given in Column I with those 

in Column II and select the correct option 

given below:  

 

Column I Column II 

a. Glycosuria i. Accumulation of 

uric acid in joints 

b. Gout ii. Mass of 

crystallised salts 

within the kidney 

c. Renal 

calculi 

iii. Inflammation in 

glomeruli 

d. Glomerular 

nephritis 

iv. Presence of 

glucose in urine 
  

 LrEHk-I esa nh xbZ enksa dk LrEHk-II dh enksa ls feyku 

dhft, vkSj uhps fn, x, fodYiksa esa ls lgh fodYi 

dk p;u dhft,&  

 

LrEHk-I LrEHk-II 

a. Xykbdkslwfj;k  i. tksM+ksa esa ;wfjd 

vEy dk laxzg 

gksuk  

b. xkmV  ii. o`Dd esa fØLVfyr 

yo.kksa ds fi.M  

c. o`Ddh; iFkjh 

¼jhuy 

dSYD;wykbZ½  

iii. xqPNksa esa iznkgdrk  

d. xqPN o`Dd'kksFk  iv. ew=k esa Xywdksl dk 

gksuk  

  

 a b c d 

(1) iii ii iv i 

(2) iv i ii iii 

(3) ii iii i iv 

(4) i ii iii iv 

 

96.   Dental formula of adult human is 

 o;Ld euq"; dk nUr lw=k gS & 

 (1) 
1023

1023
  (2) 

3023

3023
 

 (3) 
2023

1023
  (4)   

97. Stomach in vertebrates is the main site for 

digestion of   

 (1) Proteins   

 (2) Carbohydrates   

 (3) Fats    

 (4) Nucleic acids  

 d'ks#dksa ds vkek'k; esa eq[;r% ikpu gksrk gSA    

 (1) izksVhu dk   

 (2) dkcksZgkbMsªV dk  

 (3) olk dk    

 (4) U;wfDyd vEy dk  

 

98.  Intestinal villi are mainly concerned with 

 (1) Assimilation  (2) Secretion   

 (3) Ultrafilteration  (4) Absorption  

 vk¡=kh; foykbZ eq[; #i ls lEcfU?kr gS  

 (1) Lokaxhdj.k ls  (2) L=kko.k ls    

 (3) ijkfuL;anu ls   (4) vo'kks"k.k ls 

 

99.  Which of the following digest proteins into 

peptides 

 (1) Erepsin   (2) Rennin  

 (3) Pepsin   (4) Lipase  

 fuEufyf[kr esa ls dkSu çksVhu dk ikpu isIVkbM~l 

esa djrk gS & 

 (1) bjsfIlu  (2) jsfUuu  

 (3) isfIlu  (4) ykbist 

 

100. The functional unit for the absorption of 

digested food is 

 (1) Crypts of Lieberkuhn    

 (2) Peyer’s patches   

 (3) Villi      

 (4) Brunner’s gland  

 ips gq, Hkkstu ds vo'kks"k.k dh dk;kZRed bdkbZ gS  

 (1) fycjdqgu dh njkjsa   

 (2) is;j ds /kCcs   

 (3) vadqj    

 (4) czwuj xzfUFk;k¡ 2123

2123
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SAMPLE TEST PAPER (STP) 

(For Class-XII Appearing / Passed Students) 

CLASS-XII APPEARED / PASSED 
 

TARGET: NEET (UG) 

 

03 

 

S.No. Part Subject Type of Question 
No. of  

Questions 

Marking Scheme 

Full 
Marks per 

Qs. 

Negative 
Marking 

Total 

1 to 25 I Chemistry 
Single Choice Questions (Only One 
Correct Option)   (dsoy ,d fodYi lgh) 

25 4 0 100 

26 to 50 II Physics 
Single Choice Questions (Only One 
Correct Option)   (dsoy ,d fodYi lgh) 

25 4 0 100 

51 to 85 III Botany 
Single Choice Questions (Only One 
Correct Option)   (dsoy ,d fodYi lgh) 

25 4 0 100 

86 to 100 IV Zoology 
Single Choice Questions (Only One 
Correct Option)   (dsoy ,d fodYi lgh) 

25 4 0 100 

Total 100 
 

400 

 
 

PART-I (Hkkx-I) : 

CHEMISTRY (jlk;u foKku) 
 

SECTION  : (Maximum Marks : 100) 

[kaM  : (vf/kdre vad : 100) 

 This section contains TWENTY FIVE (25) 

 questions. 

 Each question has FOUR options (1), (2), 

 (3) and (4). ONLY ONE  of these four option 

 is correct  

 Marking scheme : 

 Full Marks : +4  If only the bubble 

 corresponding to the correct option is 

 darkened 

 Zero Marks :   0  If none of the bubble is 

 darkened 

 bl [kaM esa iPphl (25) iz'u gSaA  

 izR;sd iz'u esa pkj fodYi (1), (2), (3) rFkk (4) gSaA 

bu pkj fodYiksa esa ls dsoy ,d fodYi lgh gSaA 

 vadu ;kstuk : 

  iw.kZ vad % +4 ;fn flQZ lgh fodYi gh pquk 

 x;k gSA 

  'kwU; vad %   0  ;fn dksbZ Hkh fodYi ugha pquk 

 x;k gS ¼vFkkZr~ iz'u vuqÙkfjr gS½A 
 

 

1. Rutherford's experiment on scattering of 

particles showed for the first time that the 

atom has 

 (1) Electrons  (2) Protons  

(3) Nucleus  (4) Neutrons 

 jnjQksMZ ds iz;ksx ls Kkr gqvk ds ijek.kq esa ;g 

gksrk gS % 

 (1) bysDVªkWu  (2) çksVksu  

 (3) ukfHkd  (4) U;wVªkWu 

 

2.  What is the Na+ ion concentration in the 

solution formed by mixing 20 mL of 0.10 M 

Na2SO4 solution with 50 mL of 0.30M 

Na3PO4 solution ?        

 0.10 M Na2SO4 foy;u ds 20 mL ds lkFk 0.30 

M Na3PO4 foy;u ds 50 mL dks fefJr djus 

ij cus foy;u esa mifLFkr  Na+ vk;u dh lkUnzrk 

D;k gS \  

  (1) 0.15 M    (2) 0.24 M       

(3) 0.48    (4) 0.70    
 

3. What is the unit of KP for the reaction ?   

 CS2 (g) + 4H2 (g)  CH4 (g) + 2H2S (g) 

 vfHkfØ;k ds fy, KP dh bdkbZ crkvksa \ 

 CS2 (g) + 4H2 (g)  CH4 (g) + 2H2S (g) 

 (1)  atm   (2) atm–2  

 (3) atm2   (4) atm–1  
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4. The salt NaA of weak acid HA is dissolved 

to form its 0.01 M solution. If the degree of 

hydrolysis is 0.01, the  Ka of HA at 25ºC is : 
 nqcZy vEy HA dk yo.k NaA ?kqydj bldk 0.01 

M  foy;u cukrk gSA ;fn ty vi?kVu dh ek=kk 

0.01 gks] rks  25ºC ij HA ds fy, Ka fuEu gS : 

 (1) 10–6   (2) 10–4   

 (3) 10–8   (4) 10–10 
 

5. For the isothermal expansion of an ideal gas 

 (1) U and H increases    

(2) U increases but H decreases 

 (3) H increases but U decreases   

(4) U and H are unaltered 

 vkn'kZ xSl ds lerkih; çlkj ds fy;s 

 (1) U rFkk H c<rs gSA   

(2) U c<rk gS ijUrq H ?kVrk gSA 

 (3) H c<rk gS ijUrq U ?kVrk gSA   

(4) U rFkk H vifjofrZr jgrs gaSA  
 

6. The compound that can work both as an 

oxidising as well as a reducing agent is : 

 og ;kSfxd tks vkWDlhdkjd ds lkFk&lkFk 

vipk;d dh rjg Hkh dk;Z djrk gS fuEu gS % 

 (1) KMnO4   (2) SO2   

 (3) H2SO4  (4) K2Cr2O7  
 

7. Which of the following group of transition 

metals is called coinage metals ? 

 fuEUk esa ls fdl laØe.k rRoksa dks flDdk /kkrq,sa 

dgrs gSa \     

 (1) Cu, Ag, Au  (2) Ru, Rn, Pd  

 (3) Fe, Co, Ni  (4) Os, IR, Pt  
 

8. The covalency of nitrogen in HNO3 is : 

 HNO3 esa ukbVªkstu dh lgla;kstdrk gS % 

 (1) 0   (2) 3   

 (3) 4   (4) 5 
 

9. Boron nitride has the structure of the type –  

 (1) both diamond and graphite   

 (2) graphite  

 (3) diamond      

(4) NaCl    

 cksjksu ukbVªkbM dh lajpuk fdlds leku gksrh gS&  

 (1) ghjs ,oa xzsQkbV nksuksa ds leku   

 (2) xzsQkbV  

 (3) ghjk      

(4) NaCl   
 

10. The mole fraction of the solute in one molal 

aqueous solution is   

,d eksyy tyh; foy;u esa foys; dk eksy  

fHkUu gS   

  (1) 0.027   (2) 0.036  

 (3) 0.018   (4) 0.009 

11. A smuggler could not carry gold by 

depositing iron on the gold surface since  

 (1) Gold is denser     

 (2) Iron rusts   

 (3) Gold has higher reduction potential 

 then iron   

 (4) Gold has lower reduction potential than 

 iron. 

 ,d Lexyj xksYM lrg ij vk;ju dks fu{ksfir 

dj xksYM dks ugha ys tk ldrk gS D;ksasfd 

 (1) xksYM dk ?kuRo vf/kd gS    

 (2) vk;ju ij tax yxk gksrk gS   

 (3) xksYM dk vk;ju dh vis{kk vip;u foHko 

 mPp gksrk gSA  

 (4) xksYM dk vk;ju dh vis{kk vip;u foHko 

 fuEu gksrk gSA  
 

12.  Rusting of iron is a example of  

 (1) Instantaneous reaction    

(2) Moderate reaction  

   (3) Very slow reaction       

(4) Both (1) and (2)  

 yksgs ij tax dk yxuk mnkgj.k gS&  

 (1) rkR{kf.kd vfHkfØ;k    

(2) e/;e vfHkfØ;k  

   (3) cgqr /kheh vfHkfØ;k@izfrfØ;k   

(4) nksuksa (1) rFkk (2)  
 

13. Which of the following facts about the 

complex [Cr(NH3)6]Cl3 is wrong ? 

(1)  The complex involves d2sp3 

 hybridisation and is octahedral in 

 shape. 

 (2) The complex is paramagnetic. 

 (3) The complex is an outer orbital 

 complex. 

 (4) The complex gives white precipitate 

 with silver nitrate solution.    

 ladqy [Cr(NH3)6]Cl3 ds laca/k esa fuEu rF;ksa esa ls 

dkSu rF; xyr gS \  
 (1) ladqy dk d2sp3 ladj.k gS ,oa bldh 

 v"VQydh; vkdf̀r gSA  

 (2) ladqy vuqpqEcdh; gSA  

 (3) ladqy ,d cká d{kd ladqy gSA  

 (4) ladqy flYoj ukbVªsV ds foy;u ds lkFk 

 lQsn vo{ksi nsrk gSA  
 

14. The hydrides of group 15 elements act as : 

 (1) lewis acids  (2) lewis bases  

(3) both   (4) none  

 oxZ 15 rRo ds gkbMªkbM fuEu izdkj ls fØ;k djrs gSa% 

 (1) yqbZl vEy  (2) yqbZl {kkj   

(3) nksuksa   (4) buesa ls dksbZ ugha 
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15. Which of the following group of transition 

metals is called coinage metals ?  

 fuEu esa ls laØe.k /kkrqvksa dk dkSulk lewg flDdk 

/kkrq dgykrk gS \   

 (1) Cu, Ag, Au   

 (2) Ru, Rh, Pb  

 (3) Fe, Co, Ni   

 (4) Os. Ir, Pt 
 

16. Substitution reactions involve :   

 (1) Cleavage of a –bond and formation of 

 a new  –bond   

 (2) Cleavage of two  –bond and 

 formation of a new –bond   

 (3) Cleavage of a  –bond and formation 

 of two new –bond    

 (4) None of these 

 izfrLFkkiu vfHkfØ;k esa gksrk gS : 

 (1) –ca/k dk fo[k.Mu rFkk u;s –ca/k dk 

 fuekZ.k 

 (2) nks –ca/k dk fo[k.Mu rFkk ,d u;s –ca/k 

 dk fuekZ.k 

 (3) ,d –ca/k dk fo[k.Mu rFkk nks u;s –ca/k 

 dk fuekZ.k  

 (4) buesa ls dksbZ ugha  
 

17. Following reaction (CH3)3CBr + C2H5OH  

(CH3)3COC2H5 + HBr is an example of :  

 (1) Elimination reaction     

(2) Free radical substitution   

 (3) Nucleophilic substitution    

(4) Electrophilic substitution  

 fuEu vfHkfØ;k (CH3)3CBr + C2H5OH  

(CH3)3COC2H5 + HBr mnkgj.k gSA  

 (1) foyksiu vfHkfØ;k dk     

(2) eqDr ewyd izfrLFkkiu vfHkfØ;k dk  

 (3) ukfHkdLusgh izfrLFkkiu dk    

(4) bysDVªkWuLusgh izfrLFkkiu dk 
 

18. When the concentration of alkyl halide is 

tripled and the concentration of  ion is 

reduced to half, the rate of SN2 reaction 

increases by: 

 (1) 3 times  (2) 2 times  

(3) 1.5 times  (4) 6 times 

tc ,fYdy gSykbM dh lkUnzrk rhu xquh rFkk  

vk;u dh lkUnzrk ?kVkdj vk/kh dh tkrh gS rc 

SN2 vfHkfØ;k dh nj fdrus xquk c< tkrh gS % 

(1) 3 xquk  (2) 2 xquk  

(3) 1.5 xquk  (4) 6 xquk  

19. Which of the following reaction is an 
elimination reaction ? 

fuEu esa ls dkSulh vfHkfØ;k foyksiu vfHkfØ;k gS \ 

(1) CH3–CH2–CH2–OH   5PCl
CH3–CH2–CH2–Cl 

(2) CH3–CH=CH2
HCl   

 (3)  
KOH.Alc

 CH3–CH=CH2 

(4)  
OHCH3

  

 

20. Nitrobenzene combines with hydrogen in 
the presence of platinum to produce 

 (1) Toluene  (2) Benzene  
(3) Aniline  (4) Azobenzene 

 IysVhue dh mifLFkfr esa ukbVªkscsUthu gkbMªkstu 

ds lkFk fØ;k dj nsrh gS %   

 (1) VkWyqbZu  (2) csUthu  

(3) ,fuyhu  (4) ,tkscsUthu 
 

21. Observe the following reaction, and select 
the correct option 

 3dil. HNO
  (X)  + (Y)  

 
Steam distillation

 (Y) low boiling fraction  

 'Y' is :  

 fuEu vfHkfØ;k dk izs{k.k dj lgh fodYi dk p;u 

djks  

    3. HNO


ruq
 (X)  + (Y)  

  (Y) de DoFkukad izHkkt  

 'Y'  gksxk 

 (1)  (2)   

 (3)    (4)   

22. The peptide bond is :  

 isIVkbM cU/k gS %  

 (1)  – CONH2  (2) – CONH –  
(3) – COONH4  (4) – N = C = O 
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23. Aldol condensation is  the characteristic 
reaction of  

 (1) all aldehydes and ketones. 
 (2) only those aldehydes and ketones 

 which contain -hydrogen atoms. 
 (3) only those aldehydes and ketones 

 which do not contain -hydrogen  atoms. 
 (4) only aromatic aldehydes and ketones. 

 ,YMksy la?kuu vfHkyk{kf.kd vfHkfØ;k gSA  

 (1) lHkh ,fYMgkbM rFkk dhVksu dhA 

 (2) dsoy mu ,fYMgkbM rFkk dhVksu dh tks -

 gkbMªkstu ijek.kq j[krs gSA 

 (3) dsoy mu ,fYMgkbM rFkk dhVksu dh tks -

 gkbMªkstu ijek.kq ugha j[krs gSA 

 (4) dsoy ,jksesfVd ,fYMgkbM rFkk dhVksu dhA 
 

24. Tollen's reagent is not reduced by 
 (1) Formic acid   (2) Acetaldehyde  

(3) Benzaldehyde  (4) Acetic acid.  

 VkWysu vfHkdeZd vipf;r ugha gksrk gS  

 (1) QkWfeZd vEy ls (2) ,lhVsfYMgkbM ls 

(3) csUtsfYMgkbM ls  (4) ,lhfVd vEy ls 
 

25. Complete hydrolysis of cellulose yields 
 (1) L-glucose  (2) D-fructose  

(3) D-glucose  (4) D-ribose  

 lSywyksl iw.kZ ty vi?kVu ij nsrk gS %     

 (1) L-Xywdksl  (2) D-ÝDVksl  

 (3) D-Xywdksl  (4) D-jkbcksl 
 

PART-II (Hkkx-II): 

PHYSICS (HkkSfrd foKku) 
 

SECTION  : (Maximum Marks : 100) 

[kaM  : (vf/kdre vad : 100) 

 This section contains TWENTY FIVE (25)
 questions. 
 Each question has FOUR options (1), (2), 
 (3) and (4). ONLY ONE  of these four option 
 is correct  
 Marking scheme : 

 Full Marks : +4  If only the bubble 
 corresponding to the correct option is 
 darkened 
  Zero Marks :   0  If none of the bubble is 
 darkened 

 bl [kaM esa iPphl (25) iz'u gSaA  

 izR;sd iz'u esa pkj fodYi (1), (2), (3) rFkk (4) gSaA 

bu pkj fodYiksa esa ls dsoy ,d fodYi lgh gSaA 

 vadu ;kstuk : 

  iw.kZ vad % +4 ;fn flQZ lgh fodYi gh pquk 

 x;k gSA 

  'kwU; vad %   0  ;fn dksbZ Hkh fodYi ugha pquk 

 x;k gS ¼vFkkZr~ iz'u vuqÙkfjr gS½A 
 

26. Two bodies are projected with the same 

velocity. If one is projected at an angle of 30° 

and the other at an angle of 60° to the 

horizontal, the ratio of the maximum heights 

reached is 

 nks oLrqvksa dks leku osx ls ç{ksfir fd;k tkrk gSA 

;fn ,d oLrq dks {kSfrt ls 30° ds dks.k ij rFkk vU; 

dks {kSfrt ls 60° ds dks.k ij ç{ksfir fd;k tkrk gS] 

rks mudh vf/kdre Å¡pkbZ;ksa dk vuqikr gksxk 

 (1) 3 : 1   (2) 1 : 3   

(3) 1 : 2   (4) 2 : 1   
 

27. the range of a gun which fires a shell with 

muzzle speed V is R, then the angle of 

elevation of the gun is 

 fdlh cUnwd ls V osx ls NksM+h xbZ xksyh dh {kSfrt 

ijkl R gS rc cUnwd dk {kSfrt ls dks.k gksxk 

 (1) 















Rg

V
cos

2
1   (2) 









2

1

V

gR
cos   

 (3) 














Rg

V

2

1 2

  (4) 








2

1

V

gR
sin

2

1
 

 

28.  A person aiming to reach the exactly 

opposite point on the bank of a stream is 

swimming with a speed of 0.5 m/s at an 

angle of 1200 with the direction of flow of 

water. The speed of water in the stream is  

 ,d O;fDr fdlh unh ds fdukjs ij Bhd lkeus 

okys fcUnq rd ig¡qpuk pkgrk gSA ;g ty çokg 

dh fn'kk ls 120o  dks.k ij 0.5 m/s dh pky ls 

rSj jgk gSA ty /kkjk dh pky gS 

 (1) 1 m/s  (2) 0.5 m/s  
 (3) 0.25 m/s  (4) 0.433 m/s   
 

29. A vehicle of 100 kg is moving with a velocity 

of 5 m/sec. To stop it in sec
10

1
, the required 

force in opposite direction is   

 100 fdxzk nzO;eku dk okgu 5 eh/lS ds osx ls 

xfr'khy gSA okgu dks sec
10

1
 esa jksdus ds fy, 

foijhr fn'kk esa yxus okyk vko';d cy gksxk  

 (1) 5000 N  (2) 500 N  

 (3) 50 N  (4) 1000 N 
 

30.  Which one of the following statements is 

correct   

 (1) Rolling friction is greater than sliding 

 friction 

 (2) Rolling friction is less than sliding 

 friction 

 (3) Rolling friction is equal to sliding friction 

 (4) Rolling friction and sliding friction are 

 same     
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 fuEu esa ls dkSu-lk dFku lR; gS 

 (1) yksVfud ?k"kZ.k (Rolling friction) liÊ ?k"kZ.k 

 (Sliding friction) ls vf/kd gksrk gS 

 (2) yksVfud ?k"kZ.k liÊ ?k"kZ.k ls de gksrk gS 

 (3) yksVfud ?k"kZ.k rFkk liÊ ?k"kZ.k ds eku leku 

 gksrs gSaa 

 (4) yksVfud ?k"kZ.k rFkk liÊ ?k"kZ.k ,d gh ?k"kZ.k 

 ds nks uke gSa 
 

31.  A stationary particle explodes into two 
particles of a masses m1 and m2 which move 

in opposite directions with velocities 1v  and 

.v2  The ratio of their kinetic energies 21 E/E is  

 ,d fLFkj d.k 1m  o 2m  æO;ekuksa ds nks d.kksa esa 

foLQksfVr gks tkrk gSA ;s æO;eku foijhr fn'’kkvksa 

esa 1v o 2v  dh pky ls xfreku gks tkrs gSaaA budh 

xfrt ÅtkZvksa dk vuqikr 21 E/E  gS  

 (1) 21 m/m    (2) 1   

 (3) 1221 vm/vm    (4) 12 m/m   
 

32. A bomb of mass 3.0 Kg explodes in air into two 
pieces of masses 2.0 kg and 1.0 kg. The 
smaller mass goes at a speed of 80 m/s.The 
total energy imparted to the two fragments is   

 3.0 kg æO;eku ds ,d ce esa foLQksV gksrk gS rFkk 

;g 2.0 fdxzk rFkk 1.0 fdxzk ds VqdM+ksa esa VwV tkrk 

gSA NksVs æO;eku dk VqdM+k 80 eh/lS ds osx ls xfr 

djrk gSA nksuksa VqdM+ksa dh dqy xfrt ÅtkZ gS 

 (1) 1.07 kJ   (2) 2.14 kJ   
 (3) 2.4 kJ   (4) 4.8 kJ  
 

33.  The temperature of an ideal gas is increased 
from 120 K to 480 K. If at 120 K, the root 
mean square velocity of the gas molecules 
is v, at 480 K it becomes 

 ,d vkn'’kZ xSl dk rkieku 120 K ls 480 K rd 

c<+k fn;k x;k gSA ;fn 120 K ij xSl ds v.kqvksa dk 

oxZ-ek/;-ewy osx v gks, rks 480 K ij bldk eku gksxk 

 (1) 4v   (2) 2v   
 (3) v/2   (4) v/4   
 

34.  If the moment of inertia of a disc about an 
axis tangential and parallel to its surface be 
I, then what will be the moment of inertia 
about the axis tangential but perpendicular 
to the surface  

 ry esa fLFkr Li'kZ js[kk ds ifjr% pdrh dk tM+Ro 

vk?kw.kZ I gS, rc ry ds yEcor~ fLFkr Li'kZ js[kk ds 

ifjr% tM+Ro vk?kw.kZ gksxk    

 (1) I
5

6
   (2) I

4

3
   

 (3) I
2

3
   (4) I

4

5
   

35.  The moment of inertia of a uniform thin rod 
of length L and mass M about an axis 

passing through a point at a distance of 
3

L
 

from one of its ends and perpendicular to the 
rod is 

 ,dleku iryh NM+ dh yEckbZ L rFkk lagfr M 

gSA bldk ml v{k ds ifjr% tM+Ro vk?kw.kZ] tks fd 

blds ,d fljs ls 
3

L
 nwjh ij fLFkr fcUnq ls gksdj 

yEcor~ tkrh gS, dk eku gksxk  

 (1) 
48

ML7 2

  (2) 
9

ML2

  

 (3) 
12

ML2

  (4) 
3

ML2

  

 

36.  The equation of a wave is 

)t200x5.0(sin2y  , where x and y are 

expressed in cm and t in sec. The wave 
velocity is  

 ,d rjax dk lehdj.k )t200x5.0(sin2y   

gS ;gk¡ x vkSj y lseh esa vkSj t lSd.M esa gSA rjax 

dk osx gS 

 (1) 100 cm/sec  (2) 200 cm/sec   
 (3) 300 cm/sec  (4) 400 cm/sec  
 

37.  The equation of a wave travelling in a string 

can be written as )xt100(cos3y  . Its 

wavelength is  
 (1) 100 cm           (2) 2 cm  
 (3) 5 cm           (4) None of the above 

 fdlh Mksjh esa xfr djrh gqbZ rjax dk lehdj.k 

)xt100(cos3y   gSA bldh rjaxnS/;Z gksxh  

 (1) 100 lseh  (2) 2 lseh  

 (3) 5 lseh  (4) buesa ls dksbZ ugha 
 

38. A prism having an apex angle 4o and 
refraction index 1.5 is located in front of a 
vertical plane mirror as shown in figure. 
Through what total angle is the ray deviated 
after reflection from the mirror  

 ,d fçTe dk 'kh"kZ dks.k 4o ,oa viorZukad 1.5 gSA 

bl fçTe dks ,d v/oZ lery niZ.k ds lkeus fp=k 

esa fn[kk;s vuqlkj j[kk x;k gSA niZ.k ls ijkorZu 

ds i'pkr~ çdk'’k fdj.k dqy fdrus dks.k ls 

fopfyr gks tk;sxh  

  
 (1) 176o   (2) 4o    

 (3) 178o   (4) 2o 
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39. Assertion : If the angles of the base of the 

prism are equal, then in the position of 

minimum deviation, the refracted ray will 

pass parallel to the base of prism.  

 Reason : In the case of minimum deviation, 

the angle of incidence is equal to the angle 

of emergence.  

 Read the Assertion and Reason carefully 

to mark the correct option out of the options 

given below: 

 (1) Both Assertion and Reason are true 

 and the Reason is the correct  

 explanation of the Assertion. 

 (2) Both Assertion and Reason are true 

 but Reason is not the correct  

 explanation of the Assertion. 

 (3) Assertion is true but Reason is false. 

 (4) Assertion is false but Reason is true. 

 dFku : ;fn fçTe ds vk/kkj ds nksuksa dks.k cjkcj 

gSa] rc U;wure fopyu dh fLFkfr esa viofrZr fdj.k 

fçTe ds vk/kkj ds lekUrj xqtjrh gSaA 

 dkj.k : U;wure fopyu dh fLFkfr esa] vkiru dks.k 

,oa fuxZr dks.k cjkcj gksrs gSA 

 fuEufyf[kr ç'uksa esa dFku (Assertion) ds oDrO; 

ds i'pkr~ dkj.k (Reason)  dk oDrO; gSA 

 (1) dFku vkSj dkj.k nksuksa lgh gSa vkSj dkj.k 

 dFku dk lgh Li"Vhdj.k nsrk gS  

 (2) dFku vkSj dkj.k nksuksa lgh gSa fdUrq dkj.k 

 dFku dk lgh Li"Vhdj.k ugh nsrk gS  

 (3)  dFku lgh gS fdUrq dkj.k xyr gS  

 (4)  dFku xyr gS fdUrq dkj.k lgh gS 

 

40. An electron and a proton are in a uniform 

electric field, the ratio of their accelerations 

will be 

 (1) Zero     

 (2) Unity   

 (3) The ratio of the masses of proton and 

 electron 

 (4) The ratio of the masses of electron 

 and proton     

 ,d /kukosf'kr pkyd 

 (1) lnSo /ku foHko ij jgrk gS  

 (2) lnSo 'kwU; foHko ij jgrk gS  

 (3) lnSo _.k foHko ij jgrk gS 

 (4) /ku foHko] 'kwU; foHko vFkok _.k foHko ij 

 gks ldrk gS  

41. Two parallel plates have equal and opposite 

charge. When the space between them is 

evacuated, the electric field between the 

plates is 2×105 V/m. When the space is filled 

with dielectric, the electric field becomes 

1×105 V/m. The dielectric constant of the 

dielectric material   

 nks IysVksa ij leku vkSj foijhr vkos'’k gSaA tc nksuksa 

ds e/; ds LFkku esa fuokZr~ mRié fd;k tkrk gS] rks 

oS|qr {ks=k dh rhozrk ¼IysVksa ds e/;½ 2×105 V/m 

jgrh gSA tc IysVksa ds e/; ijkoS|qr j[kk tkrk gS] 

rks oS|qr {ks=k dh rhozrk 1×105 V/m gksrh gSA 

ijkoS|qr inkFkZ dk ijkoS|qrkad 

 (1) 1/2   (2) 1   

 (3) 2   (4) 3   
 

42. The insulation property of air breaks down at 
6103E   volt/metre. The maximum 

charge that can be given to a sphere of 

diameter m5  is approximately (in coulombs)  

ok;q dh vojks/kdrk 6103E   V/m dh oS|qr 

rhozrk ij VwV tkrh gSA dwykWe ek=kd esa 5 eh O;kl 

ds xksykdkj dks fdruk vf/kdre vkos'’k fn;k tk 

ldrk gS   

 (1) 
2102    (2)

3102    

 (3) 
4102    (4) 

5102    
 

43.  Energy levels A, B, C of a certain atom 

corresponding to increasing values of 

energy i.e. CBA EEE  . If 321 ,,  are 

the wavelengths of radiations corresponding 

to the transitions C to B, B to A and C to A 

respectively, which of the following 

statements is correct   

 fdlh fo'’ks"k ijek.kq ds ÅtkZ Lrj A, B, C c<+rh 

gqbZ ÅtkZvksa ds ekuksa ds lkis{k CBA EEE   gSaA 

;fn 321 ,,  , Øe’'k% C ls B, B ls A rFkk C ls 

A ds laØe.k ds lkis{k fofdj.kksa dh rjaxnS/;Z gksa] 

rks dkSulk dFku lR; gS 

 

 

  (1) 213    (2) 
21

21
3






 

(3) 0321   (4) 
2
2

2
1

2
3    
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44.  The energy of electron in the nth orbit of 

hydrogen atom is expressed as 

eV
n

6.13
E

2n


 . The shortest and longest 

wavelength of Lyman series will be  

 gkbMªkstu ijek.kq esa noha d{kk ds bysDVªkWu dh 

ÅtkZ lehdj.k eV
n

6.13
E

2n


  }kjk vfHkO;ä 

gksrh gSA ykbeu Js.kh esa y?kqÙke ,oa mPpre 

rjaxnS/;Z gksaxh 

 (1) 910 Å, 1213 Å  

 (2) 5463 Å, 7858 Å 

 (3) 1315 Å, 1530 Å  

 (4) None of these mijksä esa ls dksbZ ugha  
       

45.  Wave is associated with matter   

 (1) When it is stationary 

 (2) When it is in motion with the velocity of 

 light only 

 (3) When it is in motion with any velocity 

 (4) None of the above    

 æO; ds lkFk rjax layXu gksrh gS  

 (1) tc inkFkZ fLFkj jgrk gS 

 (2) tc æO; dsoy çdk'’k osx ls xfreku jgrk gS  

 (3) tc og fdlh Hkh osx ls xfreku jgrk gS  

 (4) mijksä esa ls dksbZ ugha 
       

46. The following truth table corresponds to the 

logic gate 

 fuEu lR; lkj.kh (Truth table) fdl xsV ds 

lerqY; gS  

 A      0      0     1      1 

 B     0      1      0      1 

 X      0      1      1      1 

 (1) NAND  (2) OR   

 (3) AND  (4) XOR  
       

47. For the given combination of gates, if the 

logic states of inputs A, B, C are as follows 

A = B = C = 0 and A = B = 1, C = 0 then the 

logic states of output D are 

 fn;s x;s ykWftd xsVksa ds fudk; ds fy, ;fn 

fuos'kh (Input) A, B, C dh fLFkfr A = B = C = 0 

,oa A = B = 1, C = 0 gks rks fuxZr (Output)  D 

dh fLFkfr gksxh   

 

 
 (1) 0, 0   (2) 0, 1    

 (3) 1, 0    (4) 1, 1   

48. The drift velocity does not depend upon   
 (1) Cross-section of the wire   

(2) Length of the wire 

 (3) Number of free electrons   

(4) Magnitude of the current  
    

 vuqxeu osx dk eku fuHkZj ugha djrk gS  

(1) rkj ds vuqçLFk dkV ij   

(2) rkj dh yEckbZ ij 

(3) eqDr bysDVªkWuksa dh la[;k ij   

(4) /kkjk ds ifjek.k ij   
 

49. At room temperature, copper has free 

electron density of 28104.8   per 3m .  The 

copper conductor has a cross-section of  

10–6 m2 and carries a current of 5.4 A.  The 

electron drift velocity in copper is 

 dejs ds rki ij rk¡cs esa eqDr bysDVªkWu ?kuRo 8.4 

× 1028 çfr ?ku ehVj gSA rk¡cs ds rkj dk vuqçLFk 

dkV dk {ks=kQy 26m10  rFkk çokfgr /kkjk 5.4 

A gSA rk¡cs esa bysDVªkWu dk vuqxeu osx gS 

 (1) 400 m/s   (2) 0.4 m/s  

(3) 0.4 mm/s  (4) 72 m/s  
 

50.  Seven capacitors each of capacity F2  are 

to be so connected to have a total capacity 

F
11

10
 .  Which will be the necessary figure 

as shown    

 lkr la/kkfj=k ftuesa çR;sd dh /kkfjrk F2  gS] 

,d ,slh vkÑfr esa tksM+us gSa fd mudh çHkkoh 

/kkfjrk F
11

10
  gks tkosA fp=k esa iznf'kZr fdl 

la;ksx ls okafNr /kkfjrk çkIr gksxh  

 (1) 

 

  

 

(2) 

 

 

 (3) 

 

  

 (4) 
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PART-III (Hkkx-III): 

BOTANY (ouLifr foKku) 
 

SECTION  : (Maximum Marks : 100) 

[kaM  : (vf/kdre vad : 100) 

 This section contains TWENTY FIVE (25)
 questions. 
 Each question has FOUR options (1), (2), 
 (3) and (4). ONLY ONE  of these four option 
 is correct  
 Marking scheme : 

 Full Marks : +4  If only the bubble 
 corresponding to the correct option is 
 darkened 
  Zero Marks :   0  If none of the bubble is 
 darkened 

 bl [kaM esa iPphl (25) iz'u gSaA  

 izR;sd iz'u esa pkj fodYi (1), (2), (3) rFkk (4) gSaA 

bu pkj fodYiksa esa ls dsoy ,d fodYi lgh gSaA 

 vadu ;kstuk : 

  iw.kZ vad % +4 ;fn flQZ lgh fodYi gh pquk 

 x;k gSA 

  'kwU; vad %   0  ;fn dksbZ Hkh fodYi ugha pquk 

 x;k gS ¼vFkkZr~ iz'u vuqÙkfjr gS½A 
 

 

51. Floridean starch is found in 

 (1) chlorophyceae  

 (2) rhodophyceae  

 (3) myxophyceae  

 (4) cyanophyceae 

 ¶yksjhfM;u LVkpZ ik;k tkrk gSA  

 (1) DyksjksQkblh esa   

 (2) jksMksQkblh esa   

 (3) feDtksQkblh esa   

 (4) lk;uksQkblh esa  

 

52. Algae are important for human being 

because 

 (1) it can be turned to important diet in future 

for human 

 (2) it purifies atmosphere 

 (3) it can be grown in water tank 

 (4) none of these 

 fuEu esa ls fdl dkj.k ls 'kSoky euq"; ds fy, 

egRoiw.kZ gSA 

 (1) Hkfo"; esa ;g euq"; ds fy, vko';d Hkkstu 

dk vax gks ldrk gSA  

 (2) ;g okrkoj.k dks 'kq) djrk gSA  

 (3) ;g ty;qDr VSad eas o`f) dj ldrs gSaA  

 (4) mijksDr dksbZ ugha 

53. Biggest (largest) animal cell is 
 (1) Ostrich egg  (2) Nerve cell 

 (3) Acatabularia   (4) Phloem fibre   

 lcls cM+h tUrq dksf'kdk gS& 

 (1) 'kqrjeqxZ dk v.Mk (2) raf=kdk dksf'kdk 

 (3) ,flVkcqysfj;k  (4) ¶yks,e js'ks 
 

54. Cell theory was given by : 

 (1) M. Schleiden    

 (2) T. Schwann 

 (3) M. Schleiden and T. Schwann 

 independently 

 (4) M. Schleiden and T. Schwann jointly 

 dksf'kdk fl)kar fdlds }kjk fn;k x;k Fkk 

 (1) M. LysMsu 

 (2) T. 'oku 

 (3) M LysMsu vkSj T. 'oku Lora=k :i ls 

 (4) M LysMsu vkSj T. 'oku la;qä :i ls 
 

55. Growth at a cellular level, is principally a 

consequence of increase in amount of 

 (1) Cell wall material (2) water  

 (3) Protoplasm  (4) Cell sap 

 dksf'kdh; Lrj ij o`f) fl)kUrh; :i ls fuEu esa 

ls fdl dh ek=kk es c<+ksrjh dk ifj.kke gSaA  

 (1) dksf'kdk fHkÙkh; inkFkZ  (2) ty   

 (3) thoæO;  (4) /kkuh jl 
 

56.  The correct sequence of cellular growth 

stages is – 

 (1) Division  differentiation  elongation  

 (2) Division  elongation differentiation   

 (3) Differentiation  division elongation 

 (4) Elongation  differentiation  division 

 dksf'kdh; of̀ð dh voLFkkvksa dk lgh Øe gS 

 (1) foHkktu  foHksnu yEcou   

 (2) foHkktu  yEcou  foHksnu  

 (3) foHksnu  foHkktu  yEcou  

 (4) yEcou  foHksnu  foHkktu   
 

57. In higher plants the photosynthetic pigments 

are – 

 (1) Chl a + Chl b + Anthocyanins 

 (2) Chl a  + carotenoid 

 (3) Chl a + Ch b + carotenoids   

 (4) Chl b + carotenoids + phycobilins 

 mPpoXkhZ; ikS/kksa esa dkSu ls izdk'kla'ys"kh o.kZd 

(photosynthetic pigments) gksrs gS 

 (1) i.kZgfjr a + i.kZgfjr b + ,UFkkslk;fuu  

 (2) i.kZgfjr a  + dsjksfVukWbM 

 (3) i.kZgfjr a + i.kZgfjr b + dsjksfVukWbM  

 (4) i.kZgfjr b + dsjksfVukWbM + QkbdksfcfyUl 
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58. What is the unique process which has 
supported life on this planet 

 (1) N2 - fixation   
 (2) Photosynthesis  
 (3) Protein synthesis  
 (4) Respiration 

 og dkSu lh fof'k"V izfØ;k gS ftlus bl xzg ij 

thou dks lk/k j[kk gS 

 (1) N2 - fLFkjhdj.k  

 (2) izdk'kla'ys"k.k  

 (3) izksVhu la'ys"k.k  

 (4) 'olu 
 

59. The taxonomic hierarchy was introduced by 
 (1) Aristotle  (2) John Ray  
 (3) Linnaeus  (4) Huxley. 

 ofxZdh inkuqØe fdlds }kjk izLrqr fd;k x;k Fkk\ 

 (1) vjLrw  (2) tkWu js  

 (3) fyfu;l  (4) gWDlys 
  

60. While writing the scientific name of an 
organism which part of the name should not 
begin with a capital letter?  

 (1) Genus  (2) Order 
 (3) Species  (4) Family. 

 fdlh tho dk oSKkfudh uke fy[krs le; uke dk 

dkSulk Hkkx cM+s v{kj ls ugha fy[kk tkuk pkfg,& 

 (1) oa'k   (2) x.k   

 (3) tkfr   (4) dqy  
 

61. How many ATP are generated by 
fermentation process. 

 fd.ou izØe }kjk fdrus ATP mRikfnr fd;s tkrs gSa 

 (1) 4   (2) 3   
 (3) 2   (4) 0 
 

62. Different steps in respiration are controlled 
by  

 (1) Auxin  (2) Sugar   
 (3) Enzyme   (4) Kinetin  

 'olu esa fofHkUUk voLFkk,¡ fu;af=kr gksrh gaSA  

 (1) vkWfDlu }kjk   (2) 'kqxj }kjk    

 (3) ,Utkbe }kjk  (4) dkbusfVu }kjk  

 
63. Which structures in plants help in exchange 

of gases? 
 (1) Stomata only  
 (2) Lenticels only 
 (3) Stomata and lenticels both  
 (4) Neither stomata nor lenticels 

 ikS/kksa esa dkSu lh lajpuk,¡ xSlksa ds vknku&çnku 

esa lgk;rk djrh gSa\  

 (1) dsoy LVksesVk 

 (2) dsoy okrjU/kz 

 (3) LVksesVk vkSj okrjU/kz nksuksa 

 (4) u rks ja/kz vkSj u gh okrjU/kz 

64. The most resistant organic material present 

in the exine of pollen grains is 

 (1) cuticle   

 (2) suberin  

 (3) sporopollenin  

 (4) dipicolinic acid. 

 ijkxd.k dh ckápksy essaa mifLFkr lokZf/kd 

izfrjks/kd dkcZfud inkFkZ gS&  

 (1) mipeZ   

 (2) lqcsfju   

 (3) Liksjksiksysfuu   

 (4) Mkbfidksfyfud vEy  
 

65.  How many pollen mother cells will form 1000 

pollen grains- 

 1000 ijkxd.k fdruh ijkxd.k ekr` dksf'kdkvksa 

}kjk fufeZr fd, tk;sxasa\  

 (1) 200    (2) 250   

 (3) 300    (4) 100 
 

66. Pollen tablets & Syrups are nutritious & used by 

 (1) Horses of race & Athletes   

 (2) Pigs & Buffalo  

 (3) Athletes & Monkeys    

 (4) None  

 ijkx xksfy;ksa vkSj flji iks"kd;qä gksrs gSa vkSj 

ç;qDr fd;s tkrs gSa&  

 (1) /kkod v'oksa vkSj f[kykfM+;ksa ds }kjk   

 (2) lwvjkssa vkSj HkSalksa ds }kjk   

 (3) f[kykfM+;ksa vkSj cUnjksa ds }kjk    

 (4) dksbZ ugha 
 

67.  Intine of pollen grain is composed of 

 (1) Cellulose     

 (2) Sporopollenin & pectin  

 (3) Pectin & Cellulose   

 (4) Sporopollenin, Cellulose & Pectin 

 ijkxd.k dk vUr%pksy cuk gksrk gS  

 (1) lsyqykst dk     

 (2) Liksjksiksysfuu vkSj isDVhu dk  

 (3) isDVhu ,oa lsyqykst dk    

 (4) Liksjksiksysfuu, lsyqykst vkSj isDVhu dk 
 

68. Which of the following plant came in india as 

a contaminant with important wheat & 

causes pollen allergy. 

 (1) Chenopodium (2) Parthenium 

 (3) Castor  (4) Prosopis 

 fuEu esa ls dkSulk ikni Hkkjr esa vk;frr xsgw¡ ds 

lkFk lanw"kd ds :i esa vk;k rFkk ijkx,YkthZ dk 

dkj.k gSA  

 (1) phuksiksfM;e   (2) ikFkhZfu;e  

 (3) vj.Mh   (4) izkslksfil  
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69. The diameter of normal pollen grain is: 
 (1) 25 - 50 micrometer    
 (2) 60 - 80 micrometer 
 (3) 10 - 15 micrometer    
 (4) 4 - 6 micrometer 

 lkekU; ijkxd.k dk O;kl gksrk gSA  

 (1) 25 - 50 ekbØksehVj     

 (2) 60 - 80 ekbØksehVj 

 (3) 10 - 15 ekbØksehVj  

 (4) 4 - 6 ekbØksehVj 
 

70. Pure tall plant is crossed to dwarf plant F1 

generation has only tall plants while F2 

generation has both tall and dwarf in ratio of 
3 : 1. The phenomenon is due to 

 (1) Dominance   
 (2) Codominance  
 (3) Incomplete dominance     
 (4) Heredity.  

 'kq) yEcs ikni dk ckSus ikni ls ØkWl djkus ij  

F1 ih<+h esa dsoy yEcs ikni izkIr gksrs gSA F2 ih<+h 

esa yEcs o ckSus ikni 3 : 1 ds vuqikr esa izkIr gksrs 

gSA bl ifj?kVuk dk dkj.k gSA     

 (1) izHkkfork  (2) lgizHkkfork  

 (3) viw.kZ izHkkfork   (4) vkuqokaf'kdrk    
 

71. In which plant, one of the petals of flower 
mimics female bee? 

 (1) Ophrys   (2) Calotropis 
 (3) Parthenium   (4) Lantana 

 fuEu esa ls dkSu ls ikS/ks esa iq"Ik dk ,d ny ef{kdk 

dk vuqgj.k djrk gS\  

 (1) vkWfÝl  (2) dSyksVªksfil  

 (3) ikFksZfu;e  (4) ySaVkuk  
 

72.  "Animals obiviously have to be paid 'fees' for 
the service that plant expect them". It is 
related with-   

 (1) Parasitism   
 (2) Protocooperation  
 (3) commensalism  
 (4) mutualism   

 ^^ikni dks ftu lsokvksa dh vis{kk izkf.k;ksa ls gS 

mlds fy, ^'kqYd* rks nsuk gksxk** ;g fdlls 

lacaf/kr gS   

 (1) ijthfork   (2) izkd~lg;ksfxrk  

 (3) lgHkksftrk   (4) lgksidkfjrk  
 

73. ',+/+' type interaction is observed in :` 
 (1) Commensalism  (2) Predation 
 (3) Mutualism  (4) Parasitism 

 ',+/+' izdkj dk ikjLifjd fØ;k fdlesa ik;k  

tkrk gS&  

 (1) lgHkksftrk  (2) ijHk{k.k  

 (3) lgksidkfjrk  (4) ijthfork  

74. ‘Red Data Book’ provides data on  
 (1) biota of red sea.    

 (2) effect of red light on photosynthesis. 

 (3) red pigmented plants.   

 (4) threatened species. 

 ‘jsM MkVk cqd’ fuEu ij vkadM+k miyC/k djkrk gS&  

 (1) yky lkxj dk ck;ksVk    

 (2) izdk'k la'ys"k.k esa yky fdj.kksa ds izHkko 

 (3) yky o.kZd/kkjh ikniksa      

 (4) ladVxzLr tkfr;ksa 

 

75.  The Concept of ‘Biosphere Reserve’ was 

evolved by  

 (1) UNESCO.     

 (2) Government of India. 

 (3) Botanical survey of India.   

 (4) Zoological survey of India. 

 ‘tSo&e.My vkj{kh’ vo/kkj.kndks fodflr fd;k 

x;k FkkA  

 (1) UNESCO }kjk    

 (2) Hkkjr ljdkj }kjk  

 (3) Hkkjr ds okuLifrd losZ{k.k }kjk   

 (4) Hkkjr ds izk.kh losZ{k.k }kjk 

 

PART-IV (Hkkx-IV): 

ZOOLOGY (tarq foKku) 
 

SECTION  : (Maximum Marks : 100) 

[kaM  : (vf/kdre vad : 100) 

 This section contains TWENTY FIVE (25)

 questions. 

 Each question has FOUR options (1), (2), 

 (3) and (4). ONLY ONE  of these four option 

 is correct  

 Marking scheme : 

 Full Marks : +4  If only the bubble 

 corresponding to the correct option is 

 darkened 

  Zero Marks :   0  If none of the bubble is 

 darkened 

 bl [kaM esa iPphl (25) iz'u gSaA  

 izR;sd iz'u esa pkj fodYi (1), (2), (3) rFkk (4) gSaA 

bu pkj fodYiksa esa ls dsoy ,d fodYi lgh gSaA 

 vadu ;kstuk : 

  iw.kZ vad % +4 ;fn flQZ lgh fodYi gh pquk 

 x;k gSA 

  'kwU; vad %   0  ;fn dksbZ Hkh fodYi ugha pquk 

 x;k gS ¼vFkkZr~ iz'u vuqÙkfjr gS½A 
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76. Assertion (A) : Chitinase is used for 

treating the cells of yeast to assist DNA 

extraction. 

  Reason (R) : Yeast cell wall is made of 

chitin. 

(1) Both (A) and (R) are correct and (R) is 

 the correct explanation of (A) 

 (2) Both (A) and (R) are correct but (R) is 

 not the correct explanation of (A) 

 (3) (A) is correct but (R) is not correct 

 (4) (A) is not correct but (R) is correct 

 dFku (A) :  dkbfVust dks DNA fu"d"kZ.k esa 

lgk;rk ds fy, ;hLV dh dksf'kdkvksa ds mipkj 

esa iz;qDr fd;k tkrk gSA  

 dkj.k (R) : ;hLV dksf'kdk dh fHkfÙk dkbfVu dh 

cuh gksrh gSA  

(1) (A) vkSj (R) nksuksa lgh gSa vkSj (R) (A) dk 

 lgh Li"Vhdj.k gSA 

 (2) (A) vkSj (R) nksuksa lgh gSa ysfdu (R) (A) 

  dh lgh O;k[;k ugha gSA 

 (3) dFku (A) lgh gS ysfdu (R) lgh ugha gSA 

 (4) dFku (A) lgh ugha gS ysfdu (R) lgh gSA 

 

77.  The amount of air that goes out in lungs in a 

single breath is called 

 (1) vital capacity 

 (2) Tidal volume 

 (3) Residual volume    

 (4) Inspiration and expiration 

 ok;q dh ek=kk tks ,d  ,dy 'okl esa QSQMksa ls 

ckgj tkrh gS rFkk vUnj vkrh gS] dgykrh gS  

 (1) tSo {kerk     

 (2) vUr%'olu ,oa mPNolu 

 (3) vo'ks"kh  

 (4) vUr%'olu ,oa mPNolu 

 

78.  Three of the following pairs of the human 

skeletal parts are correctly matched with 

their respective inclusive skeletal category 

and one pair is not matched. Identify the 

non-matching pair.      

 Pairs of  
skeletal parts 

Category 

(1) Sternum and 
Ribs 

axial skeleton 

(2) Clavicle and  
Glenoid cavity 

Pelvic girdle 

(3) Humerus and 
ulna 

Appendicular 
skeleton 

(4) Malleus and 
stapes 

Ear ossicles 

 ekuoh; dadkyh; Hkkxksa ds fuEufyf[kr tksM+ksa esa 

rhu tksM+s mudh viyh&viuh dadkyh; Js.kh ls 

lgh feyk;s x;s gSa tcfd ,d tksM+k lgh ugha 

feyk;k x;k gSA bl csesy tksMs+ dh igpku dhft,A  
   

 dadkyh; Hkkxksa ds 

tksM+s 

Js.kh 

(1) LVuZe rFkk 

ilfy;k¡ 

v{kh; dadky 

(2) DySfody rFkk 

XyhukWbM dSfoVh ” 

¼val myw[ky½  

Jksf.k es[kyk 

(3) áwejl rFkk vYuk mikaxh dadky 

(4) eSfy;l rFkk 

LVsiht 

d.kkZfLFk;k¡ 

 

79.  What was the most significant trend in 

evolution of modern man (Homosapiens) 

from his ancestors ? 

 (1) Upright posture  

 (2) Shortening of jaws   

 (3) Binocular vision    

 (4) lncreasing brain capacity 

  vk/kqfud ekuo ¼gkseks lsfi,Ul½ ds fodkl dh og 

dkSu lh lokZf/kd egRoiw.kZ izof̀r Fkh tks mls vius 

iwoZtks ls feyh Fkh\ 

 (1) lh/ks [kMs+ gksus dh 'kjhjeqnzk    

 (2) tcM+ks dk NksVs gksrs tkuk  

  (3) f}us=kh n`f"V      

 (4) c<+rh gqbZ efLr"d /kkfjrk  
 

80.  The neurotransmitter-filled synaptic vesicles 

are found in 

 U;wjksVªkalehVj es ls Hkjs fluSfIVd iqfVdk,a ik, tkrs gSa 

 (1) i'p fluSfIVd f>Yyh 

 (2) i'p &fluSfIVd iqfVdk,a dh xzkfg lkbVsa 

 (3½ rfU=kdk{k &Nksj 

 (4) nzqek{; ds Nksj ij 
 

81.  The bacterium Bacillus thuringiensis is 

widely used in contemporary biology as : 

 (1) Indicator of water pollution   

 (2) Insecticide   

 (3) Agent for production of dairy products 

 (4) Source of industrial enzyme 

 thofoKku esa csDVhfj;e csflyl dk foLr`r :i 

ls mi;ksx fdl fy, fd;k tkrk gS 

 (1) ty iznw"k.k esa ladsrd ds :i esa   

 (2) dhVuk'kh ds :i esa  

 (3) Ms;jh mRiknksa ds mRiknu esa   

 (4) vkS|ksfxd mRikndks ds òksr ds :i esa 
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82.  Microinjection of desired genes into 
fertilized eggs results in 

 (1) Cloned animals   
 (2) Free moritns  
 (3) Transgenic animals   
 (4) recombinant mammals  

 fu"ksfpr v.Mksa esa okafNr thuks dk lw{e izR;kjksi.k 

¼ekbØksbatsD'ku½ dk ifj.kke D;k gksrk gS           

 (1) Dyksfur tUrq   (2) Ýh ekWfVZu   

 (3) ikjthuh tUrq  (4) iqu;ksZxt Lru/kkjh  
 

83.  In which condition, oxygen dissociation 
curve of haemoglobin shifts to right of the 
normal curve? 

 (1) Decrease in CO2 concentration  
 (2) Decrease in acidity 
 (3) Decrease in pH  
 (4) Decrease in temperature 

 fdl ifjfLFkfr esa gheksXyksfcu dk vkWDlhtu 

fo;kstu oØ] lkekU; oØ ds nka;h vksj foLFkkfir 

gks tkrk gS\  

 (1) CO2 lkanzrk esa deh (2) vEyh;rk esa deh  

 (3) pH esa deh   (4) rkieku esa deh  
 

84.  Colourless plasma without corpuscles or 
fibrinogen is also known as 

 (1) Chyle   (2) Haemoconis  
 (3) Serum   (4) Thrombus  

 df.kdkvksa o Qkbfczukstu jfgr 'osr IykTek 

dgykrk gSA  

 (1) dkby  (2) gheksdksful  

 (3) lhje   (4) FkzksEcl 
 

85.  Which of the following statement is false for 
uterus? 

 (1) It is also called womb and its shape is 
 like an inverted pear 

 (2) It is supported by ligaments attached to 
 the pelvic wall 

 (3) It opens into oviducts through cervix 
 whose cavity is called cervical canal 

 (4) It is bound by three layers, outer 
 perimetrium, middle myometrium and 
 inner endometrium 

 xHkkZ'k; ds fy, fuEufyf[kr esa ls dkSu lk dFku 

xyr gS\ 

 (1) bls xHkZ Hkh dgrs gSa vkSj bldk vkdkj mYVs 

 uk'kikrh tSlk gksrk gS 

 (2) ;g Jks.kh fHkfÙk ls tqM+s Luk;qvksa }kjk tqM+k 

 gksrk gSA 

 (3) ;g xHkkZ'k; xzhok ds ek/;e ls fMacokfgfu;ksa esa 

 [kqyrk gS ftldh xqgk dks xzhok ugj dgk tkrk gS 

 (4) ;g rhu ijrksa ls ca/kk gksrk gS] ckgjh 

 isfjesfVª;e] e/; ek;ksesfVª;e vkSj vkarfjd 

 ,aMksesfVª;e 

86.  Match the following columns. 

  

Column I 

(Female 

reproductive parts) 

Column II 

(Related to) 

A Ovaries  1 Fertilisation 

B  Oviduct  2  Ovulation 

C Uterus  3  Pregnancy 

D Cervix 4  Childbirth 
 

 fuEufyf[kr dkWyeksa dk feyku djsaA 

 dkW‚ye I 

¼efgyk çtuu vax½ 

d‚kWye II 

¼lacaf/kr½ 

A vaMk'k;  1 fu"kspu 

B  fMacokfguh  2  vksO;wys'ku 

¼v.MksRlxZ½ 

C xHkkZ'k;  3  xHkkZoLFkk 

D xHkkZ'k; xzhok 4  çlo¼tUe½ 

 Codes 

 A B C D 

(1)  2  1  3  4  

(2)  1  2  3  4 

(3)  4  3  1  2  

(4)  2  3  4  1 

 

87.  Select the correct statement from the 

following 

 (1) Methanobaeterium is aerobic bacterium 

 found in rumen of cattle 

  (2) Biogas, commonly called gobar gas, is 

 pure methane 

  (3) Activated sludge-sediment in settlement 

 tanks of sewage treatment plant is a rich 

 source of aearobic bacteria   

 (4) Biogas is produced by the activity of 

 aerobic bacteria on animal waste 

 fuEufyf[kr eas ls lgh dFku dks pqfu,   

 (1) ehFksuksCkSDVhfj;e ,d ok;oh; cSDVhfj;k gS tks 

 eosf'k;ksa ds :esu esa ik;k tkrk gSA  

  (2) lkekU;r% xkscj xSl dgh tkus okyh ck;ks xSl 

 'kq) ehFksu gksrh gSA  

  (3) lhost VªhVesaV IykaV (eyty mipkj la;=k)  ds 

 lsVyesaV VSadksa esa lfØ;Ñr vkiad volkn 

 ok;oh; cSDVhfj;k dk ,d Hkjiwj L=kksr gksrk gSA  

 (4) ck;ksxSl dk mRiknu izk.kh vif'k"V ij 

 ok;oh; cSDVhfj;k dh fØ;k ls gksrk gSA  
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88.  Select the Taxon mentioned that represents 

both marine and fresh water species : 

 (1) Echinoderms   

 (2) Ctenophroa   

 (3) Cephalocoradata   

 (4) Cnidaria  

 crk;s x, VsDlksuksa esa mldk pquko dhft, ftlesa 

nkasuksa leqnzh vkSj LoPN tyh; tkfr;k¡ gksrh gSaA  

 (1) ,dkbuksMeZl    

 (2) VhuksQksjk   

 (3) flQsyksdkMsZVk   

 (4) uhMsfj;k 

 

89.  Which of the following statements about the 

skeletal muscles is correct? 

 (1) They are striated muscles 

 (2) They are voluntary muscles 

 (3) They are primarily involved in 

 locomotory actions 

 (4) All 

 dadkyh; isf'k;ksa ds fo"k; esa D;k lR; gSA  

 (1) ;g jsf[kr isf'k;k gS  

 (2) ;g ,fPNd isf'k;k gSA  

 (3) ;g eq[; :i lss pyus ds dk;Z esa dke vkrh gSA 

 (4) mijksDr lHkh  

90.  Planaria possess high capacity of: 

 (1) metamorphosis  

 (2) regeneration    

 (3) alternation of generation   

 (4) bioluminescence 

 Iysusfj;k esa fdldh vf/kd {kerk gksrh gS\ 

 (1) dk;karj.k   

 (2) iqu:nHkou   

 (3) ih<+h ,dkarj.k   

 (4) tSo&lanhfIr 

 

91.  Given below are two statements: 

 Statement I:  The phylum Aschelminthes 

represent pseudocoelomates   

 Statement II:  In Aschelminthes, mesoderm 

is present as scattered pouches in between 

ectoderm and endoderm 

 choose the correct answer from the option 

given below :   

 (1) Statement I is correct but Statements II 

 is incorrect 

 (2) Statement I is incorrect but Statements 

 II is correct 

 (3) Both Statement I and Statements II are 

 correct 

 (4) Both Statement I and Statements II are 

 incorrect 

 uhps nks dFku fn;s x;s gSa %  

 dFku I : ,LdsfYeaFkht la?k dwVnsgxqfg;ksa dks n'kkZrk gSA  

 dFku II : ,sLdsfYeaFkht esa e/;'peZ] ckápeZ o 

vUr'peZ ds chp fc[kjh gqbZ FkSfy;ksa ds :i esa 

mifLFkr gksrh gSA  

 mi;qZDRk dFkuksa ds fo"k; esa] fuEufyf[kr fodYiksa 

esa ls lgh mÙkj pqfu, %    

 (1) dFku I  lgh gS] vkSj dFku II  xyr gSA 

 (2) dFku I xyr gS] vkSj dFku II lgh gSA 

 (3) dFku I vkSj dFku II nksuksa gh lgh gSA 

 (4) dFku I vkSj dFku II nksuksa gh xyr gSA 

 

92.  Ca+2 bind _______in the skeletal muscles 

and leads to exposure of the binding site for 

________on the filament__________ 

 (1) Troponin, myosin, actin      

 (2) Troponin, actin, myosin 

 (3) Actin, myosin, troponin      

 (4) Tropomyosin, myosin, actin   

 Ca+2 dadkyh isf'k;ksa eas _______ ls cf/kr gksrk 

gS rFkk_______ds fy;s cf/kr lrg ds mn~?kVu 

dks________ds rUrq ij izsfjr djrk gSA  

 (1) Vªksiksfuu, ek;ksflu, ,DVhu      

 (2) Vªksiksfuu,,DVhu , ek;ksflu 

 (3) ,DVhu, ek;ksflu, Vªksiksfuu    

 (4) Vªksiksek;ksflu, ek;ksflu, ,DVhu   

 

93.  The basic unit of chitin is- 

 (1) N-acetyl glucosamine    

 (2) Glucose 

 (3) Galactose      

 (4) Fructose 

 dkbfVu dh vk/kkjh; bdkbZ gS& 

 (1) N-acetyl glucosamine    

 (2) Glucose 

 (3) Galactose      

 (4) Fructose 

 

94.  The immunity conferred by T-lymphocyte is 

known as 

 (1) Humoral mediated  

 (2) Tissue mediated  

 (3) Cell mediated   

 (4) Neural mediated 

 T-fyEQkslkbV }kjk iznku dh tkus okyh izfrj{kk 

dgykrh gSA  

 (1) rjy e/;LFk  

 (2) Ård e/;LFk 

 (3) dksf'kdk e/;LFk 

 (4) raf=kdk e/;LFk 
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95.  Assertion (A) : In the descending limb of 

loop of Henle, the urine is hypertonic, while 

in the ascending limb of  loop of Henle, the 

urine becomes hypotonic.   

 Reason (R) : Descending limb is 

impermeable to Na+ , while ascending limb 

is impermeable to H2O .  

(1) Both (A) and (R) are correct and (R) is 

 the correct explanation of (A) 

 (2) Both (A) and (R) are correct but (R) is 

  not the correct explanation of (A) 

 (3) (A) is correct but (R) is not correct 

 (4) (A) is not correct but (R) is correct 

 dFku (A) : gsuys ywi dh vojksgh Hkqtk esaa ew=k 

vfrijkljh gksrk gS tcfd vkjksgh Hkqtk esa ew=k 

vYiijkljh gks tkrk gSA 

 dkj.k (R) : vojksgh Hkqtk Na+ vk;uksa ds fy, 

vikjxE; gksrh gS] tcfd vkjksgh Hkqtk ty ds fy;s 

vikjxE; gksrh gSA 

 (1) (A) vkSj (R) nksuksa lgh gSa vkSj (R) (A) dk 

 lgh Li"Vhdj.k gSA 

 (2) (A) vkSj (R) nksuksa lgh gSa ysfdu (R) (A) 

  dh lgh O;k[;k ugha gSA 

 (3) dFku (A) lgh gS ysfdu (R) lgh ugha gSA 

 (4) dFku (A) lgh ugha gS ysfdu (R) lgh gSA 

 

96.  At a time when the symptoms of the disease 

are not yet visible, very low concentration of 

a bacteria or virus can be detected by which 

technique – 

 (1) gel electrophoresis  

 (2) PCR 

 (3) ELISA 

 (4) gene therapy 

 ,sls le; esa tc jksx ds y{k.k vHkh rd fn[kkbZ 

ugha ns jgs gksa] fdl rduhd ls cSDVhfj;k ;k 

ok;jl dh cgqr de lkaærk dk irk yxk;k tk 

ldrk gS & 

 (1) tsy oS|qrd.klapyu 

 (2½ PCR 

 (3) ELISA 

 (4) thu Fksjsih 

97.  The shared terminal duct of the reproductive 

and urinary system in the human male is: 

 (1) Urethra  (2) Ureter  

 (3) Vas deferens (4) Vasa efferentia 

 ekuo uj esa tuu vkSj ew=k iz.kkyh dh lk>h vaR; 

okfgdk gS% 

 (1) ew=k ekxZ   (2) ew=k okfguh   

 (3) 'kqØ okgd  (4) 'kqØokfgdk  

 

98.  Tubectomy is method of sterilization in 

which:  

 (1) small part of the fallopian tube is 

 removed or tied up. 

 (2) ovaries are removed surgically 

 (3) small part of vas deferens is removed or 

 tied up. 

 (4) uterus is removed surgically 

 V;wcDVkseh ca/;dj.k ds ,d fof/k gS ftlesa % 

 (1) fMacokfguh uyh dk NksVk Hkkx fudky ;k cka/k 

 fn;k tkrk gSA 

 (2) vaMk'k; dh 'kY;fØ;k fof/k ls fudky fn;k 

 tkrk gSA 

 (3) okl MsQjsUl dk NksVk Hkkx fudky fn;k tkrk 

 gS ;k cka/k fn;k tkrk gSA 

 (4) xHkkZ'k; 'kY;fØ;k fof/k }kjk fudky fn;k 

 tkrk gSA 

 

99.  Which of the following is a hormone 

releasing intra Uterine Device (IUD) ? 

 (1) Multiload 375 (2) LNG – 20  

 (3) Cervical cap  (4) Vault 

 fuEufyf[kr esa ls dkSu ,d gkeksZu eksfpr djus 

okyh baVªk;wVsjkbu ;qfä ¼vkb ;w Mh½ gS % 

 (1) eYVhyksM&375 (2) ,y ,u th& 20 

 (3) xzhok Vksih  (4) okYV 

 

100.  Exonuclease cuts DNA from   

 (1) specific position within DNA 

 (2) ends of DNA  

 (3) Both (1) & (2) 

 (4) None of these 

 ,DlksU;wfDyt DNA dks dkVrk gS 

 (1) DNA ds Hkhrj fof'k"V fLFkfr 

 (2½ DNA ds ckgjh fljs 

 (3) nksuksa (1) & (2) 

 (4) buesa ls dksbZ ugha 
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FOR CLASS-X TO XI MOVING | SAMPLE TEST PAPER (STP)-1 

 

ANSWER KEY (AK) 

PART-I: 
BIOLOGY 

Q.No. 1 2 3 4 5 6 7 8 9 10 

Ans. 3 4 2 2 4 2 1 2 3 2 

Q.No. 11 12 13 14 15 16 17 18 19 20 

Ans. 3 1 3 2 1 2 4 4 2 3 

Q.No. 21 22 23 24 25 26 27 28 29 30 

Ans. 2 1 1 2 1 2 2 3 2 1 

PART-II: 
MATHS 

Q.No. 31 32 33 34 35 36 37 38 39 40 

Ans. 1 4 4 2 3 3 2 1 2 4 

Q.No. 41 42 43 44 45 

 

Ans. 1 3 3 2 2 

PART-III: 
PHYSICS 

Q.No. 46 47 48 49 50 51 52 53 54 55 

Ans. 1 1 3 4 2 1 1 3 3 3 

Q.No. 56 57 58 59 60 

 

Ans. 3 1 1 2 1 

PART-IV: 
CHEMISTRY 

Q.No. 61 62 63 64 65 66 67 68 69 70 

Ans. 4 1 1 2 3 1 2 3 2 1 

Q.No. 71 72 73 74 75 

 

Ans. 1 4 4 4 1 

 
 

  

mailto:contact@resonance.ac.in


 SAMPLE TEST PAPER (STP)   
 

 

 

 Reg. & Corp.Office: CG Tower, A-46 & 52, IPIA, Near City Mall, Jhalawar Road, Kota (Raj.)-324005 

 Website : www.resonance.ac.in | E-mail : contact@resonance.ac.in 
STPPH125 |  PAGE # 56 

 Toll Free : 1800 258 5555 | CIN: U80302RJ2007PLC024029 
 

FOR CLASS-XI TO XII MOVING | SAMPLE TEST PAPER (STP)-2 

ANSWER KEY (AK) 

PART-I: 
CHEMISTRY 

Q.No. 1 2 3 4 5 6 7 8 9 10 

Ans. 2 1 4 2 1 2 2 3 2 1 

Q.No. 11 12 13 14 15 16 17 18 19 20 

Ans. 3 1 2 2 3 3 1 4 1 3 

Q.No. 21 22 23 24 25 
 

Ans. 3 3 4 3 3 

PART-II: 
PHYSICS 

Q.No. 26 27 28 29 30 31 32 33 34 35 

Ans. 4 2 3 4 4 1 3 4 2 4 

Q.No. 36 37 38 39 40 41 42 43 44 45 

Ans. 4 1 1 3 2 1 3 1 3 3 

Q.No. 46 47 48 49 50 
 

Ans. 4 4 2 1 4 

PART-III: 
BOTANY 

Q.No. 51 52 53 54 55 56 57 58 59 60 

Ans. 1 3 1 4 3 3 3 2 2 4 

Q.No. 61 62 63 64 65 66 67 68 69 70 

Ans. 1 1 2 2 3 3 3 2 1 1 

Q.No. 71 72 73 74 75 
 

Ans. 3 3 1 2 4 

PART-IV: 
ZOOLOGY 

Q.No. 76 77 78 79 80 81 82 83 84 85 

Ans. 2 1 2 2 2 2 3 1 2 3 

Q.No. 86 87 88 89 90 91 92 93 94 95 

Ans. 1 4 3 1 4 4 4 2 3 2 

Q.No. 96 97 98 99 100 
 

Ans. 4 1 4 3 3 
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FOR CLASS-XII APPEARED / PASSED | SAMPLE TEST PAPER (STP)-3 
 

ANSWER KEY (AK) 

PART-I: 
CHEMISTRY 

Q.No. 1 2 3 4 5 6 7 8 9 10 

Ans. 3 4 2 3 4 2 1 3 2 3 

Q.No. 11 12 13 14 15 16 17 18 19 20 

Ans. 3 3 3 2 1 1 3 3 3 3 

Q.No. 21 22 23 24 25 
 

Ans. 4 2 4 3 2 

PART-II: 
PHYSICS 

Q.No. 26 27 28 29 30 31 32 33 34 35 

Ans. 2 4 3 1 2 4 4 2 1 2 

Q.No. 36 37 38 39 40 41 42 43 44 45 

Ans. 4 2 3 1 3 3 2 2 1 3 

Q.No. 46 47 48 49 50 
 

Ans. 2 4 2 3 1 

PART-III: 
BOTANY 

Q.No. 51 52 53 54 55 56 57 58 59 60 

Ans. 2 2 1 4 3 2 3 2 3 3 

Q.No. 61 62 63 64 65 66 67 68 69 70 

Ans. 3 3 3 3 2 1 3 2 1 1 

Q.No. 71 72 73 74 75 
 

Ans. 1 4 3 4 1 

PART-IV: 
ZOOLOGY 

Q.No. 76 77 78 79 80 81 82 83 84 85 

Ans. 3 2 2 4 3 2 3 3 3 3 

Q.No. 86 87 88 89 90 91 92 93 94 95 

Ans. 1 3 4 4 2 3 1 1 3 1 

Q.No. 96 97 98 99 100 
 

Ans. 2 1 1 2 2 
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TEXT SOLUTIONS (TS)  

SAMPLE TEST PAPER (STP)-1 
FOR CLASS-X TO XI MOVING 

 

PART-I: BOTANY & ZOOLOGY 
 

1 to 30. Refer to Answer Key 
 

PART-II: MATHS 
 

31. Let the numbers are x1 & x2 
 according to question x1 – x2 = 2 
     x1x2 = 17 

 than x1 + x2 = 21
2

21 xx4)x–x(   

 = )17(4)2( 2   = 72  = 26  

32. Let the present age of father = x years 
and the present age of son = y years 
One year ago, 

 Age of father = (x-1) yrs. 
age of son = (y-1) yrs. 
According to condition, 
Age of Father one year ago = 7 (age of 
Son one year ago) 
(x-1) = 7(y-1) 
x-1 = 7y-7 
x-7y-1+7 = 0 
x-7y+6 = 0 

 
33. Circumference  = perimeter 

 2r = 4a 

 


a2
  

 
circleofArea

squaretheofArea
 

2

2

r

a


  

 







a2a2

a2

= 4:
4a4

a
2

2







 

 
34.   Pressing keys for 1 digit numbers 
  = 9 × 1 = 9  
 Pressing keys for 2 digit number 
  = 90 × 2 = 180  
 Pressing keys for 3 digit number 
  = 101 × 3 = 303  
 Total    = 9 + 180 + 303 = 492  
 

35. 2  = 1.414 

 3  = 1.732 

 so a Rational number between 2  & 3   
= 1.5 

 so  
2

2  is a rational number. 

 
36.  f(–P) = 0  

 (–P)2 + P(–P) + 3 – P = 0  

 P2 – P2 + 3 – P = 0  

 P = 3  

 

37.  

 

38. a = 165 cm , b = 143 cm ,  

 c = 154 cm 

 s = 
a b c

2

 
 = 231 

 by heron’s formula  

 = (s)(s – a)(s – b)(s – c)  

 = 11 21 11 6 11 8 11 7        

 = 11 × 11 × 7 × 3 × 4 = 10164 cm2 

 Cost of ploughing = 10164 × 2  

 = Rs 20328.00 
 

 

39. Given, 2x - 5y + 5 = 0    

 Concept used :  

 Compare the coefficient of the given 

equation to the standard equation. 

 Standard form of equation is 

 y = mx +c  ….(i)  

 Now,  

 2x –5y + 5 = 0  

 5y  = 2x + 5  

 y  = (2/5) x + 1 ….(ii) 

 On comparing coefficient of equation (i) & 

(ii), we get  

 m = 
5

2
, c =1   

40. ADC = 
2

1
ADC = 45°. [Angle formed on 

the circle is half of the angle formed at the 

centre by the same arc] Since ABCD is a 

cyclic quadrilateral 

 D + ABC = 180° 

 ABC = 180° – D = 180° – 45° 

 ABC = 135°. 
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41. When p(y) is divided by (y + 2), then by 

remainder theorem the required 

remainder will be p(-2). 

 p(-2) = 4(-2)3 – 3(-2)2 + 2(-2) – 4 

 = –32 – 12 – 4 – 4  

 = –52 

 

42. Number of squares between 1 to 100  

= 1, 4, 9, 16, 25, 36, 49, 64, 81 and 100. 

Probability of obtaining a square card  

= 10/100 = 1/10. 

 

43. (x – 5)(x + 3)(x + 7) 

 = x3 + (-5 + 3 + 7)x2 + (-15 + 21 - 35)x - 105. 

 =  x3 + 5x2 – 29x – 105 

 Coefficient of x2 is 5. 

 

44. As the polygon is regular, so all sides are 

equal let number of sides be n.  Then, 

number of sides 72°n = 360° [The sum of 

all angles at the centre is 360°] 

 Therefore, n = 5 

 So, number of sides in polygone is 5.  

 

45. 1 : 2 : 3 

 

PART-III: PHYSICS 
 

46. 
a

v2
tvtat

2

1 2   

 

47. 
2

g3

2

g
g1)ag(mT1 








  

 
2

g

2

g
g1)ag(mT2 








    

1

3

T

T

2

1   

48. 
2
0

0

2
0

0

2 D

GM4

)2/D(

GM

R

GM
g   

 

49. 
g

P
h


  

g

1
h  . If lift moves upward with 

some acceleration then effective g 

increases. So the value of h decreases i.e. 

reading will be less than 76 cm. 

 

50. Kinetic energy acquired by the body  

 = Force applied on it × Distance covered 

by the body 

 K.E. = F × d 

 If F and d both are same then K.E. 

acquired by the body will be same 

 

51. 
4

1

16

1

v

vP
v

2

2

2

2

o

H

H

O










  

52. Let initial )0( t  velocity of particle u  

 For first 5 sec motion metres 105   

 22 )5(a
2

1
u510at

2

1
uts   

 4a5u2           …(i) 

 For first 8 sec of motion metres 208   

 5a8u2)8(a
2

1
u820 2    …(ii)  

 By solving 2s/m
3

1
a ands/m

6

7
u   

 Now distance travelled by particle in Total 
10 sec. 

 2
10 )10(a

2

1
10us   

 By substituting the value of u and a we will 

get m3.28s10   

 so the distance in last 810 sssec2   

 m3.8203.28   

 

53. s/m1510
1000

5001000
10t

m

F
uv 







 
  

54.     

 

 
m 

R 

O R 

m 

 
 Centripetal force provided by the 

gravitational force of attraction between 
two particles  

 i.e. 
2

2

)R2(

mGm

R

mv 


R

Gm
v

2

1
  

 

55. 

 

Oil 

Mercury 

  

 

 As the sphere floats in the liquid. 
Therefore its weight will be equal to the 
upthrust force on it  

 Weight of sphere  

 gR
3

4 3                  …(i) 

 Upthrust due to oil and mercury  

 gR
3

2
gR

3

2
Hg

3
oil

3     …(ii) 

 Equating (i) and (ii)  

 g6.13R
3

2
g8.0R

3

2
gR

3

4 333 

2.74.146.138.02   
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56. When the ball is released from the top of 

tower then ratio of distances covered by 

the ball in first, second and third second 

 :5:3:1h:h:h IIIIII    

 [because )]1n2(hn   

  Ratio of work done IIIIII mgh:mgh:mgh

= 1:3:5 

 

57. The time taken by the stone to reach the 

lake 

 sec10
10

5002

g

h2
t1 







 









   

 (Using 2tg
2

1
uth  ) 

 Now time taken by sound from lake to the 

man  

 sec5.1
340

500

v

h
t2   

 Total time t1 + t2 = 10 + 1.5 

        = 11.5 sec 

 

58. s/m501050vatuv   

59. )ag(m
dt

udm
F   

  
u

)ag(m

dt

dm 
  

            
800

)2010(5000 
  s/kg5.187  

 

60. 
n

2

R

1
Rm   

  
n2

2

R

1
R

T

4
m 













 
 

  1n2 RT   

 







 


2

1n

RT  

 

PART-IV: CHEMISTRY 
 

61. 
mass.At

weight
mole1   

 
28

x
1  

 x = 28 g 

62. Metting process and in it state and volume 
decreases. 

63. Liquid in gas colloidal solutions. 
 
64. Formula limit mass of Na2SO3  

 Atomic mass of Na = 23 , S = 32 , O = 16 
 So,  2 × 23 + 1 × 32 + 3 × 16 
  = 46 + 32 + 48  
  = 126 u 
 
65. 9.1 × 10–27 g 
 
66. Alloy of copper and zinc 
 

67. MHPO4    =   M+2  HPO4
-2 

 Metal chloride    =   M+2Cl- 
      =   MCl2 

68. mass number (1) = 14 
 neutron = 8  

 p = 14  8 = 6 
 Atomic no. = 6 , element = carbon 
69. Potassium Chloride KCl is strong ionic 

chloride in solid state. Where as NH4Cl is 
weak & Iodine is gas & Solid CO2 is gas. 

 
70. potassium chloride 
 

71. CaO2OCa2 2   

  16402216402   

 112562g32g80  g 

 80 g Calcium gives = 
g80

g112
 

 1g Calcium will give = 5
80

112
 = 7g Ans. 

 
72. 2n2 , n = no. of shell  
 = 2 × (4)2 = 2 × 16 = 32 
 
73. Boiling point 
 
74. All  
 
75. molecular mass of 

  KCl = 39+ 35.5 = 74.5 g 
 
------------- TEXT SOLUTION (TS) END ------------- 
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TEXT  SOLUTIONS (TS) 
SAMPLE TEST PAPER(STP)-2

FOR CLASS-XI TO XII MOVING 

PART-I: CHEMISTRY 
 

1.  Nitric acid reacts with sodium Hydroxide 
as an acid & forms Sodium Nitrate & 
water. It is a neutralisation reaction.  

 

2. HF is unique in forming acid salts as 
difluoride ion froms H bond with HF as FH. 

 

3. Malachite – Copper Carbonate Hydroxide 
Cu2CO3(OH)2 

 Cinnabar – Mercury II Sulphide Hgs 
 Galena – leand II Sulphide PbS 
 Fluorspar – Calcium Fluoride CaF2  
 Argentite – Ag2S Silver Sulfide   
 

4. 
 C – C – C – C – C 
 
 

 | 
C 
 |   
C  
 

 

 Option B have a different chain position A, 
C, D have a 2, 3 position of C atom.  

 

5. The element which is just above the element 
with atomic no. is Mn. Atomic no. of Mn is 25 
so the A option is correct answer.  

  According to periodic table first 2, 8, 8, 18 four 
orbit containing 36 electron so the element will 
present before 43 atomic no. is in 4 period.   

 

6. According to Balance Chemical equation no. 
of reactant & no. of product of atom will remain 
same. In R.H.S. side Al is 2 so a = 2, S is 3 so 
b is 3 following low of conservation of mass.  

 

7. 7.4 Basic in nature.  
 

8.  Pure chromium is produced by thermal 
reduction of Cr2O7 with aluminium or by 
the electrolysis of trivalent chromium 
solution. The alumino thermic process 
begins with the roasting of fine ore, soda 
& lime in air at 1100°C. 

 

9. Organic compound are not having strong 
force they have weak covalent bond 
that's there m.p. & b.p are not high.  

 

10. Representative elements are the element 
which lie in the group 1 & 2 on the far left 
& the last six columns or groups on the 
far right corner of the periodic table.          

11. Neutralisation reaction & precipitation 
reaction is called partner / ion exchange 
reaction whereas chemical decomposition 
is a reaction of decompose of a one 
compound reactant & produce two or 
more then two product.  

 

12.  Metal carbonate reacts with acid to give 

salt, water & CO2 as a product.  
 

13.  Malchite is on ore of carbonate form as 
CuCO3. 

 

14. Graphite has layer structure in hexagonal 
shape one or more layers above the layer 
that's graphite is used as a lubricant.  

 

15. Non-metal are present in p-block they gain 
electron to get stable electronic 
configuration so they have 4, 5, 6, 7, 8 
maximum no. of electron to make a anion   

 

16. Decomposition of silver is used as a blank 
& white photography. 

 AgBr 
h Ag + Br2 

 

17. Fe + S  FeS  
 

18. Li, Na, K, Cs belong to alkali metal & 
basicity of hydroxide of these metals 
increase when going down the group so 
CsOH is heighest in basicity as compared 
to other alkali metal hydroxide.  

 

19. formaldehyde 

 QksesZfYMgkbM  
 

20. The oxides of non-metal which is neutral 
is CO because neither it is basic nor 
acidic in nature because when it is reacts 
with water acid base, it not produce salt.  

 

21. Cf 
 

22.  H3C – C  C – CH – CH2 – CH3 

 

 
 

 | 
CH3 

1      2       3        4       5            6     

 

 

 

 2-yne 4-methyl 

 6 no. of carbon atom so hexane 

 So the name according to alphabetical 
series is 4-methyl, 2-yne hexane 

 

23. Iron pyrites 

 vk;ju ik;jkbV 
 

24. According to Newland's law of octaves 3rd 
element will resemble in its properties to 
10th element. 

 
1
8  

Sa
Sa  

2

9
re  

3

10

ga  
4

11
ma  

5

12

pa  
6

13
da  

7

14
ni  

25. H2 
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PART-II: PHYSICS 
 

26. Equivalent circuit  

 

 

A 

B 

2 2 2 

2 2 2 

8 8 4 

2 + 4 + 2 = 8 

 
   

 

 

A 

B 

2 2 

2 2 

8 8 8 

8 × 8 

8 + 8 

8 × 8 

  16 
= 4 

So 2 + 4 + 2 = 8 

= 

 
 again draw circuit 

 

 

A 

B 

2 

2 

8 8 

8 × 8 

8 + 8 

8 × 8 

  16 
= 4 = 

 
   

 

 

A 

B 

2 

2 

4 
Req = 2 + 4 + 2 = 8 

 

27. 

 

I = 2A  = Z
2
m 

r = 1 cm 

 

 magnetic field due to strcuit wire 

 B1 = 
r2

I0




 = 

2–

7–

1012

2104




= 4 × 10–5 Tesla 

 A.T.Q. wire is bent into circle 

 l = 2r 2 = 2r r = 
2


  

 So B2  B centre due to circular coil  

 B2 = 
r2

I0  = 

2
2

2104 7–





 = 8 × 10–7 Tesla. 

 
1

2

B

B
= 

5–

7–

104

108




  2 × 10–2

 = 
100

2
 = 

50

1
  

 

28. Given: g = 3/2 

 w = 
3

4
 

 wing principle of T.I.R. 

 sinic = 
g

1


 

 /

1

g

 = 
g

  

 ic = 








2/3

3/4
s in 1–

 ic = 








9

8
s in 1–

 

 critical angle = sin–1(8/9) 
  

29. formula R = 
A


 

   same 

 So R  
A


  (A = r2) 

 
2
1

2
2

2

1

2

1

r

r

R

R





 

 
23–

23–

2 )101(

)102(5

1

1


























6–

6–

2 101

1045

1

1


 

 2 = 5 × 4 2 = 20m 
 

30. Hint : Using right hand thumb rule. 
 

31. Using lens formula  
  

 

u=20cm 

F (O) 

(I) 

O 

f 

V=? 
 

 u = – 20 cm 
 f = +10 cm 
 v = ? 
 using lens formula  

 
u

1
–

v

1

f

1
  










20–

1
–

v

1

10

1
  

  
20

1

v

1

10

1
 

v

1

20

1
–

10

1
  

 v = 20 cm  
32. equivalent circuit  

 

 

B 
1 

1 

1 

1 

1 

A C D 


3

1

1

1

1

1

1

1
Req

 

 1
3

1
1Req  = 

3

313 
 = 

3

7
 = 

3

1
2  

 

33. Fm =  BVq


  

 So conductor cuts the flux only when if is 
moves in the direction of m.  

 

34. Using principle T.I.R. 

  



1

isin c   sin30° = 


1
 

 



1

2

1
  = 2 

 we know that  

  = 
v

c
 2 = 

v

103 8
 

 on solving  
 v = 1.5 × 108 m/sec 
 
35. m1 : m2 : m3 = 1 : 3 : 5 
 l1 : l2 : l3 = 5 : 3 : 1 
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 R = 
A


 

 R = 








A
 

 R = 
v

2
 

 d = 
v

m
  v = 

d

m
 

 R =  × d × 
m

2
 

 R  
m

2
  

 R1 : R2 : R3 = 
1

2
1

m


 : 

2

2
2

m


: 

3

2
3

m


 

 = 
1

52

: 
3

32

 : 
5

12

 

 On solving 125 : 15 : 1 
 

36. Hint : Using lenz's law 

 

 
S 

I 
N 

motion 

 

 

 
S 

I 

N 

motion 

 

37. 

 

R1 = R 

R2 =– R 
 

 Using len's malar formula.  

 
f

1
= ( – 1) 











21 R

1
–

R

1
 

 
f

1
= ( – 1) 

















R–

1
–

R

1
 

 
f

1
= ( – 1) 










R

1

R

1
 

 
f

1
= ( – 1) 









R

2
 

 P = ( – 1) 
R

2
 

 4D = ( – 1) × 
R

2
 

 






 

R

1–
 = 2 … (1) 

 Now lens cut into two equal parts  

 

 

+ 

R
R 1

 0
R2



 
 Now again using len's malar's formuls. 

 
1f

1
= ( –1) 











21 R

1
–

R

1
 

 
1f

1
= ( –1) 











1
–

R

1
 

 P1 = 
R

)1–(
 … (2) 

 from eqn (1) & (2) 
 P' = 2D 
 

38. 

 R1 

A 

R2 

B  

 
21es R

1

R

1

R

1
  

 
2

2

1

2

es

2

P

V

1

P

V

1

P

V

1

  

 on solving  
 Pes = P1 + P2  
 

39. 

 
(1) 

O r (2) 

(3) 

 

 B1 = 0 (on axis) 

 B2 = 







2r2

I0


 
















2r2

I
Bformulagsinu 0



 B2 = 
r4

I0


 B3 = 
r4

I0




[sin90 + sin0] = 

r4

I0






  
0netB  = B1 + B2 + B3 

 = 0 + 
r4

I0 + 
r4

I0






40. Refractive index is same of liquid (3) of 

gloss piece ( = 1.61)  

 So (3) will not be visible.  
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41. 

4

A

B

B

A

r

r

R

R










   

16

1

2

1

R

R
4

B

A 







  

  AB R16R   

 When RA and RB are connected in parallel 

then equivalent resistance  

 A
BA

BA
eq R

17

16

)RR(

RR
R 


  

 If  25.4RA  then  4Req  i.e. option 

(1) is correct. 
 

42. At P 

 

 

P 

r r 

i i 

1 2 
 

 21 BBBnet   

 Since 21 BB   

 So, Bnet = 0  

 

43. 
n

u
v

u

v

n

1
m   

 By using mirror formula 
u

1

n

u

1

f

1




  

f)1n(u    

 

44. .amp101.1108.6106.1ei 31519    

 

45. iB
r

i

4
B 0 






     (but 

1

2

1

2

2

1

l

l

i

i




 ) 

 

 

1A 

i2 

300
o
 

1 

2 

60
o
 

i1 

O 

 

 
2

1

2

1

2

1

i

i
.

B

B




  

 So, 
1

2

2

1

2

1

B

B









 21 BB   

46. When object is kept at centre of curvature. 

It’s real image is also formed at centre of 

curvature. 

 

 

47. 

 

N 

E W 

S 

B 
 

  

 
48. Current through each arm DAC and DBC 

= 1A  

     2VV AD   and 3VV BD   

  V1VV BA   

 
49. Normal  

 
 

 

t 

I ' I 

x 

 

 shift t
1

1x 









  

 and shift takes place in direction of ray.  

50. Current in the bulb A3
5.1

5.4

V

P
  

 Current in 1  resistance A5.1
1

5.1
  

 Hence total current from the cell 

A5.45.13i   

  By using irVE   

   V5.13)67.2(5.45.1E   

 

PART-III: BOTANY 

 
50. to 75. Refer to Answer Key  

 

PART-IV: ZOOLOGY 
 

76. to 100. Refer to Answer Key 
 
------------- TEXT SOLUTION (TS) END ----------- 
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TEXT  SOLUTIONS (TS) 
SAMPLE TEST PAPER(STP)-3

FOR CLASS-XII APPEARED / PASSED 
 

PART-I: CHEMISTRY 
 

1. It is fact. ;g rF;kRed gSA 
 

2.  N1V1 + N2V2 = NV  
 

3. n = (2 + 1) – (4 + 1) = –2  

 KP = (atm)n  
 

4. h = hK

C
 =  W

a

K

K .C
= 

14

a

10

K (0.01)




 

 0.01 =
14

a

10

K (0.01)




 10–14 = 

14

2
a

10

K 10




  

  

Ka = 10–8. 
 

5. In isothermal reversible process ideal gas 

has constant temperature and so U = 0 

and H = U = 0 . 
 In enthalpy T, P   constant  

 T  constant  E = 0  

  lerkih; mRØe.kh; çØe esa vkn'kZ xSl dk 

fu;r rki gksrk gS vr% U = 0  rFkk H = 

U = 0.  
 

6. SO2  
 

7. Noble gases have fully filled valence shell 
electronic configuration. Therefore it 
represents ns2np6. 

 ukscy xSlksa dk bysDVªkWfud foU;kl iw.kZ gksrk gSA 

vr%  ns2np6 ;g }kj çnf'kZr gksxkA 
 

8 It has 5 electrons  in valence shall and 
further it can not exceed covalency 
beyound five due to absence of d-orbitals 
in nitrogen. 

 ;g la;kstdrk dks'k esa 5 bysDVªkWu j[krk gS rFkk 

ukbVªkstu esa d-d{kdksa dh vuqifLFkfr ds dkj.k 

lgla;kstdrk eas òf) ¼izlkj½ ugha dj ldrk gSA  

9. graphite 

 xzsQkbV  

10. Xsolute  = 
OHsolute

solute

2
nn

n


  

 

11. Gold has higher reduction potential then 

iron   

 xksYM dk vk;ju dh vis{kk vip;u foHko mPp 

gksrk gSA  

 

12.  Very slow reaction  

   cgqr /kheh vfHkfØ;k@izfrfØ;k 

13. The complex is an outer orbital complex. 

 ladqy ,d cká d{kd ladqy gSA  
 

14. Has one lone pair of electrons on central 
atom which they can donate to lewis acid 
and the order of basicity is : 

 dsUnzh; ijek.kq ij ,dkdh bysDVªkWu ;qXe gk srk 

gS] tks fd os yqbZl vEy dks ns ldrs gSA vr% 

{kkjdrk dk Øe gS&  

 NH3 > PH3 > AsH3 > SbH3 
 

15. Cu, Ag, Au group of elements are called 
coinage metals as these are used in 
minting coins.  

 Cu, Ag, Au rRoksa dk lewg flDds cukus esa 

iz;qDr gksrk gSA blfy, bl lewg ds rRoksa dks 

flDdk /kkrq dgrs gSaA 
 

16. Cleavage of a –bond and formation of a 

new  –bond   

 –ca/k dk fo[k.Mu rFkk u;s –ca/k dk fuekZ.k 
 

17. Nucleophilic substitution  

 ukfHkdLusgh izfrLFkkiu dk   
 

18. 1.5 times 

1.5 xquk 

 

19. 
Alc. KOH   

CH3–CH=CH2 
 

20. Aniline 

,fuyhu  
 

21.    3dil. HNO
   

        [X]   

 + 
Steam distillation     

      [Y]  
[Intramolecular H–Bonding low B.P.] 
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   3. HNO


ruq
  

 
        [X] 

 + Hkkih; vklou
       

     [Y]  

[vUr%&vkf.od H–caèk ds dkj.k fuEu 

 DoFkukad] 
 

22. – CONH – 
 

23. Aldehydes and ketones having atleast 

one -H, give aldol condensation. 

 ,fYMgkbM rFkk dhVksu dh tks -gkbMªkstu 

ijek.kq j[krs gSa] ,YMkWy la?kuu fn[kkrs gaSA 
 

24. Lab test. 
 

25. D-glucose 

D-Xywdksl 
 

PART-II: PHYSICS 
 

26. As
g2

sinu
H

22 
  


60sin

30sin

sin

sin

H

H
2

2

2

1
2

2

1 





 =

3

1

4/3

4/1
  

 pw¡fd
g2

sinu
H

22 
  











60sin

30sin

sin

sin

H

H
2

2

2

1
2

2

1 =
3

1

4/3

4/1
  

 

27. 
g

2sinv
R

2 
   








 

2

1

v

gR
sin

2

1
 

 

28.  

 

 

 
m

ro

v

v
30sin 

2

v
v

2

1 m
r  =

2

5.0
s/m25.0  

 

29. N5000
1.0

5100

dt

dv
mF 











   

 

30.  Rolling friction is less than sliding friction 

yksVfud ?k"kZ.k liÊ ?k"kZ.k ls de gksrk gS 
 

31.  
m2

P
E

2

   
m

1
E    

1

2

2

1

m

m

E

E
  

32. Both fragment will possess the equal 
linear momentum  

 nksuksa VqdM+ksa esa leku jSf[kd xfr gksxh 

2211 vmvm    2v2801    s/.m40v2    

  Total energy of system  

flLVe dh dqy ÅtkZ 2
22

2
11 vm

2

1
vm

2

1
  

= 22 )40(2
2

1
)80(1

2

1
   

= 4800 J = 4.8 kJ 
 

33.  Tv rms  
2

1

480

120

T

T

v

v

2

1

2

1 

12 v2v   

34.  I
5

6  

35.  
12

ML
I

2

cm   (Around the midpoint e/; fcanq ds 

ifjr%)    

 

 

 

  2
cm MxII 

9

ML

6

L
M

12

ML 222









  

 

36.  Comparing given equation with standard 
equation of progressive wave. The 
velocity of wave 

 s/cm400
5.0

200

)x of efficient-Co(k

)t of efficient-Co(
v 







  

 fn;s x;s lehdj.k dh çxkeh rjax ds ekud 
lehdj.k ls rqyuk djus ij] rjax dk osx 

s/cm400
5.0

200

)x(k

)t(
v 









dk xq. kkad

dk xq. kkad
 

 

37.  Comparing the given equation with 

)kxtcos(ay   

 We get 





2
k    = 2cm 

 fn;s x;s lehdj.k dh )kxtcos(ay   ls  

rqyuk djus ij 





2
k    = 2cm 

 

38. oo
ismPr 24)15.1(A)1(   

  MirrorismPrTotal   

 oo 178)22180(2)i2180(A)1(   

 oo 24)15.1(A)1(  fçTe  

  niZ.kfçTedqy   

 oo 178)22180(2)i2180(A)1(   
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39. In case of minimum deviation of a prism 

ei   so 21 rr   

 (1) fçTe ls U;wure fopyu dh fLFkfr esa] ei   

blfy, 21 rr   

 

 

 
 

40. 
m

qE
a    

e

p

p

e

m

m

a

a
  

41. 2
101

102

E

E
K

5

5

dielectric with

 dielectric without 



  

 2
101

102

E

E
K

5

5
 






 lfgrijkoS?kqr

fuokZr  

 

42. 2

9

2
0 r

q
109

r

q

4

1
E 


  

 3

9

26

9

2

100833.2
109

)5.2(103

109

rE
q 









  

q should be less than 2.0833  10–3. In 

the given set of options 2  10–3 is the 

maximum charge which is smaller than 

2.0833  10–3.  

 
2

9

2
0 r

q
109

r

q

4

1
E 


  

 3

9

26

9

2

100833.2
109

)5.2(103

109

rE
q 









  

q dk eku 2.0833  10–3 ls de gksuk 

pkfg;sA lHkh fn;s x;s fodYiksa esa 2  10–3 

og vf/kdre vkos'’k gS tks fd 2.0833  10–

3 ls de gSA 

 

43.  Let the energy in A, B and C state be EA. 

EB and EC, then from the figure   

 ekuk ÅtkZ Lrj A, B ,oa C ds laxr ÅtkZ;sa 

Øe'’k% EA EB ,oa EC gaS] rc fn;s x;s fp=k ls]  

 

 

  

 
36

RC5

)3(

1

)2(

1
Rc

c
22

max
Balmer 











 or ;k 

321

hchchc







 21

21
3




  

44.  













 22
max )2(

1

)1(

1
R

1  Å1213
R3

4
max   

 and ,oa 

















1

)1(

1
R

1
2

min

  

 Å910
R

1
min   

45.  According to de-Broglie hypothesis. Mh-

czksXyh dh ifjdYiuk ds vuqlkj 

46. For ‘OR’ gate BAX    

 i.e. 000  , 110  , 101  , 

 ‘OR’ xsV ds fy;s BAX    

 vFkkZr~ 000  , 110  , 101  , 111   

 
47. The output D for the given combination 

 C)BA(C).BA(D   

 If 0CBA  then 

111000)00(D   

 If 1BA  , 0C  then 

110010)11(D   

 fn;s x;s la;kstu ds fy, fuxZr D fuEu gS 

 C)BA(C).BA(D   

 ;fn 0CBA  rc

111000)00(D   

 ;fn 1BA  , 0C  rc 

110010)11(D   

 
48. Length of the wire 

rkj dh yEckbZ ij 

 

49. 
19628d

106.110104.8

4.5

nAe

i
V

 
  

 = sec/mm4.0sec/m104.0 3   . 

 

50.  

 

 

 

PART-III: BOTANY 
 

50. to 75. Refer to Answer Key 
 

PART-IV: ZOOLOGY 
 
76. to 100. Refer to Answer Key 
 
------------- TEXT SOLUTION (TS) END ------------- 
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